SANT ﬁ!’!n "ES
www.hnsant.com

Ek7IA

SANT CNC TOOLS.

2T EIUN

The contact information of dealer

LS EMMATESFMES INS O

41610C-810C

SANT

HaEUHE A
CNC CUTTING TOOLS

XIEREEH/B%B/AAMINE/TARS

SANT PRECISION TOOL FOR TURNING / MILLING / DRILLING/TOOLING SYSTEMS

2018-2019 = GBI R
CATALOGUE 2018-2019

2018-2019hK

<> FEMZENHIDBEBIRAHE

SANT ZHUZHOU SANT CUTTING TOOLS CO.,LTD.



PRNEIATIHEITD R

ZHUZHOU SANT CUTTING

PRNZEIETIEITI B

ZHUZHOU SANT CUTTING

SANT / 2 R]iE T
INTRODUCTION

tRNEIATEI D EERATR—REWIRT . HEREESENERERGE™RNI . A5
THESANERGESEFEL-—thil. XAEBERIEETME: #x%F7]. #uzw/]. fLINT7IR.
izl /. TRRGREREREGEH M.

NEREERARIKITERA, B TISO001REEERAFINE; RAERPESIHITEHIUERAIE
2; HEEEMAZAKRMEMEHBENLHLO . ANCARHEAISHEEERPOERNZaEEEINT
IRFLAR SRS ; BitSEIENIHONG-TECHNORY R A BIFERNSRINEHAEEL T
fEXRR, LURER "SANT” ZRIF-miORERZabT1Tile ﬁ?ﬁ?kslz

NEBSFRNRITRBIEESE BN BERE S miEi, NEFPRMSIEHRIA,
73"9‘?%‘fﬁ%EFcﬁuﬂDIﬁﬁ%E@DEEﬂEEﬁﬁﬁi&@Eéﬁﬁﬁu AE%J? ‘REE—, HE;»:.%EJ:” E{J

28, SEHFRITFSEFEY TIRERIFNEIE.

Zhuzhou Sant Cutting Tools Co., Ltd is a modern joint-stock company specializing in the
designing, producing and selling of CNC cutting tools and cemented carbide tools. Located in
Zhuzhou,one of the biggest manufacturing bases of cemented carbide cutting tools in China,our
company mainly produces various cnc turning tools, milling tools, drilling tools, cnc inserts, tooling
systems and various cemented carbide tools.

We have strong design team and complete quality-testing system and have passed the ISO9001
Certification of Quality Management System. Besides, ERP system is adopted to improve the efficient
and accurate management. More importantly, we have various kinds of processing equipment,
including MAZAK five-axis linkage high precision machining center, ANCA five-axis linkage high
precision grinding center.In order to make sure the quality of "SANT" series products always stands at
the front of the industry, we have established collaboration relationships with many outstanding
suppliers including NIHONG TECHNO - the heat treatment company.

With the experience of designing and manufacturing cnc cutting tools for many years, we can
provide customers with various non-standard tool holders,and can also provide a complete set of
supporting scheme for required tools during the processing as well as varies carbide tools. In
accordance with the principle"Quality First, Service Supreme", we have established long-term friendly
cooperation relationships with many customers all over the world.

i



BHx(—) H=x(Z)

CONTENTS CONTENTS

ZEHITR o

FEERTRES PO1~P06 o[ BEEITIB—nR P96~P100
Proudut Preview INDEXABLE MILLING TOOLS OVER CIEW
AMNR i E F T] B S B = S
ISO-INDEXABLE EXTERNAL TiJﬁE.NING TOOL ;c:‘_ngz KEY P07~PO08 ]NDgfjlﬁﬁﬁ?gc%f?ﬁ?ﬁa P101~P102
ME! SMEIZETD P09~P20
M TYPE EXTERNAL TURNING TOOL HOLDERS E_l—$§1ﬁ$%ﬁujj Hﬁ%i)@)ﬂﬂ P103 ~ P]_04
pgg 9|‘$II P21~P28 INDEXABLE MILLING TOOLS CODE KEY
P TYPE EXTERNAL TURNING TOOL HOLDERS
SHY 7] -
S TYPE EXTERNAL TURNING TO?JI!\ELEEERS P29~P40 o tETEEEI T B E S
C TYPE EXTERNAL TURNIBEE%C?I!\%LEE% P41~Pa4 B
7 REYT
DA HMNEIZET] P45 ~P52 FACE MILLING TOOLS P105~P148
D TYPE EXTERNAL TURNING TOOL HOLDERS S EAMT]Z5|
WE SNEZET] PS3~p5a S QUARE-SHOULDER MILLING TOOLS P149~P167
W TYPE EXTERNAL TURNING TOOL HOLDERS -
Rt e Pl6B~P174
RIFLE I RS 1588 -
INTER TURNING TOOL HOLDER CODE KEY P55 e ANDEEEﬁ?ffi P175~P181
ME R¥.%ET]
M TYPE INTERNAL TURNING TOOL HOLDERS P56~P63 cmMFﬁﬁﬁ?éjﬂ P182~P184
PR WFLET] ~ .
P TYPE INTERNAL TURNING Togfl HOiEERS oA=Fo0 %H?ﬁEFgEﬁ%ﬁG)Cffi P185~P191
SE! RALET] X
S TYPE INTERNAL TURNING TOOL HOLDERS P67~P76 — ENDEEE%&?}%&! P192~P193
SEY {SRHTE I 5 i
S TYPE INTERNAL TURNING TOOL HOLDERS P778819 Jjﬁ)ﬂﬁﬁﬁ’éﬁﬁ P194~P198
Leavgey B ECE=ginh) 2
THREADING TOOL HOLDERS CEDE KEY P80 A HERLRFLER R P199~P215
INDEXABLE U DRILL
MR ZET]
EXTERNAL THREADING TOOLS P81
RERSZET]
INTERNAL THREADING TOOLS P82
MR IR S50 P83
PARTING AND GROOVING HOLDERS CODE KEY
TIEOET)  pga~p9s

PARTING GROOVING TURNING TOOLS



BHx(=)

CONTENTS

ZHIJIH | TURNING TOOLS

PRI Product

BV SSEER Top and hole clamping

SEEEIESL TIAR P216~P221

Collet chuck arbors

=+ .
%*@%,ﬁ. ERFROENEZER. Top and hole clamping dualclamp.

=

P222

Extension bar Designfeetures . ZEND BIERT o~ EJHIA. Great fastenering fastening force.
gﬁb%ﬁ%%ﬂﬁ P223~P224 NDRZB%NA , FMA. Indexable inserts, economy and durability.
Power milling chuck arbors
MIE= 74K pP225~P227 MCBNRIL MCLNR/L MCKNR/L MDJNR/L
Side lock end mill chuck
oI P228~P232 .
Shell end mill arbors
BRERHIR P233~P234
Morse taper with tang MDQNRIL MSBNR/L MSRNR/L MSKNR/L
TR P235~P236 ‘ ‘
Morse taper without tang :
=HE7IE5TIR P237~P238
Tool shank for side milling cutter
MSSHNR/L MTGNR/L MTJNR/L IMTJNREL{B}
TERAME  P239~P245 u d ‘ —
Tool system accessories
TERERAER P246~P252
Tool system technical information
MTQNR/L MTENN 1 MVJNR/L MVVNN * MVQNR/L
MRBDNN q MRGNR ﬂ MWLNR/L q

] pﬁ *IFFEE:':\‘, Hole clamping

PCBNR/L PCLNR/L PDJNR/L PDNNR/L PRDCN
. ot -

THRAGEGEREHE F #15EEHMEwww. hnsant.com
For more details please visitwww.hnsant.com

\




ZHIJ7IH | TURNING TOOLS

FEETISS Product Overvie

PRGCR/L

\
\

PSBNR/L

#H = 71 B

PSKNR/L 1

PTFNR/L

A
\

PTTNR/L

PTGNR/L

et

H S% R%TE%E% Screw on

PWLNR/L

PSSNR/L

AL

Design features

REBITEEEER. Using screw for direct clamping.
%*@ﬁ%ﬁﬂﬁ”}\ Simple structure,fewer parts.

B~ PINIA. Apply For Micro And Medium Processes.

SCACR/L

\
\
\
\

SCLCR/L

SDACR/L

SDJCR/L

SDNCN

SVJCR/L

SVJBR/

\

SVACR/L

SVVBN

\

SVVCN

(VA

STACR/L

\
\

SSBCR/L

\

SSDCN

\
\

SSKCR/L q

SSSCR/L

STTCR/L q

SWACR/L

\

SRACR/L

\

SRDCN

\

THRAGREFBERIEHB X #HEZEKMNwww.hnsant.com

For more details please visit:www.hnsant.com

#H &= 71 B

[ | C% Eﬁﬁgﬂ Top clamping

ZHIJIH | TURNING TOOLS

oduct Overview =Tl

CCLNR/L

CTINR/L \

CTUNR/L

—

CSKNR/L \

CSDNN

HWwW ﬂﬂ_‘.gﬂ Wedge clamping

CDJNR/L \

CSRNR/L

WTQNR/L *

W DE EERN

WTENN \

WTJNR/L

\|

WWLNR/L \

Wedge clamping

D

DCBNR

\

DCKNR

>

DCMNN q

DDQNR

i
L}

DSBNR

DTGNR

A\

THRAGEFBREBE R #EHEEEMRMN‘Ewww.hnsant.com

For more details please visit:www.hnsant.com




FEERTILS Product Overview

HIJ1IB | TURNING TOOLS

lj*] }Liﬂ Internal toolholders

B o= 71 A

[ | M% EQE%;‘& Top and hole clamping

MCKNR /L | MCLNR/L MDQNR/L MDUNR/L MDZNR/L
MSKNR/ L MVQNR/L MVUNR/L MVWNR/L MVXNR/L
’ 4

MWLNR /L MTFNR/L MTQNR/L MTJINR/L MTUNR/L
MTWNR /L 1

[ | P% #IFH:EQ%;‘:Q Hole clamping

PCLNR/L PDSNR/L PDUNR/L PSKNR/L PTFNR/L

\

PWLNR/L

\

THRAKCEFBRERBE X #EEZMNwww.hnsant.com

#H = 71 B

[ | S# ﬂ%%TEgit Screw on

ZHlIJ712 | TURNING TOOLS
ey SMNEIZETIHIRS AN

SCLCR/L

SCLCR/L-H \

SCKCR/L \

SCLPR/L \

SDQCR/L

\

SDUCR/L

\

SDZCR/L

SDXCR/L 1

SDWCR/L ‘

SSKCR/L

AVA

SSSCR/L STWCR/L STFCR/L STFPR/L STUPR/L
- -
STUCR/L SVQCR/L SVQBR/L SVUCR/L SVWCR/L
-
SVXCR/L SVZCR/L
. Sgé gﬁfﬂﬁl?l,ﬂﬁ Tungsten steel Internal Turning tools
SCLCR SDQC SDUC STFC STUP

|

:

TRACEFBREHE X #¥EBEEMMNBwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI F#I718 | TURNING TOOLS

SNEIFETIRIBLEFRHIN 1SO-indexable Inse ools Code Key 4MNEIZEJIRIBLE TN

P S C D R R
BRZL 221 7] B Threading tools E} Eﬁfi}
HAPIER BEETHER Q — E
Hole clamping Screw on
SWR/L(H) SNR/L(H)
f % S T V L
AR R .u ‘Q ‘g E -_.
Top and hole clamplng Top clamping
D W N
Y)W )48 7] H. Parting, grooving tools @ ‘ T
) 80°
Dou;gl% }g—ilfm?ing . —
[ | 9" N iﬁﬁtﬂ ﬁﬂ”‘gﬂﬁ External Parting, Surface Grooving Tools 1. £% A clamping system 2. 715 4R Insert shape I 5.31H 75 W
Cutting direction
Juf5 Example | | 1
ZQ KGBR/L QEJCR/L QLIDR/L(HEY) I
RE! L& M c L N R
QFCIR/L(LE! ) QFCIRR(HEY) QFCILL(LE!) MGEHR/L MGIVR/L ‘ 47K G
37]§ﬁ§'t5$ﬁﬁ Holder style and leading angle Insert clearance angle
C o0 D E F N
a0 h 00 -
COO-QLIDRIL QELIS PHS D g
7 95
10730 e 95 %0 c
70
11730 107°30
o B NE L
D
A" W X 15°
X 7230' 60’ -
E

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




S | INUS

ZHIJIH | TURNING TOOLS

SMN&RZET] External turning toolholde

h

b 245 #):h=8mm, #5408
Integers to be proceeded by 0

eg:h=8 indicated by 08

Sebsl | B
12 12
16 16
20 20
25 25
32 32
40 40
50 50

6.71 RS E Tools-tip height

Svobsl | B
12 12
16 16
20 20
25 25
32 2
40 40
50 50

7. 714 E shank width

B o= 7 A

=

f5l:b=8mm, }x 408
Integers to be proceeded by 0
eg:b=8 indicated by 08

8.7MNAKE
Tool length
RS | K /e | K
Code |Length Code |Length
E 70 ) §
F 80 7)) E
G| % - | 8
H | 100 c| &
K | 125 <| &
N
M | 150 = g
P 170

9*]]%"]7]'& Cutting edge length

VADARIZN
Insert Shape

R

O

|
25 25 M 12
|

-

In@c}r%ied Cuu?gﬁ”ﬂ]‘[’ﬁfg
Circle g Edge Length
5.556 09
6.350 06 07 11
9.525 09 11 09 09 16 16
12.700 12 15 12 12 22 22
15.875 16 19 15 15 27
19.050 19 19 19 33
25.400 25 25 25 44

THRAKCEFBRERBE X #EEZMNwww.hnsant.com

#H = 71 B

MCLNR/L

95°

ZHlIJ718 | TURNING TOOLS

Dimension(mm) A R~

Applicable Inserts
EUSElRpANSY

Clamping screw
BEKERET

Shim
JI3

Wrench

WF

Clamp
JEsAi

ernal turning toolholders 4NRIZET]

(lamping stud
HET

MCLNR/L 1616H12 16| 16 [100| 16 | 21 | 30
WS061025
2020K12 20| 20 [125|20 | 25 | 28
2525M12 25| 25 (15025 | 32 | 82| CN oo 120400 MC1204 53 MCL1814 | MSP617
3225P12 32| 25|170| 32 | 32| 32 WS061030
3232P12 32| 32|170| 32| 39| 32
2525M16 25| 25150 | 25 | 32| 38
3225P16 32| 25(170| 32 | 33| 38| CNoo 160600 WS061030 | MC1604 S3 MCL2114 | MSP821
3232P16 32| 32(170| 32 | 40| 38
3232P19
821321170132 1 40143 1\ 190600 WS081030 | MC1904 S4 MCL2217 | MSP1021
4040R19 40| 40 200 40 | 50 | 43

75°

Dimension(mm) FEA R~

Applicable Inserts
I

Clamping screw

XK IEET

Shim
JIH

Wrench
T

Clamp
JENd

(lamping stud
HiET

MCBNR/L 2020K12 20| 20 |125| 20| 17 | 32 WS061025
2525M12 25| 25(150| 25| 22 | 32| CNoo 120400 MC1204 s3 MCL1814 | MSP617
WS061030
3225P12 32| 25|170| 32 | 22 | 32
2525M16 25| 25 [150| 25 | 22 | 36
3995P16 30| 25 170| 32| 22| 35| CNoo 160600 WS061030 | MC1604 S3 MCL2114 | MSP821
3232P16 32| 32(170| 32| 27 | 35
3232P19 32|32 (170| 32| 27 | 40
CNoo 190600 WS081030 | MC1904 54 MCL2217 | MSP1021
4040R19 40| 40200 40 | 35 | 40

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




Z #7182 | TURNING TOOLS §BHI §BMI ZHI7JH | TURNING TOOLS

SMN&EZET] External turning toolholders External turning toolholders 4NRIZET]

MCKNR/L MDPNN
75° J 62°30'

EN
L
NEg

(lamping screw Clamp Clampjng stud
e JEAR HHED (lmpingscrew ~~~ Shim Wrench Clamping stud
-1 BEWZET I #HwF |
MCKNR/L 2020K12 20 | 20 [125 | 20 | 25 | 28 WS061025 st
2505M12 | 25 | 25 | 150 | 25 | 32 | 28 | CNoo 120400 MC1204 s3 MCL1814 | MSP617 MDPNN 1616H11 16 | 16 |100| 16 | 8 | 35 WS061025
3225P12 | 32 | 25 | 170 | 32 | 32 | 28 Ws061030 2020K11 20 | 20 | 125 20 | 10 | 34 D 1103 2 wcL1sia | mspst3
2525M11 25 | 25 | 150 | 25 |12.5| 36 | DNoo 11040 s3
2525M16 25 | 25 (150 | 25 | 32 | 30 WS061030
3905P16 | 32 | 25 | 170 | 32 | 32 | 30 | CNoo 160600 WS061030 |  MC1604 s3 MCL2114 | MSP821 Sl 2 || 2 | 10| =2 128 89
2020K1504/06 20 | 20 |125| 20 | 10 | 42
3232P16 | 32 | 32 |170 | 32 | 38 | 30 WS061025
3032P19 2525M1504/06 | 25 | 25 | 150 | 25 |12.5| 42 | DNos 1504cc o | ucprr | 2OV
> | 32 170 | 32 | 4
1040R TS io %2 |70 1 92 | 40 L %0 | (N 190600 | WS0B1030 | MC1904 S4 | MCL2217 | MSP1021 3225P1504/06 | 35 | 25 |170 | 82 |125| 42 | DNoo150600 | wsostozo | 0 O* 06:MSP619
40 | 200 | 40 | 48
£8 3232P1504/06 32 32 | 170 | 32 16 42
MDJNR/L MDQNR/L
o3 — 107°30°

. . - Clamping Screw Wrench Clamp  Clamping stud Clamping screw Shim Wrench Clamp  Clamping stud
DimensonimmbEn s WRIET WE R BT ; fF Spddger o wF R B
MDJNR/L 1616H11 16 | 16 | 100 | 16 | 20 | 30 MDQNR/L 1616H11 16 | 16 | 100 | 16 | 21 | 30 WS061025
WS061025
2020K11 20 | 20 [125| 20 | 25 | 32 | DNoo 110400 s2 st 2020K11 20 | 20 | 125 | 20 | 25 | 32 N 1104 D 1103 2 wcLisia | mspsts
MD1103 M 4 | MSP513 oo ao
2525M11 25 | 25 | 150 | 25 | 32 | 32 WS061030 s3 2525M11 25 | 25 | 150 | 25 | 30 | 30 WS061030 s3
3225P11 32 | 25 |170 | 32 | 32 | 32 3225P11 32 | 25 [170 | 32 | 30 | 30
2020K1504/06 | 20 | 20 | 125 | 20 | 25 | 36 WS061025 2(5)2(5);1155?)‘://(())(; 20 | 20 | 125 | 20 | 27 | 36 W5061025
2525M1504/06 25 25 | 150 | 25 32 38 DNoo 150400 ) 25 25 | 150 | 25 32 35 DNoo 150400 o Lot 1a 04:MSP617
04:MSP617 3225P1504/06 | 55 | o5 | 170 | 32 | 32 | 35 DNeo 150600 MD1504 ¢ .
3225P1504/06 3 | 25 | 170 | 32 | 32 | 38 DNoo 150600 WS061030 06:MSP619
WS061030 MD1504 S3 MCL2114 06:MSP619 3232P1504/06 o 32 | 170 | 32 20 -
3232P1504/06 | 32 | 32 | 170 | 32 | 40 | 38
4040R15 40 | 40 | 200 | 40 | 48 | 40 DNoo 150600

THRAKCEFBRERBE X #EEZMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

SMN&EZET] External turning toolholders

MSBNR/L

75°

Dimension(mm) HEZ4 K~

B o= 7 A

Q

o

Applicable Inserts

AR

Clamping screw Shim Wrench Clamp  Clamping stud
KUKIBET YA T JEAR HHAT

MSBNR/L 2020K12 20| 20 [125| 20| 17 | 34 WS061025
2525M12 25| 25 [150| 25| 22 | 32 | SNoo 120400 MS1204 s3 MCL1814 | MSP617
3225P12 32 | 25 |170| 32 | 22| 32 W5061030
2525M15 25| 25 [150| 25 | 22 | 38
SNoo 150600 WS061030 | MS1504 s3 MCL2114 | MSP821
3232P15 32| 32(170| 32| 29 | 38
3232P19 32| 32(170| 32| 27 | 45
SNoo 190600 WS081030 | MS1904 S4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 35 | 45
4040825 40 | 40 |250| 40 | 34 | 60 | SNoo 250900 WS101035 | MS2508 4, 5 MCL3220 | MSP1229

75°

Dimension(mm) &4 K<)

Applicable Inserts

LaEElipA)e

(lamping screw Shim Wrench Clamp  Clamping stud
WL WBET s, wT FEAR HHAT

MSRNR/L 2020K12 20| 20 [125] 20 | 22 | 32 WS061025
2525M12 25| 25150| 25 | 27 | 32| SNoo 120400 MS1204 S3 | MCL1814 | MSP617
3205P12 32| 25 |170| 32 | 27 | 32 W5061030
2525M15 25| 25 |150| 25 | 27 | a8
SNoo 150600 | WS061030 | MS1504 $3 | MCL2114 | MsP821
3232P15 32| 32170 32 | 35 | 38
3232P19 32| 32 |170| 32 | 35 | 43
SNoo 190600 | WS081030 | MS1904 s4 | MCL2217 | MsP1021
4040R19 40| 40 |200| 40| 43 | 43
4040525 40| 40 |250] 40 | 43 | 55|  SNoo 250900 |WS101035 | MS2508 S5 | MCL3220 | MSP1229

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

B o= 71 A

MSKNR/L

75°

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

757

Applicable Inserts

SRR

Clamping screw
XK URET

Shim
T

Wrench
T

Clamp
JEsti

Clamping stud

HIET

MSKNR/L  2020K12 20 | 20 [125| 20 | 25 | 28 WS061025
2525M12 25| 25 [150| 25 | 32| 27 | SNaoo 120400 MS1204 S3 MCL1814 | MSP617
WS061030
3225P12 32| 25 [170| 32 | 32 | 27
2525M15 25| 25 [150| 25 | 32 | 32
SNao 150600 WS061030 |  MS1504 s3 MCL2114 | MSP821
3232P15 32| 32 |170| 32| 38 | 32
3232P19 32|32 [170| 32| 38 | 36
SNao 190600 WS081030 | MS1904 4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 50 | 40
4040525 40| 40 |250| 40 | 50 | 45 | SNoo 250900 WS101035 | MS2508 $4, S5 | MCL3220 | MSP1229

45°

Dimension(mm) A R

Applicable Inserts (lamping screw

FEHRTT

BEKBRET

Shim
YA

Wrench

T

(lamping stud
BT

-
(O
SIr Jdi - el | 4
MSDNN 2020K12 20| 20 |125| 20 | 10| 34 WS061025
2525M12 25| 25 (150| 25 (12,5 34 |  SNoo 120400 MS1204 S3 MCL1814 | MSP617
WS061030
3225P12 32| 25 |170| 32 |12.5 34
2525M15 25| 25 |150| 25 |12.5 42
3232P15 32| 32(170| 32| 16 | 42 |  SNoo 150600 WS061030 | MS1504 s3 MCL2114 | MSP821
3232P19 32| 32(170| 32| 16 | 45
SNoo 190600 WS081030 | MS1904 S4 MCL2217 | MSP1021
4040R19 40| 40 |200| 40 | 20 | 50
4040825 40 | 40 |250| 40 | 20 | 60 SNoo 250900 WS101035 | MS2508 S4, S5 MCL3220 | MSP1229

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

4MEIZET] External turning toolholders

MSSNR/L

45°

Dimension(mm) 4 X~

Applicable Inserts

MR

(lamping screw
WK MRET

Shim
WK

Wrench
W

#H = 71 A

Clampd
FAR

(lamping stud
FHAT

MSSNR/L  2020K12 20| 20 |125| 20 | 25 | 36 WS061025
2525M12 25| 25 [150| 25 | 30 | 36
SNoo 120400 WS061030 | MS1204 S3 MCL1814 | MSP617
3225P12 32| 25(170| 32 | 30 | 33
3232P12 32| 32|170| 32 | 38 | 35
2525M15 25| 25 [150| 25 | 30 | 40
SNoo 150600 WS061030 | MS1504 S3 MCL2114 | MSP821
3232P15 32| 32 [170| 32 | 38 | 40
32| 32 [170| 32 | 38 | 45
sl SNoo 190600 WS 081030 | MS 1904 S4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 46 | 45
4040825 40 | 40 |250| 40 | 50 | 60 SNoo 250900 WS101035 | MS2508 S4, S5 | MCL3220 | MSP1229
90°
H I
€ L

Dimension(mm) L7 R~

Applicable Inserts (lamping Screw

FEHTT

WRIRET

Shim
YA

Wrench
#HF

Clamp
JEAR

(lamping stud
HHET

MTGNR/L 2020K16 20| 20 [125] 20 | 25 | 32 WS061025
2525M16 25| 25 |150| 25 | 32 | 30| TNao 160400 MT1603 5523 MCL1814 | MSP513
WS061030
3225P16 32| 25 170 32 | 32| 30
2525M22 25| 25 [150| 25 | 32| 36
3225P22 32| 25 [170| 32 | 32| 36 | TNuo 220400 WS061030 | MT2204 s3 MCL2114 | MSP617
3232P22 32| 32 |170| 32| 38| 36

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

B o= 71 A

MTJNR/L
93°

Applicable Inserts (lamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) kA R~ LUH X IBET T T JEAR HET

MTINR/L 1616H16 16| 16 [100| 16 | 20 | 28 WS061025
2020K16 20| 20 |125| 20 | 25 | 32
52,
2525M16 25125150] 25|32 | 32 | TNy, 160400 | WS061030 | MT1603 < | MCL1814 | MsP513
3225P16 32| 25170 | 32 | 32 | 32
3232P16 32|32 |170| 32 | 32| 32
2525M22 25| 25 |150| 25 | 32| 36
3005P22 32| 25 |170| 32| 32| 36| TNoo 220400 WS061030 |  MT2204 $3 | MCL2114 | MsP617
3232P22 32|32 |170| 32| 38 | 36

Applicable Inserts (lamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) F&A X~ TR R ABET JIH WF FEAR AHET

MTJNR/L 1616H16B 16 | 16 [100| 16 | 20 | 28 WS061025
2020K16B 20| 20 125 20 | 25 | 32
52,
2525M16B 25| 25150| 25| 82| 82 | TN, 160400 | WS061030 | MT1603 P MCL1814 | MSP513
3225P16B 32| 25 [170| 32 | 32| 32
3232P16B 32|32 [170| 32 | 32| 32
2525M22B 25| 25 [150| 25 | 32 | 36
3005P20B 30| 25 |170| 32 | 32 | 36| TNoo 220400 | WS061030 | MT2204 $3 MCL2114 | MsSP617
3232P22B 32| 32170 32 | 38 | 36

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

ZHI71H2 | TURNING TOOLS §BHI

4MEIZET] External turning toolholders

MTFNR/L
90°

licable | . . . Applicable Inserts (lamping screw Shim Wrench Clamp Clampjngstud
Applicable Inserts ~ Clampingscew ~ Shim Wrench  Clamp  Clampingstud Dimension(mm) AR <f MR kT TR T H AR HIET

Dimension(mm) 7R~ GUsiliapAYE KRBT WAk WF AR HHAT

1616H16 MTENN 1616H16 16 | 16 (100| 16 | 8 | 32
16 | 16 [100| 16 | 21| 28 WS061025
ATTANRAL WS061025 2020K16 20| 20 [125| 20 | 10 | 34
2020K16 20| 20 [125| 20 | 25 | 30 s2
peoEM16 oe | 25 l1sol 25 | 35 | 3 o 2525M16 25| 25 |150| 25 [12.5| 32 | TNao 160400 MT1603 o MCL1814 | MSP513
5| 25 (150 25 )
TNoo 160400 WS061030 | MT1603 = MCL1814 | MSP513 3039P16 32| 30 |170| 32 | 16 | 32 WS061030
3225P16 32| 25 [170| 32 | 32 | 32
3232P16 32| 32(170| 32| 38 | 32
2525M22 25| 25 (150| 25 | 32 | 36
3905P22 32| 25 170| 32 | 32| 36 | TNoo 220400 WS061030 |  MT2204 3 MCL2114 | MSP617
3232P22 32| 32(170| 32| 38 | 36
MTQNR/L o8

105°

Applicable Inserts ~ Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) A R~ SRR WK HRET IAE::! #F HEA 5T

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud

Dimension(mm) AR+ W AskigeT M RE R A ’ < r'" el &
’ MVJNR/L 1616H16 16 | 16 |100| 16 | 22 | 43
WS061025
2020K16 20|20 125 20| 28| 45| .
MTQNR/L 2020K16 20| 20 |125) 20| 29| 25 WS061025 2525M16 25| 25 [150| 25 | 32 | 45 D;; %%;;j n MV1603 o | McLaa14 | MsPs13
2525M16 25| 25(150| 25| 35| 28 | TNao 160400 weos1030 | MT1603 % | mcLista | Msps13 3225P16 32| 25 |170] 32 | 32 | 45| WS061030
3225P16 32| 25|170| 32| 35 | 25 T a0 | 35 |170| 32 | 40 | 45
2525M22 25| 25 150 25 | 38 | 36 MT2204 3| McL2114 | MsPe17
TNoo 220400 WS061030
3232P22 32| 32170/ 32 46| 36

THRAKCEFBRERBE X #EEZMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHI71H2 | TURNING TOOLS §BHI

4MEIZET] External turning toolholders

MVVNN
72°30

B

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
JEAR 5T

Dimension(mm) A I BEKIgET - TIHR BT

MVVNN 2020K16 20| 20 |(125( 20| 10| 45 WS061025
25| 25 |150| 25 (12.5| 45 S2
zailie VNoo 160400 WS061030 MV1603 . MCL2414 MSP513
32| 25 |170| 32 |12.5| 45
3225P16 U bR R T
3232P16 32| 32(170| 32| 16 | 45
93°

Applicable Inserts

Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA s} CazE[sapaYay

WEIRE] TR IER FsAR BT

MVUNR/L 1616H16 16| 16 |100| 16 | 20 | 45
WS061025
2020K16 20 | 20 (125| 20 | 25 | 45
VNoo 160400 S2
2525M16 25| 25 (150| 25 | 32 | 45 ) MV1603 MCL2114 | MSP513
HAERE T 3
3225P16 32| 25(170| 32 | 32 | 45 WS061030
3232P16 32| 32|170| 32 | 40 | 45

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

MVQNRI/L
117.5°

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
EHIRI R NEKIBET T T FEAR 5T

MVQNR/L 1616H16 16 | 16 [100| 16 | 24 | 36 WS061025
2020K16 20| 20 [125| 20 | 27 | 36 VN 1604 .
2525M16 25| 25|150| 25| 33 | 36 | |y pr ik g MV1603 . MCL2114 | MSP513
3225P16 32| 25(170| 32 | 33 | 36 WS061030
3232P16 32| 32(170| 32 | 40 | 36
95°
H a
S 0 b
e L

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA R} IR XEKIRET T8 T JEAR AT

MWLNR/L 2020K06 20| 20 [125| 20 | 25 | 28 WS061025 S2

WNoo 060400 MWO0603 MSP513
2525M06 25| 25150 25 | 32 | 30 WS061030 s3
2020K08 20 | 20 [125| 20| 26| 28 WS061025

MCL1814

2525M08 25| 25(150| 25 | 32| 35

WNoo 080400 MWO0804 S3 MSP617
3225P08 32| 25[170] 32| 32 | 35 WS061030
3232P08 32| 32]170| 32 | 40| 35

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

4MNEZET] External turning toolholders

MRGNR

60

Applicable Inserts  Clamping screw

Dimension(mm) 7 R~ TR

KK IRET

P

Shim
PA:

Wrench
#T

#H = 71 A

Clamp
HAR

(lamping stud

HIET

MRGNR/L 2020K12 20| 20 |125| 20 | 25 | 28 WS061025
2525M12 25| 25 150| 25 | 32| 32 .
RNoo 120400 MR1204 MCL1814 | MSP617
3225P12 32| 25 [170| 32| 32| 32 WS061030
3232P12 32| 32(170| 32| 39 | 32
s
h a
Gl(@ b
e
L

Dimension(mm) FEA X~ IR

Applicable Inserts

(lamping screw

BEKBRET

Shim
Ak

Wrench
T

Clamp
A

Clamping stud
HYET

¥

MRDNN  2020K12 20| 20 [125] 20| 10| 30
2525M12 32
25| 25 [150] 25 |12.5 RN 12040
3225P12 32| 25 |170| 32 [12.5 30
3232P12 32 32(170| 32| 16 | 30

WS061025

WS061030

MR1204

S3

MCL1814

MSP617

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

PCBNR/L
75°

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) JEA R~} fERIII R BEET JJH #F ATAT (=

PCBNR/L 2020K12 20| 20 |125| 20 | 17 | 30
2525M12 25| 25(150| 25 | 22 | 26 CNoo 120400 VHX0821 PC12318 S3 Lv4 SP4
3232P12 32| 32|170| 32 | 29| 27
2525M16 2525|1901 25 | 22 | 82 CNoo 160600 VHX0825 PC16476 S3 LV5 SP5
3232P16 32| 32(170| 32 | 27 | 33
3232P19 32| 32170 32 | 27 | 38
4040519 40 | 20 |250| 40 | 35 | 38 CNoo 190600 VHX1027 PC19476 S4 LvVé SP6
404082507 40 | 40 |250| 40 | 37 | 50 CNoo 250700
404052509 40 40 |250| 40| 37| 50| e 280900 | PC | PO $5 Lva sP8

PCLNR/L

95°

Applicable Inserts Wrench Lever Shim pin
Dimension(mm) JE4s ]~} {EFI T F WF ATAT (=

PCLNR/L 1616H09 16| 16 100| 16 | 20 | 20
2020K09 20| 20 [125| 20| 25| 22| CNoo 0903mo VHX0613 | PC09318 S25 Lv3 SP3
2525M09 25| 25 |150| 25 | 32 | 22
2020K12 20| 20 |125| 20 | 26 | 28
2525M12 25| 25 [150| 25 | 32 | 28| CNoo 120400 VHX0821 | PC12318 S3 V4 SP4
3232P12 32| 32[170| 32 | 39| 32
2525M16 251251150125 | 32| 361 \oo 160600 VHX0825 | PC16476 S3 V5 SP5
3232P16 32| 32170 32| 39| 36
3232P19 32| 32 [170| 32| 40| 40
4040519 40| 40 |250| 40 | 29| 20 CNoo 190600 VHX1027 | PC19476 sS4 V6 SP6
404052507 CNoo 250700
oy | | [0 omow e o | s | 5 | w | s

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHIJJE | TURNING TOOLS §BHI

4MEIZET] External turning toolholders

PDJNR/L

93° 5%
t .
S b
()
937, ]

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) 34 R AT A T FLAF Ry

&
PDJNR/L 1616H11 16| 16 |100| 16 | 20 | 25
2020K11 20| 20 |125/ 20 | 25 | 25 DNoo 110400 VHX0613 | PD11270 S2.5 Lv3 SP3
2525M11 25| 25 |150| 25 | 30 | 30
2020K15 20| 20 |125/ 20 | 25 | 32
2525M15 25| 25 |150| 25 | 32 | 35 DNoo 150600 VHX0825 | PD15318 S3 Lv4B SP4
3232P15 32| 32170/ 32 | 38 | 35
2020K15-3 20| 20 |125/ 20 | 25 | 35
2525M15-3 25| 25 |150| 25 | 32 | 35 DNoo 150400 VHX0821 | PD15318 S3 Lv4 SP4
3232P15-3 32| 32170/ 32| 38 | 35

PDNNR/L
63°

Applicable Inserts screw Shim Wrench Lever Shim pin

Dimension(mm) %E4s R~ MR A 25T PAE wF ALAF )

PDNNR/L 2020K15 20|20 [125| 20| 8 | 37
2525M15 25| 25 |150| 25 [12.5 37 DNoo 150600 VHX0825 | PD15318 S3 Lv4B SP4

3225P15 32| 25 [170| 32 |12.5| 37

3232P15 32|32 (170 32| 16 | 37

2020K15-3 20|20 (125 20| 8 | 37
DNoo 150400 VHX0821 | PD15318 3 Lv4 SP4

2525M15-3 25| 25 |150| 25 |12.5 37

3232P15-3 32|32 (170| 32| 16 | 37

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

§AHI §I7JE | TURNING TOOLS

PSBNR/L
75°

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) A4} R T] A W4T JIE T FLAT Ry

PSBNR/L 1616H09 16| 16 |100| 16 | 13 | 21
SNoo 0903a0 VHX0613 | PS09318 2.5 Lv3 P3
2020K09 20| 20 |125| 20 | 17 | 23
2020K12 20| 20 [125| 20 | 17 | 28
2525M12 25| 25 |150| 25 | 22 | 28
SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3225P12 32| 25 170| 32 | 22| 28
3232P12 32| 32170 32 | 29 | 28
2525M15 25| 25 |150| 25 | 22 | 32
SNoo 150600 VHX0825 | PS15476 s3 LV5 P5
3232P15 32| 32|170| 32| 28 | 32
3232P19
82182170132 | 36 | 45 SNoo 190600 | VHX1027 | PS19476 54 LV6 SP6
40405819 40| 40 |250| 40 | 35 | 45
SNoo 2507 PS25634
404052507 40 | 40 |250| 40 | 35 | 50 oo oo Vi3 <5 8 sps
404052509 40| 40 |250| 40 | 35 | 50 SNoo 250900 PS25476
45° 8.5°/
h a
S
_L@O b -
45°a L

Applicable Inserts Shim Wrench Lever Shim pin
Dimension(mm) JEA N~} fER ) R WAk T ALAT EE

PSDNN  2020K12 20| 20 [125| 20 | 10 | 30
2525M12 25| 25 |150| 25 [12.5) 32|  SNoo 120400 VHX0821 PS12318 S3 Lv4 SP4
3232P12 32| 32|170| 32| 16 | 30
2525M15 25 | 25 |150| 25 [12.5| 40
SNoo 150600 VHX0825 | PS15476 s3 V5 SP5
3232P15 32| 32|170| 32| 16| 40
3232P19 32| 32[170| 32| 16| 40
SNoo 190600 VHX1027 PS19476 4 LV6 SP6
4040519 40 | 40 [250| 40| 20 | 40
404052507
40 | 40 |250| 40 | 20 | 50 SNoo 250700 VHX1236 PS25634 S5 V8 P8
404052509 40 | 40 |250| 40| 20 | 50 SNoo 250900 PS25476

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

% 7] External turning toolholders

PSKNR/L

h a
75°
° «‘5/%9 °
< L
.

Applicable Inserts screw Shim Wrench Lever Shim pin

PSKNR/L 1616H09 16| 16 [100| 16 | 20 | 17
S0P0KOS oo 5o Lissl 50 1 55 | 5 SNoo 090300 VHX0613 | PS09318 $2.5 v3 SP3
2020K12 20| 20 [125| 20 | 25 | 26
2525M12 25| 25 |150| 25 | 30| 26 SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3232P12 32| 382|170/ 32| 38| 26
2525M15 25| 25|150| 25 | 32 | 32
e a2 | 3 [170| 30 | 38 | 32 SNoo 150600 VHX0825 | PS15476 S3 V5 SP5
9292P19 8232|170/ 52| 38 | 36 SNoo 190600 VHX1027 | PS19476 S4 V6 SP6
4040519 40| 40 |250| 40 | 48| 32
404052507 40| 40 |250| 40 | 50 | 40 |  SNoo 250700 HK1236 PS25634 <5 W8 sps
404082509 40 | 40 |250| 40 | 50 | 40 SNoo 250900 PS25476

PSSNR/L

45° q

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) %:4< <~ AT BRET WAE: T FIAT Pl

O P b K
PSSNR/L 1616H09 16| 16 [100| 16 | 18 | 25 SNoo 090300 VHX0613 | PS09318 $2.5 v3 sP3
2020K12 20| 20 [125| 20 | 25 | 28
2525M12 25| 25 [150| 25 | 30 | 32 SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3232P12 32|32 (170 32 | 38 | 32
2525M15 25| 25 |150| 25 | 30 | 35
SNoo 150600 VHX0825 | PS15476 s3 V5 SP5
3232P15 32|32 (170 32 | 38 | 35
3232P19 32|32 |170| 32 | 38 | 40
SNoo 190600 VHX1027 | PS19476 54 V6 SP6
4040819 40 | 40 |250| 40 | 48 | 50
404082507 40 | 40 |250| 40 | 48 | 50 SNoo 250700 PS25634
S5 V8 sP8
4040582509 40 | 40 |250| 40 | 48 | 50 SNoo 250900 VHX1236 | bor5476

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

PRDCN

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

o
P

Dimension(mm) %4 R~

%
H

\

/

Applicable Inserts
(FOELpAYY

screw

RET

Shim
JIH

Wrench
BT

\o©

Lever

FFF

Shim pin
Pt

PRDCN 2020K12 20 | 20 |125| 20| 10 | 25
RCMX 120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25| 25|150| 25 | 125 | 25
2525M16 25| 25|150| 25| 10 35
RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32 |32|170| 32| 16 32
3232P20 32 |32|170| 32| 16 40
RCMX200600 VHX0825 | PR 2004 S3 LCL20C SP5
4040720 40 | 40 |300| 40 | 20 45
3232P25 32| 32|170| 32| 16 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040725 40 | 40 |300| 40 | 20 50
{
\

Applicable Inserts SCEEeW Shim Wrench Lever Shim pin
Dimension(mm) &4 BRI BRET ) wF FLAF R
PRACR/L 2020K12 20 | 20 | 125 | 20 | 30
RCMX120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25 | 25 | 150 | 25 30
2525M16 25 25 | 150 | 25 35
RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32 32 | 170 | 32 35
3232P20 32 | 382|170 | 32 40
RCMX20060 VHX0825 | PR 2004 S3 LCL20C SP5
4040T20 40 | 40 | 300 | 40 50
3232P25 32 32 | 170 | 32 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040T25 40 40 | 300 | 40 50

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4MNEIZET] External turning toolholders

PRGCR/L

#H = 71 A

Applicable Inserts screw  Shim Wrench Lever Shim pin
Dimension(mm) A R~ R R BRET AL T KTAT Pt
PRGCR/L 2020K12 20 | 20 | 125 | 20 | 25
RCMX120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25 | 25 | 150 | 25 | 32
A e 25 | 25| 150 | 25 | 35 RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32 | 32| 170 | 32 | 42
3232P20 32 | 32 | 170 | 32 | 40
RCMX200600 VHX0825 | PR 2004 S3 LCL20C SP5
4040720 40 | 40 | 300 40 50
3232P25 32 | 32| 170 | 32 | 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040725 40 | 40 | 300 | 40 | 56
90° 57
A ? -
b

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) 34 R FEFRI R (A AR BT ALFF Ry
PTGNR/L 1616H11 16 | 16 [100| 16 | 19| 18
2020K 11 20| 20 [125/ 20 | 24 | 20 | TNoo 1103oo VHX059B - S2 v2 —
2525M11 25 | 25 |150| 25 | 29 | 20
1616H16 16 | 16 |100| 16 | 19 | 22
2020K16 20 | 20 [125] 20 | 23 | 25
TNoo 160400 VHX0617 PT16 S25 Lv3 SP3
2525M16 25| 25 |150| 25 | 29 | 25
3232P16 32|32 [170| 32| 37 | 32
2525M22
25| 25|1%0 25183018301 oy 99040e | VHXOBZ1 | PT22 s3 Lv4 sP4
3232P22 32|32 [170| 32 | 37 | 32
3232P27
821821170182 37138} TNoy 270600 | VHX0825 | PT27 s3 5 SP5
4040827 40 | 40 |250| 40 | 47 | 38

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

#H = 7 A

PTFNR/L
90°

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

Applicable Inserts Nelg% Shim Wrench Lever Shim pin
Dimension(mm) JEA R f R ) AT AE= T FLAT Ry
PTENR/L 1616H16 16 | 16 {100| 16 | 20 | 20
2020K16 20| 20 |125/ 20 | 25 | 20 TNoo 160400 VHX0617 PT16 S2.5 Lv3 SP3
2525M16 25| 25|150| 25 | 30 | 25
2525M22 25| 25 |150| 25 | 32 | 30
TNoo 220400 VHX0821 PT22 S3 Lv4 SP4
3232P22 32|32 |170| 32| 38 | 30
3232P27 32|32 |170| 32 | 38| 35
TNoo 270600 VHX0825 PT27 S3 Lv5 SP5
4040827 40 | 40 |250| 40 | 50 | 34
60°
)
<=

Dimension(mm) A4 R~

Applicable Inserts
FEF KT F

screw
IRET

Shim
PAE:

Wrench
#T

Lever

FLAF

Shim pin
Y

PTTNR/L 1616H16 16| 16 [100| 16 | 13 | 25
TNoo 160400 VHX0617 PT16 52.5 Lv3 SP3

2020K16 20| 20 (125 20| 17 | 25
2525M22 25| 25 |150| 25 | 22 | 32 TNoo 220400 VHX0821 PT22 S3 V4 SP4

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHI718 | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

PWLNR/L

Applicable Inserts screw Shim Wrench Lever Shim pin

Dimension(mm) FEA4< ) REFITT WRAET Ak WF FLAT R

PWLNR/L 1616H06 16 | 16 [100| 16 | 19| 22
2020K06 20 | 20 [125/ 20 | 23| 25| WNaoo 060400 VHX0617 | PW06270 2.5 v3 SP3
2525M06 25| 25|150| 25 | 28 | 25
2020K08 20 | 20 [125| 20 | 25 | 26
2525M08 25 |25 |150| 25| 29| 26 |  WNoo 080400 VHX0821 | PWO08318 S3 Lv4 SP4
3232P08 32| 32170/ 32| 37| 26

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

SCACR/L
90°

>
 —
_—

o218\ [
—

Applicable Inserts

Dimension(mm) JEA R FEFRI R

Stock 77

R|L
SCACR/L 1010E06 10 | 10 | 70 | 10 [10.5| 10 CCoT 060200 L60M2.5X5 T08
1212F09 12 | 12| 80 | 12 |12.7] 16 CCoT 09T3uo L60M4 X 8 T15

SCLCR/L
95°

Applicable Inserts

U lsapaiy
Stock [
a S e
R L
SCLCR/L 1212F09 12 | 12 | 80 | 12 | 15 | 16
1616H09 16 | 16 | 100 | 16 | 20 | 16 CCaT 097300 L6OM4X 8 T15
2020K09 20 | 20 |125| 20 | 23 | 20
2020K12 20 | 20 [125| 20 | 24 | 25
2525M12 25 | 25 | 150 | 25 | 29 | 25
3225P12 32 | 25 170 | 32 | 29 | 25 CCeT 120400 Loom3 12 120
3232P12 32 | 32 [170| 32 | 36 | 38

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




Z #7182 | TURNING TOOLS §BHI §BMI ZHI7182 | TURNING TOOLS

4MNEZET] External turning toolholders External turning toolholders 4NRIZET]

SDACR/L SDNCN
90° 0y 62° 30 0
L : AV
P > 5 T :
9 ] el L

Applicable Inserts Applicable Inserts
Dimension(mm) A ) UV Dimension(mm) A4 ) SRR
Stock /{7
R|L
SDACR/L 1010E07 10 | 10 | 70 | 10 |10.5| 15 DCoT 070200 L60M2.5X 5 T08 SDNCN 1010E07 10 | 10 | 70 10 | 5 16
DCuT 070200 L60M2.5X5 Tos
1212F11 12 | 12 | 80 | 12 [12.5| 20
DCoT 11T300 L60M4 X 8 T15 1212F07 2] 12|80 j 121812
1616H11 16 | 16 | 100 | 16 |16.7 | 20 1212H11 12| 12 [100 | 12 | 6 | 22 DCoT 117300
1616H11 16 | 16 |100 | 16 | 8 | 22 L6OMAX 8 15
SDJCR/L 2020K11 20 | 20 [125 | 20 | 10 | 22 DCaT 11T3o0
2525M11 25 | 25 [150 | 25 |125| 22

93°

S X SVOJCRIL
93
s ® b
93°
€ L

Applicable Inserts
Dimension(mm) AU TR
Applicable Inserts
' K75
SDJCR/L 1010E07 10 [ 10 | 70 | 10 | 12 | 15 ook

1212F07 12 [ 12 |80 | 12 | 14 | 15 DCaT 070200 L60M2.5X 5 Tos S a s €

L 10170 199 ) 18 1 18 ) 18 SVJCR/L 1212F11 12 |12 |80 | 12 | 14 | 20

2020K07 20 | 20 (125 | 20 | 22 | 18 1616H11 16 | 16 |100 | 16 | 18 | 22
1616H11 16 | 16 |100 | 16 | 19 | 20 2020KA 1 o0 T30 Tas a0 155 1 57 VCoT 110300 L60M2.5X 5 T08

2020K11 20 | 20 |125 | 20 | 23 | 26 DCaT 117300 L60M4 X 8 T15 2525M11 25 | 25 (150 | 25 | 27 | 35

£o2aM1l R i e s B e 1616H16 16 | 16 100 | 16 | 18 | 32

. 8225P11 || | 82|25 1170 | 82 | 28 | 26 2020K16 20 | 20 [125 | 20 | 22 | 32
3232P11 32 | 32 170 | 32 | 35 | 31 2525M16 25 | 25 [150 | 25 | 27 | 35 VCaT 160400 L60M4 X 8 T15

3225P16 32 |25 |170 | 32 | 27 | 35

3232P16 32 | 32 |170 | 32 | 35 | 45

THRAKCEFBRERBE X #EEZMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI F#I718 | TURNING TOOLS

4SMN&EZEJ] External turning toolholders External turning toolholders 4NRIZET]

SVJBR/L SVACR/L
03" 07 90’ ”
h \ H a
s b I
Y :j
e L

Applicable Inserts Screw

licable Inserts
Dimension(mm) 47 X~ MR R 24T Appliczble

Dimension(mm) &4 X ) R R

Stock {7

R | L
SVJBR/L 1212F11 12 |12 |80 | 12 | 14 | 27 SVACR/L 1616H16 16 | 16 | 100 | 16 [16.5 | 32
1616H11 16 | 16 [100 | 16 | 18 | 27 2020K16 20 | 20 [125 | 20 |20.5| 32
2020K11 20 | 20 [125 | 20 | 22 | 27 2525M16 25 | 25 [150 | 25 |25.5| 38
2525M11 25 | 25 |150 | 25 | 27 | 27
1616H16 16 | 16 |100 | 16 | 18 | 36
2020K16 20 | 20 |125 | 20 | 22 | 41 SVVBN
2525M16 25 | 25 |150 | 25 | 27 | 41 VBoT 160400 L60M4 X 8 T15 .
1
3225P16 32 | 25 170 | 32 | 27 | 41 72 30 /0.
3232P16 32 | 32 |170 | 32 35 41 h * \_' \ a
sI
SVABR/L < b VA
0 . 17.5°
90 0< € L
h 1 a
Applicable Inserts
Dimension(mm) 74 R~ R
S b L
90/ o L
Stock 17
. SVVBN 1212F11 12 |12 |80 |12 | 6 | 22
Applicable Inserts 1616H11
¢ 16 | 16 |100 | 16 | 8 | 27
AT VBT 11030 L60M2.5X5 T08
2020K11 20 | 20 [125 | 20 | 10 | 30
Stock i 1616H16 16 | 16 |100 | 16 | 8 | 33
R T 2020K16 20 | 20 |125 | 20 | 10 | 33
SVABR/L 1616H16 16 | 16 | 100| 16 |16.5| 32 2525M16 25 |25 150 | 25 | 125) 38 VBLT 160400 LeoM4 8 TS
2070KAE 20 120 11251 20 1205 32 3225P16 32 | 25 [170 | 32 |125| 38
: VBaT 160400 L60M4 X8 5 3232P16 3 |32 [170 | 32 | 16 | 38
2525M16 25 | 25 | 150 | 25 |25.5| 38

THRAKCEFBRERBE X #EEZMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHIJJE | TURNING TOOLS

4MEIZET] External turning toolholders

SVVCN

72° 30' /0
h ' \_l \ a
S » b

Dimension(mm) A R )

Applicable Inserts
ERIR

Stock [77
SVVCN 1212F11 12 |12 |80 |12 | 6 | 22
1616H11 16 | 16 |100 | 16 | 8 | 27
VCoT 110300 L60M2.5X5 T08
2020K11 20 | 20 [125 | 20 | 10 | 30
1616H16 16 | 16 |100 | 16 | 8 | 33
2020K16 20 | 20 [125 | 20 | 10 | 33
2525M16 25 | 25 |15 12.
0% 5|38 VCoT 160400 L60M4 X 8 T15
3225P16 32 | 25 [170 | 32 [125| 38
3232P16 32 | 32 |[170 [ 32 | 16 | 38
75°

h \ r,\ a
S /Q7 b
/yeso

Applicable Inserts

T

‘\\Q,/
SSBCR/L 1212F09 12 |12 |80 | 12 | 11 | 14
SCoT 09T3oo L60M4 X 8 T15
1616H09 16 | 16 [100 | 16 | 13 | 16
2020K12 20 | 20 |125 | 20 | 17 | 25
2525M12 25 | 25 |150 | 25 | 22 | 25 SCaT 120400 L60M5 X 12 T20
3232P12 32 | 32 |170 | 32 | 27 | 28

THREKEFBEREHE] X ¥I151EEHMiwww.hnsant.com

SSDCN

Dimension(mm) %E4s R~

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

om =Y
(L

Applicable Inserts
AEHIR I

Stock FEf7
a S e
R| L
SSDCN 1212F09 12| 12|80 |12 | 6 | 16
1616H09 16 | 16 [100 | 16 | 8 | 16
2020K09 20 | 20 T12s 120 10 | 16 SCoT 09T3oo L60M4 X 8 T15
2525M09 25 | 25 |150 | 25 |125]| 25
2020K12 20 | 20 (125 |20 | 10 | 25
2525M12 25 | 25 |150 | 25 |125| 25 SCoT 120400 L60M5 X 12 T20
3232P12 32| 32170 |32 | 16 | 25
SSKCRI/L
75°

SSKCR/L

Stock /7

Dimension(mm) ZEA R~

R

L

o/

Applicable Inserts
IR

w

1616H09 16 | 16 |100 | 16 | 20 | 13
SCoT 09T300 L60M4X 8 T15

2020K09 20 | 20 |125 | 20 | 25 | 18

2020K12 20 | 20 |125 | 20 | 25 | 18

2525M12 25| 25 |150 | 25 | 32 | 22 SCoT 12040 L60M5 X 12 120

3232P12 32| 32 |[170 | 32 | 40 | 27

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI F#I718 | TURNING TOOLS

4SMN&EZET] External turning toolholders External turning toolholders 4NRIZET]

SSSCR/L STFCR/L

45° o7 91° 0y
1
" \ ‘ﬂ 2 h \ a
3 @ b . '9)0/" R
455

Applicable Inserts

Applicable Inserts
Dimension(mm) &4 IR

Dimension(mm) 7 7~ LSV

ot | . O w> 6 v
R|L =
SSSCR/L 1616H09 16 |16 100 | 16 | 20 | 16 STFCRIL 1212F11 12 112 |80 | 12 | 14 | 14
SCoT 097300 L6OM4X 8 Ti5
2020K09 20 |20 |125 | 20 | 25 | 20 1616H11 16 | 16 |100 | 16 | 18 | 16 TCoT 110200 LOM2.5 x5 o8
2020K12 20 |20 |125 | 20 | 25 | 23 2020K11 20 | 20 |125 | 20 | 22 | 16
2525M12 25 |25 (150 | 25 | 32 | 25 SCoT 120405 L6OM5 X 12 720 L T 16116 l100 | 16 | 18 | 19
Jesere il il AL Tl Bl 2020K16 20 | 20 125 | 20 | 22 | 19 TCoT 16T300 L60M4 8 T15
2525M16 25 | 25 |150 | 25 | 27 | 24
STACR/L STGCR/L
91° 0y 91° o7
S : L a
s A b [2 s (o b
91y . q’\;
(S L L

Applicable Inserts

Applicable Inserts Screw Wrench TR

Dimension(mm) AR~} fEHI 24T T

STACR/L 1212F11 TCaT 110200 L60M2.5X 5 T08 STGCR/L Cetee 08 |08 |60 | 8 |10 M TCoT 090200 L60M2.2X5 T06
1010E09 10 |10 |70 | 10 | 11| 11
1212F11 12 |12 |80 | 12 | 14| 14
TCoT 110200 L60M2.5X5 T08
1616H11 16 16 | 100 16 17 16
2020K16 20 | 20 1125 | 20 | 22 | 21 TCaT 16T3 L60M4 X 8 T15
o oo
2525M16 25 | 25 |150 | 25 | 27 | 21

THRAKCEFBRERBE X #EEZMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4NEIZET] External turning toolholders

#H = 71 A

STTCR/L
600 0"/
t h a
Sy b A
60° '
e L

Applicable Inserts
FERIRIT

WRET

Dimension(mm) 4 X~ T

a S e
R|L
STTCR/L 1616H11 16 | 16 | 100 | 16 | 13 | 14 TCoT 110200 L60M2.5x 5 TO8
1616H16 16 | 16 | 100 | 16 | 13 | 19
TCoT 16T3uo L60M4 x 8 T15
2020K16 20 |20 [125 |20 |17 | 19
0y
W T ]
s[ b
oo
e

Applicable Inserts

Dimension(mm) A ) IR

S Ve
a S e
R|L
SWACRI/L 1010E04 10 | 10| 70 | 10 |10.5| 10
WCoX 040200 L60M2.5 x5 To8
1212F04 12 | 12 | 80 | 12 |125] 14
1616H06 16 16 | 100 | 16 |16.5| 20 WCoX 06T300 L60M3 x 7 TO9
2020K08 20 | 20 | 125| 20 |20.5]| 24 WCoX 080400 L60M4 x 8 T15

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

#H = 7 A

ZHIJ7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

oY
0o h ‘\ a
~ T -
s bl
e
L
ADD! DIE INSerts = e o o
D - 0 = 1 Hi h 7 hE ¥,
e
ng%k a| b|L|h|s | e @ v V . ' ‘
20 | 20 |125| 20 | 10 | 11
SRDCN 202008 RCoT 06020 L6OM2.5x 5 T08 _ - -
2525M06 25 | 25 | 150 | 25 [12.5| 11
2020K08 20 20 | 125 | 20 10 16 RCoT 080300| L6OM3x 7 T09
2525M08 25 | 25 | 150 | 25 |12.5| 16
2020K10 20 | 20 | 125| 20 | 10 | 25 |RG.T 10T300| LEOM3.5x 10 15 _ _ _
2525M10 25 | 25 | 150 | 25 |12.5| 25
2020K12 20 | 20 |125| 20 | 10 | 35
2525M12 25 | 25 | 150 | 25 |12,5 | 35 |RCeT 120400| LEOM3.5x 12 15 - - -
3225P12 32 | 25 | 170| 32 | 16 | 35
2525M16 25 | 25 | 150 | 25 [12.5| 35
RCoT 160600| L60M4 x 16 20 R16BS SM0614 S4
3232P16 32 | 32 170 32 | 16 | 40
3232P20 32 | 32 | 170 | 32 | 16 | 40
RCMX2006 |L60M5 x 16-8.1  T20 R20BS | SM0814 S5
4040520 40 | 40 | 250 | 40 | 20 | 40
oy
T ] R
0“7 —
b
| B l =9/
L
Applicable Inserts e e e e
D - O = - Hi th 7 hE v
e
ok a|b| L | h|s @ ' ,/ . ' ¢
SRGCR/L 2020K10 20 | 20| 125 | 20 | 25
el o5 | 25| 150 | 25 | gp |RCoT 10T3a| L6OM35x 10 T15 - - -
2020K12 20 | 20| 125 | 20 | 27
2525M12 25 | 25| 150 25 32 |RCoT 120400 | L60M3.5x 12 T15 - - -
3232P12 32| 32| 170 | 32 | 32
20231018 25|25 180 | 25 | 32 Ioc T160600| L6OM4x 16 20 R16BS SM0614 S4
3232P16 32 | 32| 170 32 40
3232P20 32| 32| 170 | 32 | 40
RCMX2006 |L60M5x 16-8.1]  T20 R20BS | SMO0814 S5
4040520 40 | 40| 250 | 40 | 48

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

SRACR/L

07

ZHIJ7JE | TURNING TOOLS

External turning toolholders SN&ZET]

#H = 7 A

CCLNR/L
95°

-
T : b
SLI_@)_/ b 0
L

S’%%k a bl L h | e @ ’ y ‘ ' r
20 | 20 | 125 | 20 | 1
SRACR/L  2020K06 ® |RCoT 060200| L6OM25 x5 708 - - -
2525M06 25 | 25 | 150 | 25 | 23
2020K08 20 | 20 | 125 | 20 | 18 |RC.T08030n| L6OM3x7 09 _ _ _
2525M08 25 | 25 | 150 | 25 | 23
2020K10 20 | 20 | 1256 | 20 | 20 |RCoT 10T300| L6OM3.5x 10 15 _ _ _
2525M10 25 | 25 | 150 | 25 | 25
2020K12 20 | 20 | 125 | 20 | 28
2525M1 2 25 25 150 25 28 RCoT 120400 | L60M3.5x 12 T15 - - -
3225P12 32 | 25 | 170 | 32 | 28
2525M16 25 | 25 | 150 | 25 | 35
RC.T 160600| L60M4 x 16 5 R16BS SMO614 sS4
3232P16 32 | 32 | 170 | 32 | 40
3232P20 32 | 32 | 170 | 32 | 40
RCMX2006 |L60M5x 16-8.1  T20 R20BS | SM0814 S5
4040520 40 | 40 | 250 | 40 | 55

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

Applicable Inserts Shim Wrench Clamp Clamp screw screw

20| 20 |125| 20 | 26| 32
CCLNRA. 2020K12 CN oo 120700 | MC 1204 | S4,S3 CCL2612 | DM 0625 | DSP 0612
2525M12 25| 25 150| 25 | 31| 31
2525M16
2525150125 32| 36 | o\ 1606un | MG 1604 s4 CCL2816 | DM 0830 | DSP 0812
3225P16 32| 25|170| 32 | 32 | 36

93°

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) FEA EHIRIR AR B FEbR EARIRZ BRET
CDJNR/L  2525M15 25| 2515025 | 32| 40
3225P15 32| 25(170| 32 | 32| 40 | DN oo 150700 | MD 1504 S4,83 CCL2612 | DM 0625 | DSP 0612

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZH|J7JE | TURNING TOOLS §AHI

CSKNR/L
75°

Applicable Inserts Shim Wrench Clamp Clamp screw Screw
Dimension(mm) FEA IR T T i FepR i 22 IRET

= \

CSKNR/L 2020K12 20| 20 |125| 20 | 26| 28
2525M12 25| 25|150| 25| 32| 30 | SN oo 120700 | MS 1204 S4,53 CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25(170| 32 | 32| 30

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) H:4s X~ EFAII Ak P F IEfR  HEERIRZ IRET
CSDNN  2020K12 20| 20 [125|20 | 10 | 36
2525M12 25| 251150 25 12,5/ 36 | gN 5120700 | MS 1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25|170| 32 [12.5 36

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

CSRNR/L
75°

Applicable Inserts Shim Wrench Clamp Clamp screw sCrew
Dimension(mm) FEA ) ERRIR Ak T JEAR AR 5 2 WRAT

CSRNR/L 2020K12 20| 20 |125| 20 | 22| 32
2525M12 25)25)150| 25| 27 | 32 | gN 5120700 | MS1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612

3225P12 32| 25|170| 32 | 27 | 32

32| 25|170| 32| 32 | 40
3225P15 SN oo 150705 | MS 1504 s4 CCL2816 | DM 0830 | DSP 0812

4040R15 40 | 40 |200| 40 | 43 | 40

«O); °

.
‘ ) “

]

Applicable Inserts Shim Wrench Clamp Clamp screw
Dimension(mm) 45 K~ IR PAE:S T JEMR JEA IR 22
CRDNN  2020K12 20| 20 [125|20 | 10 | 36
2525M12 25| 25|150| 25 [12.5| 36 | RN oo 120700 | MR1204 S3,54 CCL2612 DM 0625 DSP 0612
3225P12 32| 25170 | 32 |12.5| 36

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

CTJNR/L DCLNR/L

93° X
”T ] 95

Applicable Inserts ~ Shim Wrench Clamp Clamp screw screw

plicable Inserts Shim Wrench  Clamp  Clampscrew screw
= % Dimension(mm) A< R~ kdilinA)as Ak T JER iR IBET
20| 20 [125| 20 | 26 | 32 a ‘ %
SRRy 2020K16 TN oo 160700 | MT 1603 | S4,83 | CCL2612 | DM 0625 | DSP 0510
2525M16 25| 25 [150| 25 | 31| 32
DCLNR/L 2020K12 20| 20 |125| 20 | 27| 32
2525M12 25| 25150/ 25| 32| 30|  CNon120400 | MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32|32 (170 32 | 39| 30

93°

— 75°

)

s% e ]b SL ]b
e L J Sl J

Applicable Inserts ~ Shim Wrench Clamp  Clamp screw screw
Dimension(mm) 7 R~ IR TIH WF A EBURZ BT

Applicable Inserts Shim Wrench Clamp Clamp screw SCrew
Dimension(mm) FEAC R ~F By JIE RF JEAR JEARIR 22 WRET

CTUNR/L  2020K16 20| 20 |125| 20 | 25 | 32 DCBNR/L 2020K12 20| 20/125| 20 | 17 | 34
2o2oM16 25125150/ 25 | 32| 32| TNea 160700 | MT1603 | 5483 | COL2612 | DM0625 | DSPOST0 2525M12 25|25|150| 25| 22|36 | CNoo12040c | MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32|32/170]32 | 29| 34

THRAKEFERERB X #EEZEMNwww.hnsant.com THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

4NEIZET] External turning toolholders External turning toolholders MNEZ7]

75° 93°
H a HT a
S ' ’ b S b
L 4NG ®
- 1 ]
k - e
L
o AP?%%EE? |f}:?“~‘> Shim  Wrench  Clamp Clampscrew  screw
Applicable Inserts Shim Wrench ~ Clamp  Clamp screw Dimension(mm) 3 K ~J 1] JAE WF i Y A )
Dimension(mm) FEARR N fEFIR JIHA wT JEAR JE AR 22 ( =
DDJNR/L 2020K11 20| 20 [125| 20 | 25| 32
20| 20 (125|20 | 26 | 28
DCKNR/L 2020K12 5525M11 o5 | 95 |150| 25 | 30 | 3p| DN oo 110400 MD 1103 s3 DCL2211 | DM 0520 | DSP 0510
2525M12 25| 25(150| 25 | 32 | 28 CN oo 120400 MC 1204 | S3. S4 | DCL2612 | DM 0625 | DSP 0612
2020K1504 20| 20 |125| 20 | 25| 40
3232P12 32| 32(170|32| 39 | 28
2525M1504 25| 25150 | 25 | 31| 40 DNoo 150400
3232P1504 32|32 1170 32 | 39 | 40 MD 1504 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
2020K1506 20| 20|125| 20 | 25| 40
2525M1506 25| 25|150| 25 | 31| 40 DNaoo 150600
3232P1506 32| 32[170| 32| 39| 40

62.5°

Is
{@\
b

]

Applicable Inserts Shim Wrench  Clamp  Clampscrew  screw

Dimension(mm) J A4 T K T R ebRige 4T S ) S Apg%gﬁtél;jljn;erts Sjr%rg W?rgn%ch C}%"ip Cg;g;gz S;é?}"
L & L
DCMNN  2020K12 20 | 20 |125| 20 | 10| 36 DDPNN  2020K11 20| 20 |125| 20 | 10| 32
2525M12 25| 25(150| 25 [12.5/ 36 | CNoo120400 | MC 1204 | S3. S4 | DCL2612 | DM 0625 | DSP 0612 —— o5 | 25 150 25 |12.8] 36 DNoc1104cc | MD1103 | S3 | DCL2211 | DM 0520 | DSP 0510
3232P12 32| 32]170/ 32| 16 | 36 2020K1504 20| 20 [125|20 | 10| 36
2525M1504 25| 25 |150 | 25 |12.5 36 DNoo 150400
3232P1504 92 82|170/32 | 16 | 36 MD 1504 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
2020K1506 20| 20 (125 20| 10 | 36
2525M1506 25| 25 |150| 25 [12.5] 36 DNa 150600
3232P1506 32| 32(170| 32 | 16 | 36

THRAKEFERERB X #EEZEMNwww.hnsant.com THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



& | INUS

ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

DDQNR/L

107.5°

A

icable Inserts Wrench  Clamp  Clampscrew  screw
Dimension(mm) &4 K ) TR F T AR AR WRAT
DDQNR/L 2020K11 20| 20 [125|20 | 25| 28
DN 5 110400 MD 1103 | S4,S3 | DCL2211 | DM 0520 | DSP 0510
2525M11 25| 25 [150| 25 | 31| 28
2020K1504 20| 20 125/ 20 | 26| 36
2525M1504 25| 25150 | 25 | 32| 36 DNoo 150400
3232P1504 32|32 (170| 32 | 38| 36 MD 1504
SR 00| 20125| 20| 26| 36 S4,S3 | DCL2612 | DM 0625 | DSP 0612
2525M1506 25| 25(150| 25| 32| 36|  DNoo 150600
3232P1506 32| 32|170| 32| 38| 36
75°

Applicable Inserts
EHIRTIR

Wrench
wTF

Clamp
FEAR

B

Clamp screw
PR 22

screw
BRET

L

DSBNR/L 2020K12 20| 20| 125| 20| 18| 34
2525M12 25| 25/ 150| 25| 23 | 32
3232P12 32| 32/170| 32| 30| 33

SN 0o 120400

MS 1204

S3,54

DCL 2612

DM 0625

DSP 0612

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

DSDNN

ZHIJ7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

Applicable Inserts Shim Wrench  Clamp Clamp screw SCrew
Dimension(mm) FEAR RS IR Ak PF JEH A R 22 WRAET
DSDNN  2020K12 20| 20 | 125| 20| 10 | 36
2525M12 25| 25| 150| 25 |12.5/ 36 SN oo 120400 MS 1204 | S3,54 | DCL2612 | DM 0625 | DSP 0612
3232P12 32| 32| 170| 32/12.5/ 36
45°

Applicable Inserts
GUEElapA)S

©
-

Dimension(mm) 4 X~

Shim
JJ#k

Wrench
"

Clamp
AR

-

Clamp screw
FEABIR 22

L)

DSSNR/L  2020K12 20| 20| 125/ 20| 25| 36
2525M12 25| 25/150| 25| 30| 35| SN o 120400
3232P12 32| 32| 170| 32| 38| 35

MS 1204

S3,84

DCL 2612

DM 0625

DSP 0612

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

DSKNR/L

75°

Dimension(mm) 54X~

Applicable Inserts

TR

Shim
WAL

Wrench
W

Clamp
I

Clamp screw
i 22

screw
IRET

DSKNR/L  2020K12 20| 20| 125| 20| 26 | 28
2525M12 25| 25|150| 25| 36 | 28 SN oo 120400 MS 1204 | S3,S4 | DCL2612 | DM 0625| DSP 0612
3232P12 32| 32|170| 32| 38| 32

Dimension(mm) FEA< K~}

Applicable Inserts

SRR

Shim
JIH

Wrench

T

Clamp
AR

Clamp screw
JEAR IR 22

RET

DTGNR 2020K16 20|20 [125]20 | 24 | 28
2R 2512515025 | 30 28 | 1\ 16040 | MT1603 | S3 | DCL2211 | DM 0520 | DSP 0510
3225P16 32| 25170 32 | 30| 28
3232P16 32| 32 |170 32 | 38 32

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

DTFNR

s > % b
&
e

Applicable Inserts Shim Wrench  Clamp Clamp screw screw
Dimension(mm) &4 i IR I BT TER ERUBZ gy

A a9

DTFNR/L 2020K16 ® | ® 20| 20|125|20 | 25 | 28
[ BN J
Gl 252515025 | 30| 26 TN oo 160400 MT 1603 S3 DCL 2211 | DM 0520 DSP 0510
3225P16 ® | ® 32| 2517032 | 30 | 26
3232P16 ® | ® 3232|1701 32 | 38| 26

Applicable Inserts Shim Wrench  Clamp Clamp screw SCrew

or”‘

DVVNN 2020K16 20 | 20 |125|20 | 10 | 45
A 25251150 25 |12.5) 45 VN oo 160400 MV 1603 S3 DCL 3113 | M5X25 DSP 0510
3225P16 32| 25 |170| 32 [12.5| 45 (R~ )
3232P16 32|32 |170| 32 | 16 | 45

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZH|J7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

DVJNR

Applicable Inserts Shim Wrench  Clamp  Clampscrew
Dimension(mm) A R~ LUy I #F Fet RARigge

O | %

2020K16

2525M16 25125150125 182 1 45| |\ . 160400 MV 1603 | S3,54 | DCL3113| M5X25 | DSP 0510
3225P16 32| 25(170| 32 | 32 | 45 (RAR)

3232P16 32| 32|170|32 | 40 | 45

95°

Appliceble Inserts ~~ Shim ~ Wrench ~ Clamp  Campsuew  stew
Dimension(mm) JEA K~ MEHIA T WwF JEAR JERRIZLE  WBAT

DWLNR/L 2020K08 20| 20125 20| 25 | 32
s4
2525M08 25| 25]150| 25| 32| 31| N .1 080400 MW 0804 | DCL 2612 | DM 0625 | DSP 0612
3205P08 32| 25|170| 32| 32 | 31
3232P08 32| 32|170| 32| 39| 31
20| 20| 125| 20 25
2020K06 25 WN o5 060300 MW 0603 |  S3 DCL2211 | DM 0520 | DSP 0510
2525M06 25| 25|150 25| 30 | 25

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

WTQNR/L
105°

€
e

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA ) AEHIRTI WRAT PAE: T J A VY

WTQNR/L 2020K16 20| 20 [125| 20| 30 | 27
2525M16 25| 25 (150| 25 | 35 | 27 |  TNoo 16040s MT 1603 Sszf WTL16 | SZ0515
3232P16 32| 32|170| 32 | 45| 32 WMO0525
2525M22 25 | 25 |150| 25 | 38 | 36
TNoo 2204 00 MT2204 | S3S4 | WTL22 | SzZ0618
3230P22 32| 32 |170| 32 | 45 | 36

03° = -
I N
13

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) %Z'KRTJ‘ R A W4T JIEk WF JEAR L

V-N
WTJNR/L 1316H16 13| 16 |125| 31 | 20 | 20
1616K16 16 16 |125| 31 | 22 | 32
2020K16 20| 20 (125 31 | 25| 32|  TNoo 1604as MT 1603 | S5 WTL16 | SZ0515
2525M16 25 | 25 |150| 31 | 32 | 32 WMO525
3232P16 32 |32|170| 31| 39 | 36
2o25M22 2512511501 2532 | 38| o 220400 MT2204 | S354 | WTL22 | SZ0618
3232P22 32|32 |170| 32 | 39 | 38

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZHIJJE | TURNING TOOLS SANT

SMEIZET] External turning toolholders

WTENN

Applicable Inserts  Clamping screw Shim Wrench Clamp  (lamping stud
He

TR R J14 T i ik

WTENN 2020K16 | | 20 20125 20 10|

34
| |2
2525M16 25 25 150 25 12.5 33|  TNoo 160400 MT1603 | S5° | wTLie | szosts
3232P16 32|32 170 32 | 16 | 33 WMO525
2525M22 25| 25 150 25 12.5 33
B | | | TNoo 2204 oo MT 2204 53,54 wrLaz2 SZ 0618
3032P22 32|32 170 32 16| 33

95°

Applicable Inserts Shim Wrench Clamp  (Clamping stud

s Clamping screw S b
fER TR 2] Er #HF
WWLNR/L 2020K08 20 | 20 [125 25|27 32 | ' '
2525M08 25| 25 |150| 32 | 32| 32 WNoo 080400 WMO0525 | MW 0804 S3 WWL08 | SZ 0618
| [z [ sa
3232P08 20 | 32 |170 40 | 38 32

* FLIE T AR

THRAGEGFEHRAEHE X #1158 MEMEwww.hnsant.com

SBHI ZHI7JE | TURNING TOOLS

Internal turning toolholders HIFLZET]

il Symbol A E c S X - . :

: ﬁ{.._}_ —— ¥

‘@

L :
JHFARR | bt | WRESHF | BEIROGHF HakF {1 # =i
Type of shank | SteelShanks | *#*H#HL | Carbide | Steel Shank | Special Insert
0il Cooling Hole | Carbide Shank+ | ¢ Application
| 01l Cooling Hale

1.71# %= Tool holder type l7 NEEE
il Example I I Tool holder diameter

S 25 R - P C
S |

3.7HKE Tool length 4ERAR Clamping system 5.71h R Insert shape

M P s
. Lo O 3
100 -125i150 150‘130 200'2505300; 350 400 ﬁ E} [E]E} -

H K |"I N‘Q R|S T_ u v A R FLHF IR T I e
J | Topandholeclamping  Hole clamping Screw on 6 L @

' 1

N
0
95 f
J_B . - =11 -
| 6.71&E4 Tool holder style I 1.71REf Insert clearance angle
8.4#A @M Cutting direction I 94§74 Cutting edge length
R L D b
o .
-~ - - .
il 1 7
— — e . v LT
= = I -l

TRAKEFWRABEE R #H#5%5 MMiEwww hnsant.com




ZFHI7JB | TURNING TOOLS §AHI §AUI ZHI7JE | TURNING TOOLS

AFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]

MCKNR/L MDQNR/L

75° 6% _______________ 107°30’
[l |

Dmin

Applicable Inserts Shim Clampingstud ~ Clamp ~ Campingscrew — Wrench Nalin! Clampingstud ~ Clamp ~ Clamping screw Wrench

Dimension(mm) ZE4 fHR 0 ) Ak e Feb XCKIRET RE T RS ET i3 O )
S20Q-MCKNR/L12 26| 20|18 | 180 | 14 | 35 S$20Q-MDQNR/L1504 26|20 | 18 | 180 | 13 | 40 MCL1810| WS 061020
X MSP 613 | MCL1810 | WS 061020| S2.5,S3 X MSPS13 825,53
S25R-MCKNR/L12 32| 25 | 23 | 200 | 165 | 35 S25R-MDQNR/L1504 32|25 | 23 | 200 | 17 | 45
DNoo 1504
S32S-MCKNR/L12 40| 32 | 30 | 250 | 22 | 50 S32S-MDQNR/L1504 40|32 | 30 | 250 | 20 | 55 R
CNoo 120400 MSP617
S40T-MCKNR/L12 50 | 40 | 38 | 300 | 26 | 55 MG 1204 | MSP&17 | MCL1814 | WS 061025]  S3 S40T-MDQNR/L1504 50 | 40 | 38 | 300 | 24 | 55 D150 MCL2114 |wsost02s|  s3
S50U-MCKNR/L12 60 | 50 | 48 | 350 | 30 | 60 S32S-MDQNR/L1506 40|32 | 30 | 250 | 20 | 55
DNao 150600 MSP619
S40T-MDQNR/L1506 50| 40 | 38 | 300 | 24 | 55
95° 93°

Applicsble Inserts —— Shim  Clanpingstud ~ Clamp  Clampi Applicable Inserts i ; ;
. . 1y np ampingscreW — Wrench . . Shim Clampingstud ~ Clamp ~~ Clampingstrew — Wrench
Dimension(mm) AR~ fEIHI] JAE: 5T 15 D N LIt Dimension(mm) FEA] Uz LiVIb TIH B ET bt WCkIEET T
u 26|20 | 18 | 180 | 13 | 40 MCL1810 | WS 061020 = 28 | 20 | 18 | 180 | 17 | 40 MCL1810|WS 061020
S20Q-MCLNR/L12 X MSP 613 525,53 S20Q-MDUNR/L1504 X MSP613 525,53
S25R-MCLNR/L12 32|25 | 23 | 200 | 16 | 40 S25R-MDUNR/L1504 32 [ 25| 24 | 200 | 19 | 40 ONew 1504 MCL1814
S32S-MCLNR/L12 40| 32 | 30 | 250 | 20 | 50 | CNoo120400 S$32S-MDUNR/L1504 40 | 32| 30 | 250 | 22 | 45 e
MCL1814 | WS 061025 s3 MSP617
S40T-MCLNR/L12 50| 40 | 37 | 300 | 26 | 55 MC 1204 | MSP617 S40T-MDUNR/L1504 S0 | 40| 87 | 300 | 26 | 55 MCL2114 WS061025  S3
MD1504
S50U-MCLNR/L12 60 | 50 | 46 | 350 | 31 | 70 S32S-MDUNR/L1506 40 | 32| 30 | 250 | 22 | 45
DNoo 150600 MSP619
S40T-MDUNR/L1506 50 | 40 | 37 | 300 | 26 | 55

THRAKEFERERB X #EEZEMNwww.hnsant.com THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

MDZNR/L

93° :

#H = 71 A

Dmin

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

#H = 7 A

Applicable Inserts — Shim  Clampingstd~ Clamp  Campingscen  Wrench
Dimension(mm) JEA BERIRITT A Ak kT J£1=)yip W IBET 5T
S25R-MDZNR/L1504 36 |25 |23|200| 22 | 35 | 11 X MSP613 S2.5,83
$32S-MDZNR/L1504 43 |32 |30 250 | 26 | 40 | 12| DNaog 150400
S40T-MDZNR/L1504 50 |40 | 37 |300| 29| 50 111.5 N MSP617 | McL1814 | wsos1025|  S3
S32S-MDZNR/L1506 43 | 32| 30|250| 26| 40 | 12
DNoo 150600 MSP619
S40T-MDZNR/L1506 50 | 40| 37 |300| 29 | 50 |11.5
75°
6° )
7 —
h
|
s| o2
75\OV—
L

Applicable Inserts
B R

Shim
TR

(lamping stud
5T

Clamp
JEAR

(lamping screw

XK MRET

Wrench
w"T

O] B lleg®
O
S20Q-MSKNR/L12 26 | 20| 18 [180| 13 |157| 31 X MSP613 MCL1810 | WS061020
S25R-MSKNR/L12 32 | 25| 23|200| 17|12°| 35
- o SN 12040001 MCL1814| WS061025 | S2.5,S3
S32S-MSKNR/L12 40 | 32| 30 |250| 22 |17°| 40 MS 1204 | MSP617
S40T-MSKNR/L12 50 | 40 | 37 |300| 27 | 15°| 50

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

Dimension(mm) %A R~}

Applicable Inserts
R R

Shim
JJH

P

MVQNR/L
117°30° 6%—-—-:— -------------
h Dmin
| [ m \
_4."’_ [ ppe + _____
S\'<\ (e} ‘ AN 7/
e = XX

HIET

(lamping stud

Clamp
AR

(lamping screw

XK IRET

Wrench
EE

40 | YN 16040000

S25R-MVQNR/L16 32 | 25| 23 |200| 17 | 12°| 40
S32S-MVQNR/L16 42 | 32| 30 |250| 22 | 17°
S40T-MVQNR/L16 50 | 40 | 37 |300| 27 | 15° | 50

X

MSP510

MCL1814

MV 1603

MSP513

MCL2414

WS061025

52,83

MVUNR/L

93°

Dimension(mm) FE4s K~

Applicable Inserts
FEF IR

=

(@)

Shim
PAE:

e

(lamping stud
55T

Clamp
JEAR

(lamping screw

XEKERET

Wrench
H"T

8 | VNOII 1604L1C]

S25R-MVUNR/L16 36|25 (23|200| 20 | 40 | 8
S32S-MVUNR/L16 42| 32 | 30 | 250 | 23 | 40
S40T-MVUNR/L16 50 | 40 | 37 |300 | 27 | 55 | 10

X

MSP510

MV 1603

MSP513

MCL1814

WS061025

S2,S3

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

MVWNR/L

Applicable Inserts Shi : .
T O e

4

S25R-MVWNR/L16 36| 25|23 | 200 | 22 | 35 | 10 X MSP510
S32S-MVWNR/L16 48 |1 32130 | 250 | 25 40 | 10 | VNOII 1604000 MCL1814 | wsos1025| 2.3
S40T-MVWNR/L16 56| 40|37 | 300 | 29 | 45 | 11 MV 1603 | MSP513 ’
96°

Dmin

! /

Applicable Inserts S
Dimension(mm) 74 BT JAED

Clampingstud ~ Clamp ~ Clampingstrew — Wrench

AT JEB BCKIRET /T

S25R-MVXNR/L16 32| 25| 23 | 200 | 17 | 55 X MSP510

S32S-MVXNR/L16 42132 | 30 | 250 | 21 | 60 | yNr] 16040000 MCL2414 | WS061025 | 52,53
MV 1603 | MSP513

S40T-MVXNR/L16 50| 40 | 38 | 300 | 25 | 68

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

#H = 7 A

MWLNR/L

95°

Dimension(mm) 4 R ~f Gyl Sﬂi*é 5T

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

Applicable Inserts him

Clampingstud ~ Clamp ~ Clampingscrev — Wrench
AR REKIRET  WF

0 A e

91°

Dimension(mm) JEA ) R YA 5T

S20Q-MWLNR/L08 25|20 | 18 180 | 145 | 36
X MSP613 | MCL1810 |WS061020 | S2.5,S3
S25R-MWLNR/L08 32| 25| 28 200 17 40
S32S-MWLNR/L0O8 41|32| 30 250 22 50 | WNLICJ 0804011
S40T-MWLNR/L0O8 50| 40| 37 | 300 27 55 MW 0804 MSP617 | MCL1814 |WS061025| S3

Dmin

Applicable Inserts Shim Clampingstud ~ Clamp ~ Clampingscrew  Wrench
FeAR  XUCKIBET T

“ll *

$20Q-MTFNR/L16 25| 20| 18| 180 | 13 | 35 oLta10 | weoeozn
S25R-MTFNR/L16 32| 25|23 | 200 | 16 | 40 X | MSP510

$325-MTFNR/L16 40| 32| 50| 250 | 20| 45 | TN 1604 | |y yeral o |MOLIEN4 | weostoas 52,83
S40T-MTFNR/L16 0| 4037 | 300 | 25 | s0

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZH|J7JE | TURNING TOOLS §AHI

MTQNR/L

107.5° 6

sho75e % T \

Applicable Inserts  Shim  Clamping stud Clampi
Dimension(mm) A< WO T MO R R

S20Q-MTQNR/L16 25 | 20 | 18| 180 | 14 | 35 X MsP510 | MCL1810 | WS061020
S25R-MTQNR/L16 32 | 25 | 23| 200 | 18 | 35 sos3
TN 16040001 ,
$32S-MTQNR/L16 40 | 32 | 30| 250 | 21 | 40 MCL1814 | WS061025
MT 1603 | MSP513
S40T-MTQNR/L16 50 | 40 | 37| 300 | 25 | 50

93° 6% ______________ -

Applicable Inserts — Shim  Clampingstud | Uampi
Dimension(mm) 4 By JJH I’E%% Ei?ip YX&TEZ’T W§%€h

S25R-MTJUNR/L16 32 | 25 | 23 | 200 | 15 | 40 X MSP510
$32S-MTJNR/L16 40 | 32 | 30 | 250 | 18 | 45

TNOO 1604000 | MT 1603 | MSP513 | MCL1814/WS061025| S2,S3
S40T-MTJINR/L16 50 | 40 | 37 | 300 | 24 | 55

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

§nu1 ZFHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

MTUNR/L
93° 6% ______________ -
Dmin @
=1
e L d o

Apphcable Inserts Shi (lamping stud i
Dimension(mm) JEA razE PN jjl*g aggr}égTsu C!%’??%p Xﬂ;fimgis;g% W*r&en%ch

S20Q-MTUNR/L16 25 | 20 | 18 | 180 | 13 | 31 X MSP510 MCL1810 | WS061020
- 32 | 25 | 23 | 200 17 | 35
S25R-MTUNR/L16 TNCI 160401 s2.53
— 40 | 32 | 30 | 250 | 22 | 40 MCL1814 WS061025
ST LT MT 1603 | MSP513
S40T-MTUNR/L16 50 | 40 | 37 | 300 | 23 | 50
60° .
Y o e —— —
|
Dmin
h .
—_——— LN . pa— . | \\
S| 60O — L
60 d =
e
L

Applicable Inserts Shim  Clmpingstud ~ Clamp ~ Campingstrew  Wrench

Dimension(mm) AL eI PAE: BT b XCKIBET RTF

0 »*

S20Q-MTWNR/L16 27| 20| 18 | 180 | 15 | 31 « MSP510 MCL1810| WS061020

S25R-MTWNR/L16 32| 25| 23 | 200 | 17 | 35

S32S-MTWNR/L16 40 | 32| 30 | 250 | 22 | 42 | TNOIC) 1604000] MCL1814 |WS061025| S2,S3
MT 1603 | MSP513

S40T-MTWNR/L16 50 | 40 | 38 | 300 | 27 | 50

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

PCLNR/L

95°

Applicable Inserts
ERIIRTI A

Screw

BT

Wrench

T

#H = 71 A

Lever

FLAT

Shim
PAE:

Shim pin

B

S16Q-PCLNR/L09 20 | 16 | 15 |180| 10 |-12°| 30
S20Q-PCLNR/L09 25|20 | 18 |180| 12 |-11°| 30 | CNoo 090300 VHX0509 S2 Lv3C - -
S25R-PCLNR/L09 32| 25| 23|200| 15 |-10° 35
S20Q-PCLNR/L12 25|20 | 18 |180| 13 |-11° 35

VHX0613 | S2.5 LV4A — -
S25R-PCLNR/L12 32| 25| 23 [200| 15 | 12°| 40
S32S-PCLNR/L12 44 | 32 | 30 |250| 22 |-10° 50

CNoo 120400

S40T-PCLNR/L12 54 | 40 | 37 |300| 24 |-10°| 55 VHX0821|  S3 Lv4 PC12318| SP4
S50U-PCLNR/L12 63 | 50 | 47 | 350| 27 |-10° 58
S50U-PCLNR/L19 63 | 50 | 47 |350| 32 |-10°| 70 | CNoo 190600 | VHX1027 | S4 LV6 PC19476| SP6

PDSNR/L

62° 30

Dimension(mm) A< R ~f

Applicable Inserts

FEFRT

Screw
WRET

Wrench
HwF

Lever

ATAF

Shim
JIH

Shim pin
A

S32S-PDSNR/L15 40| 32| 30| 250 |23.5| 45 | 9

DNoo 150600 | VHX0821 S3 Lv4B | PD15318 SP4
S40T-PDSNR/L15 50 | 40 | 37 | 300 |28.5| 43 | 11
S32S-PDSNR/L15-3 40| 32| 30| 250 |23.5| 45 | 9

DNoo 150400 | VHX0821 S3 Lv4 PD15318 SP4
S40T-PDSNR/L15-3 50 | 40 | 37 | 300 |28.5| 43 | 11

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

#H = 7 A

PDUNR/L
93°

Dmin

Applicable Inserts Screw  Wrench
Dimension(mm) A ] ) EdzElpaNa WRET T

Shim
A

Lever

Shim pin
FLAT

o

S20Q-PDUNRIL 11 25 | 20 | 18 | 180 13 |—16° 30
VHX0512 s2 LV3D - -
S25R-PDUNR/L 11 32 | 25| 23 | 200 17 |-13° 35 | DNoo 110400
S32S-PDUNR/L 11 40 | 32 | 30 | 250| 22 |-16°| 40 VHX0617 | S2.5 Lv3 | PD11270| SP3
S32S-PDUNR/L 15 40 | 32 | 30 [250| 22 |-16°| 50
DNoo 150600 | VHX0821|  S3 LV4B | PD15318| SP4
S40T-PDUNR/L 15 50 | 40 | 37 | 300| 27 |-11°| 50
S325-PDUNRIL 15-3 40 | 82 | 80 | 250| 22 |-167) 50 DNao 1504 VHX0821|  S3 LV4 PD15318 | SP4
oo (u]u]
S40T-PDUNR/L 15-3 50 | 40 | 37 | 300| 27 |-11°| 50

75° %f_(__: _____________

Applicable Inserts Screw  Wrench
fER )R WRET T

o

Shim
T

Lever

Shim pin
FLAF

Y]

S25R-PSKNR/L 12 32| 25| 23 [200| 17 |-12°| 42 VHX0613 | S2.5 LV4A - -
S32S-PSKNRIL 12 44 | 32 | 30 |250| 22 |-10°| 45 | SNoo 120400 Vhix S T P

0821 3 12318 4
S40T-PSKNR/L 12 54 | 40 | 37 | 300| 27 |-10° 50

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

PTFNR/L

90°

Dimension(mm) %A% R~

Applicable Inserts
R R

Screw
WRAT

Wrench
T

#H = 71 A

Lever

FLAT

Shim Shim pin
JIE Y

#

S16Q-PTFNR/L 11 20 | 16 | 15 180 11 28
S20Q-PTFNR/L 11 25|20 | 18 | 180 | 13 | 31 TNoo 110300 VHX0509 S2 Lv2 - -
S25R-PTFNR/L 11 32| 25| 23 200 17 35
S25R-PTFNRIL 16 32| 25| 23 | 200 | 17 | 42 VHX0512 | S2 LV3B - -
S32S-PTFNR/L 16 44 | 32 | 30 | 250 | 22 | 50 | TNoo 160400

VHX0613| S2.5 LV3 PT16476 SP3
S40T-PTFNR/L 16 54 | 40 | 37 300 27 55

PWLNR/L

95°

Applicable Inserts Screw  Wrench  Lever Shim  Shim pin

Dimension(mm) JEA ) I WRET BT ATHF Ak R
S16Q-PWLNR/L06 20 | 16| 15 |180| 11 |-13°| 25
S20Q-PWLNR/L06 25| 20| 18 | 180| 13 |-13°| 32 WNoo 060400 VHX0512 S2 LV3B —_ —
S25R-PWLNR/L0O6 32| 25| 23 |200| 17 |-13° 35
S20Q-PWLNR/L08 25| 20| 18 |180| 13 |-13°| 32

o VHX0613 S2.5 LV4A - -

S25R-PWLNR/LOS 32| 25| 23 |200| 17 |-13° 45 WNos 080400
S32S-PWLNR/L08 40 | 32| 30 |250| 22 |-13°| 50 VHX0821 s3
S40T—PWLNR/LO8 50 | 40| 42 |300| 30 |-13°| 55 Lv4 |PW08318| SP4

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

#H = 7 A

SCLCR/L
95°

Applicable Inserts
Uz [sapansy
Stockf:#7
od S e
R|L
S07K-SCLCR/L 06 9 7 6 125 4.6 15
- 10 | 8 7 125 45 | 14
Slese R CCuT 060200 L60M2.5X5 T08
S10K-SCLCR/L 06 12 10 9 125 6 17
S12M-SCLCR/L 06 16 | 12 11 150 7 17
S12M-SCLCR/L 09 16 | 12 11 150 8 25
S16Q-SCLCR/L 09 20 | 16 | 15 180 9 27
CCuT 097300 L60M4X8 T15
S20Q-SCLCR/L 09 25 | 20 | 18 180 11 28
S25R-SCLCR/L 09 32 | 25 23 200 14 35
S25R-SCLCRIL 12 32 | 25 | 23 200 17 38
S32S-SCLCRIL 12 36 | 32 | 30 250 18 45 CCaT 120400 L60M5X12 T20
S40T-SCLCRIL 12 50 | 40 | 37 300 27 60
95°

Applicable Inserts
R R

SO8K-SCLCR/L 06H09 9 | 8 | 7 |125 |43 |-15°| 15
S10K-SCLCR/L 06H11 11110 | 9 |125 | 55 |-13°| 16 CCoT 060200 L60M2.5X5 Tos
S12M-SCLCR/L 06H13 13 | 12 11 | 150 | 6.5 |-10°| 17
516Q-SCLCR/L 09H17 17 | 16 | 15 | 180 | 85 |-12°| 27 CCuT 09T300 L60M4X8 Ti5

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



S | INYS

ZHIJ7JE | TURNING TOOLS

AFLZET] Internal turning toolholders

#H = 71 A

SCKCR/L
75°

0%

=

Dmin

Wrench
HBF

Applicable Inserts Screw
FERIT )y LT

Stock 77 v
S (5} e

R|L
S08K-SCKCR/L06 10 | 8 | 75 | 125 | 55 | 13 | 15
S10K-SCKCR/L06 13 10 9 125 7 12 15 CCo T 060200 L60M2.5X5 Tos
S12M-SCKCR/L06 16 12 11 | 150 8 10° 20
$12M-SCKCR/LO9 16 |12 | 11 150 | 8 | 12° | 20
S$16Q-SCKCR/L09 20 16 15 | 160 10 10° 25 CCo T 09T300 L60M4X8 T15
520Q-SCKCR/L09 24 | 20 | 19 180 | 13 | & | 30
525R-SCKCR/L09 a1 | 26 | 24 200 | 16 | & | 35

SDQCR/L
107°30'

Applicable Inserts
Dimension(mm) ZEAs R~ azNapAl

S08K-SDQCR/LO7 10| 8 | 7 [125| 6 | -8

S10K-SDQCR/L 07 13 10| 9 1125 7 |8/ 20 | it o70m0s LEOM2.5%5 08
S12M-SDQCR/L 07 16 | 12| 11 |150| 9 | -8°| 22

S$16Q-SDQCR/L 07 20| 16 | 15| 180| 11 | -6°| 27

$20Q-SDQCR/L 11 25| 20| 18 |180| 13 | -6°| 35 DCoT 11T3oo L60M4X8 T15
S25R-SDQCR/L 11 32| 25| 23 |200| 17 | -6°| 38

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

#H = 7 A

SDXCR/L
120°

—

==

Applicable Inserts
ERIRIJT R
S10K-SDXCR/L 07 13| 10| 9 | 125 7 -8° | 18
S12M-SDXCR/L 07 16 | 12 | 11 | 150 8 -8° | 20 DCoT 070200 L6OM2.5X5 To8
S$16Q-SDXCR/L 07 20 | 16 | 15 | 180 10 -6° | 25
S20Q-SDXCR/L 11 25| 20| 18 | 180 13 -6° | 33
S25R-SDXCR/L 11 a2 | 25| 23 | 200 16 & | 32 DCoT 11T3o0 L60M4X8 T15

62°30'

Applicable Inserts
fER )R

S12M-SDWCR/L 07 19| 12| 11 |125| 11| -8°| 15| 55

S16Q-SDWCRI/L 07 23| 16 | 15 | 180|12.5 -8 | 15 5 DCoT 070200 L60M2.5X5 To8
S20Q-SDWCR/L 07 27 | 20 | 19 | 180|14.5| -8°| 22 | 55

S20Q-SDWCR/L 11 27 | 20 | 19 | 180|14.5 -6°| 25 6

S25R-SDWCR/L 11 32| 25| 24(200| 18 | -6°| 25 7 DCoT 11T3oo L60M4X8 T15
S32S-SDWCRI/L 11 40 | 32 | 30 |250|21.5| -6°| 40 | 6.5

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZFHI7JB | TURNING TOOLS §AHI §AUI ZHI7JE | TURNING TOOLS

E
AFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]
SDUCR/L SSKCR/L

93° 75° .

S/ ] [ ]

T=—— - o
N T \_—Bjx
s| (@ N 0
e mi
L

Applicable Inserts . . Applicable Inserts Screw Wrench

G lapANa Dimension(mm) 24~ I ) R WRET T
S08K-SDUCR/L07 1308 | 75| 125 8 | -8° 4 S12M-SSKCR/L 09 16 | 12 | 11 | 150 | 9 | -10°| 25
S10K-SDUCR/L 07 1310 | 9 | 125| 7.7 | -&° 3 DCa T0702cc L60M2.5X5 To8 S16Q-SSKCRI/L 09 20 | 16 | 15 | 180 | 11 | -11°| 30
S12M-SDUCR/L 07 16 | 12 | 11 | 150| 85| —8°| 22 | 3 S20Q-SSKCR/L 09 25 | 20 | 18 | 180 | 13 | —6° | 35 SCo T 097300 L60M4X8 T15
$16Q-SDUCR/L 07 20 | 16 | 15 | 180| 11 | —6°| 27 | 35 S25R-SSKCR/L 09 32 | 25 | 23 | 200| 17 | —8° | 40
$20Q-SDUCR/L 11 25 | 20 | 18 | 180|14.5| —6°| 30 | 5.5 DCo T11T305 L60M4X8 Ti5 S25R-SSKCRI/L 12 82 | 25 | 23 | 200 17 | -8° | 40 SCo T 120400 L6OM5X12 T20
S25R-SDUCR/L 11 32 | 25 | 23 | 200|185| —6°| 35 | 7 S32S-SSKCR/L 12 40 | 32 | 30 | 250 | 22 | _10°| 45

SDZCR/L

SSSCR/L

93° o -
0% ______________ _ 45 AT T
] . . _‘,_f?"'/{ t
- h Dmin O T '
s / _ bl
f e L d 61 T : rf : !
@“; i ”.._a'&_“ I

Applicable Inserts Screw Wrench
R =34 T Applicable Inserts Screw

R WRET

Stock 17
R | L
S20Q-SDZCR/L11 27 | 20 | 18 | 180 | 16 | -6°| 20 | 75
& S12M-SSSCR/L 09 17 12 | 11 | 150 | 10 | -10°| 15 | 4.5
S25R-SDZCRI/L 11 33 | 25 | 23 |200 | 19 | -6°| 30 | 7.5 G T11T8, LsoMax s i
S32S-SDZCR/L 11 40 | 32 | 30 |250 | 23 | —6°| 35 | 8.4 S16Q-SSSCRIL 09 22 | 16 | 15 | 180 | 13 | -11°| 25 | 55
S40T-SDZCRIL 11 50 | 40 | 37 1300 | 28 | -4°| 50 | 9.4 S20Q-SSSCR/L 09 25 | 20 | 18 | 180 | 15 | —6° | 30 | 6 SCoTO09T3o0 | LEOM4XS 5
S25R-SSSCR/L 09 32 25 | 23 | 200 | 17 | -8° | 35 | 55
S25R-SSSCRIL 12 32 | 25 | 23 | 200| 17 | 8| 35 | 55 | g0 T 10040 LEOM5X12 20
S32S-SSSCRI/L 12 40 | 32 | 30 | 250 | 22 | -10°| 40 7

THRAKEFERERB X #EEZEMNwww.hnsant.com THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZH|J7JE | TURNING TOOLS §AHI

STFCR/L

91°

Dmin

Applicable Inserts
RN A

SO8K-STFCR/L09 10|08 7 | 125 | 55 8

S10K-STFCR/L09 12 10 9 125 6.8 10 TCo T 090200 L60M2.2X6 TO6
S12M-STFCR/L09 16 | 12 11 150 8 10

S12M-STFCR/L11 14 12 11 150 6.5 25

S16Q-STFCRI/L 11 18 16 15 180 9 25 TCo T 110200 L60M2.5X5 TO8
S20Q-STFCR/L 11 25 20 18 180 11 25

S25R-STFCR/L 16 32 25 23 200 17 40

S32S-STFCRIL 16 s6 | 3 | s | 250 | 18 | so | 00T L6OM4X8 Tis
S40T-STFCRIL 16 50 | 40 | 37 | 300 | 25 | 60

STWCRI/L
60° =]

Applicable Inserts
ERT )
S10K-STWCRI/L 11 14 | 10 9 | 125 | 8 |-10°| 14
S12M-STWCRI/L 11 16 | 12 11 | 150 | 9 |-13°| 25
S16Q-STWCRI/L 11 20 | 16 | 15 | 180 | 11 |-10°| 30 TCo T 110200 L60M2.5X5 T08
S20Q-STWCRI/L 11 25 | 20 | 19 | 180 | 13 | —6° | 30
S25R-STWCRI/L 11 32 | 25 | 24 | 200 | 17 | -6° | 35
S20Q-STWCRIL 16 25 | 20 | 19 | 180 | 145| -3° | 36
S25R-STWCRI/L 16 32 | 25 | 24 | 200 | 17 | —6° | 49
S32S-STWCRIL 16 39 | 32 | 30 | 250 | 22 |_10°| 50 TCo T 16T300 LBOM4X8 Ti5
S40T-STWCR/L 16 50 | 40 | 37 | 300 | 25 | _g° | 50

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

910 0°
[
Dmin
h
53/9112
e L 9
Applicable Inserts
GaELpANy
S08K—STFPR/L09 10 | o8 7 | 125 5 |-10°| 14 TPo T 090200 (it
S10K-STFPR/L11H11 11 10 9 125 | 55 | -13°
S12M-STFPRIL 11H13 13 | 12 | 11 | 150 | 6.8 | ~10° TPO T 110800 zeceny | -0OME2XS To8
S16Q-STFPR/L 11H17 17 16 15 | 180 | 8.8 | —6°
93° oY
an ="
Dmin
0

Applicable Inserts N5 Wrench
R0 WRET EGR

Stock 17
od s g e

S08K-STUCR/L09 11 | 08 | 7 | 125 | 55 |~15°

. - 11 16 125 | 55 | -15° | 24
SOOIl L0 E 15 TCo T 090200 L60M2.2X6 Toe
S10K-STUCR/L09 13 10 9 125 6 |-13°| 10
S10K-STUCR/L09-A16 13 16 15 | 125 7 |-13| 30
S10K-STUCR/L11 13 10 9 125 7 |-12°| 10
S10K-STUCR/L11-A16 16 16 15 | 125 7 |-12°| 30

— 16 12 11 | 150 7 |-10° | 25
S12M-STUCR/L11 TCo T 110200 L60M2.5X5 TO8
S12M-STUCR/L11-A16 16 16 15 | 150 7 |-10° | 30
S16Q-STUCR/L11 20 16 15 | 160 9 | -8 | 25
S20Q-STUCR/L11 25 20 19 | 180 | 11 |-6° | 25
S25R-STUCR/L11 31 25 24 | 200 | 15 | -4 | 34
S20Q-STUCR/L16 25 20 19 | 180 | 13 | -8° | 36
S25R-STUCR/L16 31 25 24 | 200 | 17 | -6 40 TCo T 16T300 L60MAXE s
S32S-STUCR/L16 39 32 30 | 250 | 18 | -4° | 50
S40T-STUCR/L16 50 40 38 | 300 | 25 | -2° | 60

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZEI|7JE | TURNING TOOLS §AHI

AFLZET] Internal turning toolholders

SVQCR/L
107.5°

Applicable Inserts Screw
FERETT IR4ET

Stock [i77
Dmin| ¢d | h | L s | ¢ e f
R|L
S20Q-SVQCRI/L16 27 | 20 | 18 | 180| 15 | -8° | 40 | 6.0
S25R-SVQCR/L16 32 | 25 | o3 | 200 |18.5|-8° | 45 | 6.9 VCo T 16040 o L60M4X8 T15
S32S-SVQCRI/L 16 40 | 32 | 30 |250| 22 | _g° | 56 | 8.4
S40T-SVQCR/L 16 50 | 40 | 37 |300| 27 | _g° | 64 | 9.4

SVQBR/L
107.5°

S
;‘ o
g

4 5

Applicable Inserts Wrench
FER Ty w"F

S20Q-SVQBR/L16 27 | 20| 18 |180| 15 | -8°| 40 | 6.0
S25R-SVQBR/L16 32 | 25| 23 | 200 185 -8’ 45 | 6.9 VBo T 16040 o L6OM4X8 Ti5
S32S-SVQBR/L 16 40 | 32| 30 | 250 | 22 | _8°| 56 | 8.4
S40T-SVQBR/L 16 50 | 40| 37 |300| 27 | _g°| 64 | 9.4

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

SVUCR/L
93°
Y£ _______________ ]
h Dmin
_____ N
. \\e ///

Applicable Inserts Screw
ERIIRTI R B4

$16Q-SVUCR/L11 22 | 16 | 15 | 180 | 135 | 24 | 6 VCo T 110300 L60M2.5X5 Tos
S20Q-SVUCR/L16 31 20 19 | 180 | 19 32 | 95
S25R-SVUCR/L16 35 | 25 | 23 | 180 | 20 | 32 | 8.4 VCo T 1604c0 L60M4X8 T15
S325-SVUCRI/L 16 42 | 32 | 30 | 250 | 22 49 | 84
S40T-SVUCRIL 16 51 | 40 | 37 | 300 | 27 | 49 | 11
SVWCR/L

Dmin

\\ //

NE

Applicable Inserts

FEFIRIT) b

Stock 77 w

R | L
S16Q-SVWCR/L11 25| 16 | 15 | 180 | 14 | 25 | 6.9 VCo T 110300 L60M2.5X5 T8
S20Q-SVWCR/L16 32| 20 | 18 | 180 | 22 | 25 |129
S25R-SVWCR/L16 36| 25 | 23 | 200 | 22 | 30 | 10 VCo T 160400 L60M4X8 T15
S32S-SVWCRIL 16 45| 32 | 30 | 250 | 27 | 42 |122
S40T-SVWCR/L 16 55| 40 | 37 | 300 | 30 | 50 | 11

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZEE|7JE | TURNING TOOLS §AMI

AFLZET] Internal turning toolholders

SVXCR/L

Applicable Inserts
iy
S16Q-SVXCR/L11 20 | 16 | 15 180 | 95 | 35 | 2 VCo T 110300 L60M2.5X5 TO8
S20Q-SVXCR/L16 25 | 20 | 18 180 13 | 40 | 4
S25R-SVXCR/L16 32| 25 | 23 200 | 145 | 40 | 3 VCo T 160400 L60MAXS 5
S32S-SVXCRI/L 16 40 | 32 | 30 250 21 62 | 6
S40T-SVXCR/L 16 50 | 40 | 37 300 24 | 62 |55
93°
Dmin
TN
i I
//
g

Applicable Inserts Wrench
Dimension(mm) A 7 fEFIR ) F T

S16Q-SVZCRI/L 11 22|16 | 15 | 180 | 185| 15 | 6.5

VCo T 110300 L60M2.5X5 T08
S20Q-SVZCR/L 11 28 | 20 | 18 180 16 22 | 75
S25R-SVZCR/L 16 34 |25 | 23 | 200 | 21 30 | 10
S32S-SVZCR/L 16 40 | 32 | 30 | 250 | 23 | 35 | 9 VCo T 160400 L60M4X8 T15
S40T-SVZCRI/L 16 50 | 40 | 37 300 29 40 | 11

THRAKEFE RSB X #EEEEMNEwww.hnsant.com

§nuI ZFHI7JE | TURNING TOOLS

en steel Internal Turning tools $2$XFLZET]

SWUBR/L

D ] S
—

Applicable Inserts
R R

C05H-SWUBR/L06 6 5 45100 | 3 |-13°| 7

C06J-SWUBR/L06 7 | 6 | 55| 110| 35|13 7 WBaT0601m

W

L60M2.0X4.3 T06

SCLCR/L

Applicable Inserts
R R

C07K-SCLCR/L06 10 | 7 |65 | 125 | 45 |-15°| 8
C08K-SCLCR/L06 10 8 | 75 | 125 5 | -15°| 8
C10M-SCLCR/L06 12 | 10 | 95 150 | 6 |-13°| 14 CCaT0602 00 Lo0M2.5X5 To8
C12Q-SCLCR/L06 14 | 12 | 11 [ 180 | 7 |-10°| 14
C12Q-SCLCR/L09 16 | 12 | 11 | 180 | 8 |-10°| 14
C14Q-SCLCR/L09 16 | 14 | 13 | 180 | 8 |-12°| 18
C16R-SCLCR/L09 18 | 16 | 15 | 200 | 9 |-12°| 20 CCoT09T3an L60M4XS T15
C20S-SCLCR/L09 22 | 20 | 19 | 250 | 11 | _g°| 26
C25T-SCLCR/L09 28 | 25 | 23 | 300 | 14 | —6°| 29

T BRARALDFRITRUTRSNATR AR SHE LR

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZFHJ7JB | TURNING TOOLS §AMI §AUI ZFHI7JE | TURNING TOOLS

24NN FLZEJ] Tungsten steel Internal Turning sten steel Internal Turning tools $35XARFLZET]

STFCR/L SDQCR/L

Applicable Inserts Screw
GaEElapANa WRE]

Applicable Inserts
fERINTI R

Stock fEfi .
S () e

R|L
CO8K-STFCR/L09 10 | 8 | 75| 125 5 | -10| 8 C10M-SDQCR/L07 13 | 10 | 95 |150| 7 | -8 | 14
C10M-STFCR/L09 12 110 | 95 | 150 | 6 | -10| 14 TCoT090200 L60M2.2X6 To6 C12Q-SDQCR/L07 16 | 12 | 11 | 180 | 9 | -8 | 14 DCoT0702m0 L60M2.5X5. 0 T08
C12Q-STFCR/L09 16 | 12 | 11 | 180 | 8 -5 | 14 C16R-SDQCR/L07 20 | 16 | 15 | 180 | 13 | -6° | 20
C12Q-STFCR/L11 16 | 12 | 11 | 180 | 8 | -6 | 14
C16R-STFCR/L11 18 | 16 | 15 | 200 | 9 | -6 | 20 TCoT110210 L60M2.5X5.0 To8
C20S-STFCR/L11 25 | 20 | 19 | 250 | 12 | -6 | 26 SDUCRIL

STUPR/L

Applicable Inserts
ERINTI R

Applicable Inserts
FEIG I " C10M-SDUCR/LO7 13| 10| 95150 7 | -8 | 14
C12Q-SDUCR/L07 16 | 12 | 11 | 180 | 9 | -8 14 DCLT0702 L60M2.5%5. 0 108
i ) ‘ C16R-SDUCR/L07 20 | 16 | 15 | 200 | 11 | -8 | 20
C20S-SDUCR/L07 25 | 20 | 19 | 250 | 13 | -6° | 16
CO8K-STUPR/L09 )8 |75/125 5510 8 & RAENAL TR A TR SRR RS TR AL S P iR
C10M-STUPR/L09 13|10 | 95(150| 65| -8 | 14 TP5T090200 (5) L60M2.5X5.0 Tos Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.
C12Q-STUPR/L09 16 | 12 | 11 [180| 75| -6 | 14
C12Q-STUPR/L11 16 | 12 | 11 180| 75| -6 | 14
C16R-STUPR/L11 18 | 16 | 15 |200| 9 | -6 | 20 TPoT110300 (RE) L60M3.0X7 T10
C20S-STUPR/L11 25 |20 | 19 |250| 12 | -6 | 26

T BIMAEALDTRETRETRIAFRSHIP L SHEPEE

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THRAKEFE RSB X #EEEEMNEwww.hnsant.com THRACEFBRERE X #EEEMNEwww.hnsant.com




S | INUS

ZHIJ7JE | TURNING TOOLS

IRETIRELSRAMN Threading toolh

R
T h %
4t Right
HUbRyE 2L B:h=8mm, #7408
Integers to be proceeded by 0
L eg:h=8 indicated by 08
e BJIAT 002
ZeY) Left
3.E0HIA M ANNREE
Cutting direction Tools-tip height
JEH] Example I
1LEEAR

|
ZE.%ZSUT?:'& Type of thread

Clamping System

C
JEAR R
Top clamping
N WIZ 4 Internal
S
W | 424 Extemal
BRET He B 5K
Screw on

A

@\

fi:b=8mm, k5 408
Integers to be proceeded by 0
eg:b=8 indicated by 08

i BEIAF R AR R

5.7 E shank width

B o= 7 A

H 100
K 125
M 150
P 170
Q 180
R 200
T 250

6.7] FF-[:&}E Tool holder length
]

|
25 25 M 16

7.71F R~ Insert dimension

éﬁi Cutt%gﬁ e)fizgiili%ngth Inscribeljc? Jgle dia.
11 11 6.305

16 16 9.525

22 22 12.70

27 27 15.89

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

B o= 71 A

ZHIJ7JE | TURNING TOOLS

Threading toolholders 184(7]

JMBN%ET] External threading tools

SEavsEEpll

Dimension(mm) HEA R~}

Applicable Inserts
T

Screw
JI 25T

Shim
JJ#

Shim Screw
JIHIEET

Stock i1
a|h b|L|s > i
R| L
1010H11H 10| 10| 10 | 100| 16
R/LT11.01W-00GM | L60 M2.5 x 6 — — Tos
1212H11H 12| 12| 12 | 100| 16
B SR T
2020K16H 20| 20| 20 | 125/ 25
2525M16H 25| 25| 25 |150| 32| R/LT16.01W-0oGM | L60 M3.5x 12 TT16-00 $504008 ;;55
3225P16H 32| 32| 25 [170] 32 ’
3232P16H 32| 32| 32 |170| 40
2525M22H 25| 25| 25 | 150| 32
3225P22H 32| 32| 25 |170| 32 | R/LT22.01W-ooGM | LBOM5x16 |  TT22-00 $504008 STZZ(;
3232P22H 32| 32| 32 |170] 40 '
4040S22H 40 | 40| 40 | 250| 50

*iFH: BRETNREWNSEK.IMNEEA Note:The insert is Zccet brand.

SWR/L

Applicable Inserts Screw Shim Screw
Dimension(mm) 4% R~} R ) JIF 24T JIHAZET
1010H11 10 | 10| 10 |100| 16 11ERIL L60 M2.5 x 6 . o
IREAES L N B 12 12] 121100 16|
1616H16 16 | 16| 16 |100| 20
2020K16 20 | 20| 20 | 125] 25
2525M16 25 | 25| 25 |150| 32 16ER/L L60 M3.5x 12| TT16-00 $S04008
3225P16 32 | 32|25 |170| 32
3232P1 6 32 32 32 1 70 40 ...........................................................................................................
2525M22 25| 25| 25 |150| 32
3225P22
82| 8225 170] 82 22ER/L L60 M4x 16 | TT22-oo
3232P22 32 | 32| 32 [170| 40
$S04008
4040822 40 | 40 | 40 | 250| 50
3232P27 32| 32| 32 |170| 40
27ERIL L0 M6x 16 | TT27-oo
4040S27 40 | 40| 40 |250| 50

T20
S2.5

*iEM: BETHEWSEISOEIRTI F . Note:The insert is ISO brand.

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

¥2477] Threading toolholders g holderscode key YIBHIiE I ap 2 RN
A7) Intermat threadine tot LMD T4 S
ntérna reading toois Parting and grooving holders code key

1

: L. AMNE i 1) T DR T R
h g " . External and surface cuttin
_ < i T, ! A,¢Dm1n g
s B\ % N .
> L1 bd 1. {ERe 2. MIA=
Bl 4i 7] . Q : YN E : SNEIEDH) 5. PMENTIESE 6. tIMETITIRERE 8. SAIMEIRE
P : {Ikf F : immEIHl

Q F G D 25 25 R 22 52 H

Applicable Inserts Shim Screw
Dimension(mm) A MK F Ik URET T JIRIRE

Stock JF A7 | | | | I
1 1 1 1
SNR/LO010K11H 10 |125 12| 6 |9.5| 32 — g o=
LT11.01N-00GM — L60 M25x5 |  TO8 3. BERS5DA 4 NEOA 7 JENELE o BEETIER
(SNRACOIKITH  N12)128] 1 16] 6 [115)82) RTITOINZGOGM | i SREAENS  WDNENS RELE S E R 10, SHENIETITIR
= . . . = o 3 N
SNR/L0013M16H 13 [150 16|10 (155 32 —HH RN —ET] S B7] N - bt SN B H:&Bk L:&sk
_ PPeidl e B e : A ( SMEIEDHE )
SNR/LO016M16H 16 |150 20 (12 [155] 40 LT16.01N aM T15 w :
SNR/L0020Q16H 20 |180| | 25|14 195 40 R L60 M3.5x8
RT16.01N-ooGM TT16 T T
_ SNR/ALOO25R16H| | 251200 |30/16 |24 | 45 T15 SS04008 SNERzI AR,
SNR/L0032S16H 32 |250| | 38|20 30|55 825 Internal cutting
_SNR/ALO025R22H| | 251200 1380|1824 | 45| RBToo 01N-0oGM
SNR/L0032S22H 32 |250 3812230 | 55| LT22.01N-ooGM | 1722 L60 M5 x 16 ;205 §504008
SNR/L0040T22H 40]300] | 46126 38 | 60 1. IENESAR 2. DHFER 5. BRIERS 6. XRITIHTIEK
*iFH: RETNHREWNSEKRIMNEER. Note:The insertis Zccet brand.
| I .
Applicable Inserts S € Shim Screw
Dimension(mm) HEA: AT S IE T C 32 S-Q G D R 11-44
] — | =
|
Stock 1T
. 7. JERNERF o
3. JIFKE 4. YIETNRS - 8. BEATEIRE 9. R/MINITHR
NR/LO010K11 10 |125 121 6 |9.5| 32 : .
SNR/L0010 11IR/L _ L60 M2.5x5 | TO8 R:&L:E
. SNR/LOO12K11 | |12]125] | 166 115 32 | e e
SNR/L0O013M16 13 |150 16|10 [15.5| 32 o
SNR/L0016M16 16 |150 20|12 55| 40 T15 T 107 TR (1 ] e
SNR/L0020Q16 20 (180 25|14 19.5] 40 Helght Of blades
SNR/L0025R16 25 |200 30|16 |24 | 45 161R/L TT16 L60 M3.5x8 5504008
SNR/L0032S16 32 (250 3820 |30 | 55 §2.5 P H s 32 32
SNR/L0025R22 25 (200 30(18 |24 | 45
..................................................................................................... T2O SSO4008 I I I I
_SNR/L0032S22 |82]|250 38|22 30|55 22IR/L TT22 L60 M4 x 16 s2.5 | | | |
~ SNR/L0040T22 40300 | 46|26 38 |60 o o o o | o o
SNR/L0032S27 N _
AL ) 3212000 190124180 |85 T20 | 5504008 1. YN 2. YT EEEE 3. SHRITI AT 4. TIEER 5. JIREE
271R/L TT27 L60 M6 x 16 5
SNR/L0040T27 40 (300 50|30 |38 | 60 .

*i*B: BREINRENS#EISOEMRIIF. Note:Theinsertis ISO brand.

THRAKEFERERB X #EEZEMNwww.hnsant.com THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com




2| INUS

ZFHI7JE | TURNING TOOLS §AHI §AHI ZFHI7JE | TURNING TOOLS

YlWrtIsET]  Parting and grooving toolhol g and grooving toolholders  YIRF7I#E]]

9rE5 m 8N E External Parting, Grooving and Turning Tools ,P 1 m 1 *E 718 External Parting, Grooving and Turning Tools
(<7 |

-

— I

e

- T

o

$E4 ]S} Dimension(mm) |,'173e}jts \il)%enqcah Type ARSI bimension(mm) |,173e)is Smi?\;v vae)rzerfh
HxB L s | w | / 2 H L s | w |axo / ( (
1616R/L10 16x16 | 100 15 | 25 | 10 ZHEDwewn— M5 x 20 s 1616-2 16 100 | 15 2 145 | MGMN200-M M5 x 17 S4
1616R/L17 16x16 | 100 15 | 25 | 17 ZHED s 2020-2 20 125 | 19 2 | 145 | MGMN200-M M6 x 20 S5
2020R/L10 2020 | 125 | 19 | 25 | 10 | Z+EDsreer—sr MGEHR/L mwrere; 25 150 | 24 | 2 145 | MGMN200-M M6 x 20 S5
2020R/L17 20x20 | 125 19 | 25 | 17 | ZxEDwwwre—sx M6 x 20 S5 1616-2.5 16 100 | 15 25 | 165 | MGMN250-M M5 x 17 S4
2525R/L10 25x25 | 150 24 25 | 10 ZHEDwew— 2020-2.5 20 125 | 19 25 | 165 | MGMN250-M M6 x 20 S5
2525R/L17 25x25 150 24 25 | 17 E D 2525-2.5 25 150 | 24 25 | 16,5 | MGMN250-M M6 x 20 S5
1616R/L10 16x16 | 100 | 148 | 3 | 10 ZrFDxxxr—sx M5 x 20 < 1616-3 16 100 | 148 | 3 |18 MGMN300-M M5 x 17 sS4
1616R/L17 16x16 | 100 | 148 | 3 | 17 ZxFDxxxx—sx 2020-3 20 125 | 188 | 3 |18 MGMN300-M
2020R/L10 20x20 | 125 | 18.8 | 3 | 10 | Z+FDwwwx—w 2020-3-T10 20 125 | 188 | 3 |10 MGMN300-M
2020R/L17 20x20 | 125 | 18.8 | 3 | 17 | Z+FDwww— 2525-3 25 150 | 238 | 3 |18 MGMN300-M M6 x 20 S5
2525R/L10 25x25 | 150 | 238 | 3 | 10 | Z+FDeree—s M6 20 85 2505-3-T40 25 150 | 238 | 3 |10 | MGMN300-M
2525R/L17 25x25 | 150 | 238 | 3 | 17 ZxFDxxex—s 3232-3 32 170 | 305 | 3 |18 MGMN300-M
2020R/L13 20x20 | 125 | 185 | 4 | 13 Z+GD e 3232-3-T10 32 170 | 305 | 3 |10 MGMN300-M
2020R/L 22 20x20 | 125 | 185 | 4 | 22 | ZxGDwwwe—xx 2020-4 20 125 | 185 | 4 |18 MGMN400-M
2525R/L13 25x25 | 150 | 235 4 13 VALCID 2020-4-T10 20 125 | 185 | 4 |10 MGMN400-M
2525R/L 22 25x25 150 23.5 4 22 Z+GDxrwr—xx 25054 o5 150 235 | 4 18 MGMN400—M
3232R/L13 382x32 | 170 | 305 4 13 ZxGDxwww—x 2525-4-T10 25 150 | 235 | 4 |10 MGMN400-M
3232R/L 22 32x32 170 | 30.5 4 22 Z+GDxwxr—xx 30304 32 170 305 | 4 18 MGMN400—M
2525R/L13 25x25 | 150 23 5 | 13 | Z+HDxwwr—x 3232-4-T10 32 170 | 305 | 4 |10 MGMN400-M
2525R/L 22 25x25 | 150 | 23 5 | 22 | Z+HDwwx—xr M6 x 20 S5 2020-5 20 150 | 18 5 |03 MGMN500-M M6 x 20 S5
2525N 30 25x25 | 150 | 125 | 5 | 30 | Z+HSwre—xx 2020-5-T15 20 150 | 18 5 |15 MGMN500-M
3232R/L13 32x32 170 30 5 13 ZrHDwwsx—sx 2555 o5 150 | 23 5 |23 MGMN500-M
3232R/L 22 32x32 | 170 | 30 5 | 22 | Z+HDwwoe— 2525-5-T15 25 150 | 23 5 |15 MGMN500-M
3232N 30 32x32 170 16 5 30 Z+HSxrwx—xx 3039_5 32 170 | 30 5 |23 MGMN500—M
2525R/L13 25x25 150 | 226 6 13 Z+KD wrsx—ss 3232-5-T15 32 170 30 5 15 MGMN500—M
2525R/L 22 25x25 | 150 | 22.6 | 6 | 22 | Z+KDwxwr—sx 20206 20 125 | 17 6 |23 MGMNG00-M
2525N 30 25x25 | 150 | 125 | 6 | 30 | Z+KSwrrx—xx 2020-6-T10 20 125 | 17 6 |10 MGMNB00-M
3232R/L13 32x32 170 | 29.6 6 13 Z+KDwwrx—ss 2505_6 o5 150 | 226 | 6 |23 MGMNG00-M
3232R/L 22 32x32 | 170 | 296 | 6 | 22 Z+KDrxxw—se 2525-6-T15 25 150 | 226 | 6 |15 MGMNG600-M
3232N 30 32x32 | 170 16 6 30 S s 3232-6 32 170 | 296 | 6 |23 MGMN600-M
S AT . DAL RN Ui ] 3232-6-T15 32 170 | 296 | 6 |15 MGMN600-M

Parting, grooving, turning, profiling inserts are adaptable to the tools. * AEEYIW . UIRE . WL P . (BB E SOI% ) ) Note:The insertis Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THRAKEFERERB X #EEZEMNwww.hnsant.com THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com




e | INUS

ZHIJ7JE | TURNING TOOLS

IBrYI#ET] Parting and grooving toolholde

SGTR/L

50

#H = 71 A

Applicable Inserts Clamping screw
Dimension(mm) A< R~} R R BT

Li| L2| Hi| f ’/
1212H16C 12| 12 [100| 20 | 12| 16
SGTR/L
1616H16C 15| 16 [100| 20 | 16| 20
2020K16C 20| 20 125| 20| 20 | 25 GLR/L3oo0o M3.5x8 Ti5
2525M16C 25| 25 [150| 20 | 25| 32
2C 20| 20 [125| 30 | 20| 25
2020K2 GLR/L4ooo M4 x 10 T15
2525M22C 25| 25 |150| 30 | 25 | 32

*EH: BETDREZWSERZTIA. Note:The insertis Toshiba brand.

KGBR/L
5

s @ a

Applicable Inserts Clamping screw

Dimension(mm) JEA ]~ fERS) R WRET

b|L| h|s]|e

KGBR/L 2020K22-15 20| 20 |125| 20 | 25 | 24
GB43R/050~300 DM 0625 CGBR/L s4

2525M22-15 25| 25 [150| 25 | 30 | 25
2020K22-25 20| 20 |125| 20 | 25 [25.5 s4

GB43R/250~330 DM 0625 CGBRIL
2525M22-25 25| 25 |250| 25 | 30 |25.5
-35

2020K22 201201125/ 20 | 251255 Gp43R/350-480 DM 0625 CGBRIL s4

2525M22-35 25| 25 |150| 25 | 30 |25.5

*iEMH: BENRZINSEFTETIHK, Note:The insert is Kyocera brand.

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

ZHIJ7JE | TURNING TOOLS

ting and grooving toolholders  {IRFIRET]

ﬁﬁwg’ EH],JE Surface Grooving and Turning Tools

#H = 7 A

I D
f 9 .
& ] o
! Llw
i Y=t
L
i § &R R WRAT T
Type ST Dl e () Applicable inserts Screw Wrench
I p
= HxB | L s |w|a | 2B / ( (

QFFD2525R/L10-48H 25x25 | 150 26
QFFD2525R/L17-48H 25x25 | 150 26
QFFD2525R/L10-60H 25x25 | 150 26
QFFD2525R/L17-60H 25x25 | 150 26
QFFD2525R/L10-74H 25x25 | 150 26
QFFD2525R/L17-74H 25x25 | 150 26
QFFD2525R/L10-100H 25x25 | 150 26
QFFD2525R/L17-100H 25x25 | 150 26
QFGD2525R/L13-52H 25x25 | 150 26
QFGD2525R/L 22-52H 25x25 | 150 26
QFGD2525R/L13-64H 25x25 | 150 26
QFGD2525R/L 22-64H 25x25 | 150 26
QFGD2525R/L13-90H 25x25 | 150 26
QFGD2525R/L 22-90H 25x25 | 150 26
QFGD2525R/L13-130H 25x25 | 150 26
QFGD2525R/L 22-130H 25x25 | 150 26
QFHD2525R/L 13-58H 25x25 | 150 26
QFHD2525R/L 22-58H 25x25 | 150 26
QFHD2525R/L 13-86H 25x25 | 150 26
QFHD2525R/L 22-86H 25x25 | 150 26
QFHD2525R/L 13-130H 25x25 | 150 26
QFHD2525R/L 22-130H 25x25 | 150 26
QFHD2525R/L 13-185H 25x25 | 150 26
QFHD2525R/L 22-185H 25x25 | 150 26
QFHS2525R/L 30-185H 25x25 | 150 26
QFKD2525R/L 13-60H 25x25 | 150 26
QFKD2525R/L 22-60H 25x25 | 150 26
QFKD2525R/L 13-88H 25x25 | 150 26
QFKD2525R/L 22-88H 25x25 | 150 26
QFKD2525R/L 13-160H 25x25 | 150 26
QFKD2525R/L 22-160H 25x25 | 150 26
QFKS2525R/L 30-160H 25x25 | 150 26
* . BETNHFEIWNS k571K, Note:The insert is Zccct brand.

10 48-66 ZTFDO0303-MG
17 48-66 ZTFD0303-MG
10 60-80 ZTFD0303-MG
17 60-80 ZTFD0303-MG
10 74-110 ZTFD0303-MG
17 74-110 ZTFD0303-MG
10 100-150 | ZTFDO0303-MG
17 100-150 | ZTFDO0303-MG
13 52-72 ZTGD0404-MG
22 52-72 ZTGD0404-MG
13 64-100 ZTGD0404-MG
22 64-100 ZTGD0404-MG
13 90-140 ZTGD0404-MG
22 90-140 ZTGD0404-MG
13 130-230 | ZTGDO0404-MG
22 130-230 | ZTGDO0404-MG
13 58-96 ZTHDO0504-MG
22 58-96 ZTHDO0504-MG
13 86-140 ZTHDO0504-MG
22 86-140 ZTHDO0504-MG
13 130-200 | ZTHDO0504-MG
22 130-200 | ZTHDO0504-MG
13 185-400 | ZTHDO0504-MG
22 185-400 | ZTHDO0504-MG
30 185-400 | ZTHS0504-MG
13 60-100 ZTKD0608-MG
22 60-100 ZTKD0608-MG
13 88-180 ZTKD0608-MG
22 88-180 ZTKD0608-MG
13 160-400 | ZTKD0608-MG

22 160-400 | ZTKD0608-MG
30 160-400 | ZTKS0608-MG

M6 x 20 S5

O 0O O O O o oo oo o o a0 a0 o/ M2 B DB D D DO Ww oW oww

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



| NS

ZH|7JE | TURNING TOOLS SBHI SBHI ZEHJ7JE | TURNING TOOLS

tIRNIET] Parting and grooving toolholders

Parting and grooving toolholders  HIHFEIET]

T Surface Grooving and Turning Tools op- '
mEE. EHI7IR QFOD-RR |
(B2 E

il E

| 13| 60-100 | ZTKD0608-MG
22 60-100 | ZTKD0608-MG
| 13 | 88-180 = ZTKD0608-MG
22 88-180 | ZTKD0BOB-MG
| 13 | 160-400 = ZTKDO608-MG

22 160-400 = ZTKDO60B-MG
| 30 | 160-400 | ZTKS0608-MG

22 | 60-100 = ZTKDOBOB-MG | QFKD2525RR 13-60H 25:5 | 150 @ 26 |
13 | 88-180 = ZTKDO608-MG QFKD2525RR22-60H 25x25 | 150 = 26
22 | 88-180 = ZTKDOB08-MG QFKD2525RR 13-88H 25x25 ‘ 150 ‘ 26 ‘
‘13 ‘ 160-400 = ZTKD0608-MG QFKD2525RR 22-88H 25x25 = 150 & 26
|22 | 160-400 = ZTKDOGOB-MG | QFKD2525RR 13-160H 25x25 | 150 | 26 |
30 [ _150-400 | ZThS0608-MG | QFKD2525RR 22-160H 25x25 | 150 | 26
QFKS2525RR 30-160H 25x5 | 150 | 26 |

QFKD2525R/L 22-60L 25x25 | 150 | 485
QFKD2525R/L 13-88L 25x25‘ 150 \ 39.5
QFKD2525R/L 22-88L 25x25| 150 | 485
QFKD2525R/L 13-160L PP AT MY
QFKD2525R/L 22-160L 25x25 | 150 | 485
QFKS2525R/L 30-160L 25x25 | 150 | 56.5

5
“:- :-Jﬁ_a, . | S_[I:"_q;ﬂ ]I-I
o . z : preg sy B2 AT TEE
Type &2 55 BREmane) Apﬂlgigalltlilg;tiserts E:lt“r:eiv \;‘rren{h TS,]’[?? i e : Applizaléle‘l f;lrserts Scjr‘l?‘l"' \'ir;e”}cdh
iEs! s 1 5 e (m:f_?m) / ’ ( VRS HxB & S w | a {m‘ii?n{axl f “ (
QFFD2525R/L 10-48L 25x25 150 365 3 |10  48-66 | ZTFD0O303-MG ' QFFD2525RR10-46H 26x25 150 26 3 | 10 48-66  ZTFD0303-MG
QFFD2525R/L 17-48L 25)(25‘ 150‘ 435 3 ‘1? ‘ 48-66 ZTFD0303-MG QFFD2525RR17-48H 25x25 ‘ 150 ‘ 26 ‘ 3 17 | 48-66 ‘ ZTFD0303-MG
QFFD2525R/L10-60L 25x25, 150 365 3 | 10 | 60-80 ZTFD0303-MG QFFD2525RR10-60H 25x25 | 150 26 3 10 60-80 ZTFD0303-MG
QFFD2525R/L 17-60L 25:<25‘ 150‘ 435 | 3 ‘1? | 60-80 ZTFD0303-MG | QFFD2525RR17-60H 25x25 ‘ 150 ‘ 26 ‘ 3 17 | 60-80 | ZTFD0303-MG
QFFD2525R/L 10-74L 25x25 150 | 36.5 3 10 74-110 ZTFD0303-MG QFFD2525RR10-74H 25x25 150 26 3 10 @ 74-110 ZTFD0303-MG
QFFD2525R/L 17-74L 25&5‘ 150‘ 435 | 3 ‘1? ‘ 74-110 = ZTFDO0303-MG QFFD2525RR17-74H 25x25 ‘ 150 ‘ 26 ‘ 3 | 17 | 74-110 | ZTFD0303-MG
QFFD2525R/L 10-100L 25x25 150 @ 36.5 3 10 100-150 = ZTFD0303-MG QFFD2525RR10-100H 25x25 150 26 3 10 = 100-150 ZTFD0303-MG
PR RYSIEE 2525 150 | 435 | 3 |17 | 100-150 | ZTFDO303-MG | QFFD2525RRI7-100H 25x25 | 150 | 26 | 3 17 | 100-150 | ZIFD0303-MG
QFGD2525R/L 13-52L 25x25| 150 | 39.5 4 |13 | 52-72 ZTGDO0404-MG QFGD2525RR13-52H 25x25 | 150 @ 26 4 13 | 52-72 | ZTGD0404-MG
QFGD2525R/L 22-52L 25X25| 150 | 485 | 4 |22 | 52-72 | ZIGDO404-MG | QFED2525RR 22-52H 2525 | 150 @ 26 | 4 22 | 52-72 | ZTGDO404-MG
QFGD2525R/L 13-64L Eh| 100 M6 | & | 19 | S48 | FTOROAMG | QFGD2525RR13-64H 25x25 | 150 @ 26 | 4 13  64-100 = ZTGD0404-MG
QFGD2525R/L 22-64L 25x25 150 | 485 | 4 |22 | 64-100 | ZTGDO404-MG | QFGD2525RR 22-64H 25x25 | 150 | 26 | 4 22 64-100 | ZTGDO404-MG
QFGD2525R/L 13-90L eaea) W S0 | & |8 | f0AER | SIRDME | QFGD2525RR13-90H 2525 150 @ 26 | 4 13  90-140 = ZTGDO404-MG
iR i P s LS B AR W e R QFGD2525RR 22-90H 255 | 150 = 26 | 4 22 | 90-140 | ZTGDO0404-MG
QFGD2525R/L 13-130L et [ ol B onell Bl el icisinc ol Biimennicstons QFGD2525RR13-130H 25x25 | 150 @ 26 | 4 13  130-230 = ZTGD0404-MG
QFGD2525R/L 22-130L 25x25 150 485 | 4 |22 | 130-230 ZTGD0404-MG o 2 R S — ‘ T ‘ AR AT
QFHD2525R/L 13-58L 25x25 150 395 5 13  58-96 ZTHDO0504-MG . = EEs =- M6 x 20 S5
QFHD2525R/L 22-58L 25x25‘ 150‘ 485 5 ‘22 ‘ 58-96 ZTHDO0504-MG g::gj:f:;jﬁ: 22:22 ‘ :z | z: ‘ z - ;2 - :2:: | g:ggzg:_ﬂi
QFHD2525R/L 13-86L 25x25 | 150 | 39.5 5 |13 | 86-140 ZTHD0504-MG s = | | | | i
QFHD2525RIL 22-86L 25x25‘ 150‘ BETTE ‘ = ‘ 86-140 | ZTHDOS04-MG | QFHD2525RR 13-86H 25x25 150 26 5 | 13 86-140  ZTHD0504-MG
TRV .o 150 | 395 | 5 | 13 | 130-200 | ZTHDOS04-MG QFHD2525RR 22-86H 2525 | 150 | 26 | 5 22 | 86-140 | ZTHDO504-MG
QFHD2525R/L 22-130L 25x25‘ 150‘ e | & ‘22 ‘ 130200 | ZTHDOB04-MG QFHD2525RR 13-130H 25x25 150 26 | 5 | 13 130-200  ZTHDO504-MG
QFHD2525R/L 13-185L 05x95| 150 | 395 | 5 |13 | 185-400 | ZTHDO504-MG QFHD2525RR 22-130H 25x25 ‘ 150 ‘ 26 ‘ 5 22 130-200  ZTHDO504-MG
QFHD2525R/L 22-185L 25,(25‘ 150‘ 485 | 5 ‘22 ‘ 185-400  ZTHDO504-MG | QFHD2525RR 13-185H 25x25 150 | 26 | 5 13 185-400  ZTHDO504-MG
QFHS2525R/L 30-185L 25x25 150 @ 56.5 5 |30 | 185-400 ZTHS0504-MG | QFHD2525RR 22-185H 25x25 ‘ 150 ‘ 26 ‘ 5 | 22 185-400 | ZTHD0504-MG
QFKD2525R/L 13-60L 25;25| 150‘ 395 | 6 ‘13 | 60-100 = ZTKDO608-MG QFHS2525RR 30-185H 25x25 | 150 26 5 30 185-400 = ZTHS0504-MG
6 6
6 6
6 6
6 6
6 6
6 6
6

TRAGEFHRIEHE K #1552 HEMiEwww.hnsant.com TRALGEFHRGESE R F5%% 8 MMiEwww. hnsant.com

& | SANT



ZFHI7JE | TURNING TOOLS §AMI §AMI ZFHI7JE | TURNING TOOLS

= =
QFOD-LL
W. — '
o) B ‘
) | hﬁ a
L
_ﬂ.
P \
H 1‘ s B1 o i
1 f .
— ,
Type AR Dimension(mm) Appl]i\léfl?)ljg )i:serts Smf’gv Vj\[lgei
=) 8 )
- HxB g o B (mﬁgla’() / ’ ( Dimension(mm) JEA R Ap?;%bégjlgﬁrts Smc?ﬁf}”
QFFD2525LL10-48H 25x25 | 150 | 26 | 3 | 10| 48-66 ZTFD0303-MG
QFFD2525LL17-48H 25x25 | 150 | 26 | 3 | 17 | 48-66 ZTFD0303-MG Q
QFFD2525LL10-60H 25x25 | 150 | 26 | 3 | 10 | 60-80 ZTFD0303-MG B
QFFD2525LL17-60H 25x25 | 150 | 26 | 3 | 17 | 60-80 ZTFD0303-MG e 16 | 16 | 100|164 3 | 16 | ZQWX3NT1-IE
QFFD2525LL10-74H 25x25 | 150 | 26 | 3 | 10| 74-110 | ZTFDO303-MG 1616804 16| 16 | 100 164 4 | 18 |  ZQMX4N1i-IE Msx17 S
QFFD2525LL17-74H 25x25 | 150 | 26 | 3 | 17| 74-110 | ZTFD0303-MG 2020R03 20 | 20 | 125|204| 3 | 20 | ZQMX3N11-IE
QFFD2525LL10-100H 25x25 | 150 | 26 | 3 | 10| 100-150 | ZTFDO303-MG 2020R04 20 | 20 | 125|204| 4 | 20 | zaQMxan11-IE
QFFD2525LL17-100H 25x25 | 150 | 26 | 3 | 17 | 100-150 | ZTFD0303-MG 2525R03 25 | 25 | 150 |25.4| 3 | 20 | ZQMX3N11-IE 620 o
QFGD2525LL13-52H 25x25 | 150 | 26 | 4 | 13 | 52-72 ZTGD0404-MG 2525R04 o5 | 25 | 150 |25.4| 4 | 20 | ZQMX4N11-IE
QFGD2525LL 22-52H 25x25 | 150 | 26 | 4 | 22| 52-72 ZTGD0404-MG el oo o5 | 25 | 150 |25.4| 5 | 25 | ZQMX5N11-IE
QFGD2525LL13-64H 25x25 | 150 | 26 | 4 | 13| 64-100 | ZTGDO0404-MG 2525R06 25 | 25 | 150 |257| 6 | 32 | ZQMXBN11-IE
QFGD2525LL 22-64H 25x25 | 150 | 26 | 4 | 22| 64-100 | ZTGD0404-MG 3225R03 s | 25 |170|254| 3 | 25 | ZQMX3N11-IE
QFGD2525LL13-90H 25x25 | 150 | 26 | 4 | 13 | 90-140 | ZTGDO0404-MG 3225R04 82 | 25 | 170|254] 4 | 25 | ZOMXANMI-IE | S5
QFGD2525LL 22-90H 25x25 | 150 | 26 | 4 | 22| 90-140 | ZTGDO0404-MG 3225R05 s | 25 |170|254| 5 | 25 | ZQMX5N11-IE
QFGD2525L113-130H 25x25 | 150 | 26 | 4 | 13| 130-230 | ZTGDO404-MG | | S225R06 | | 32 | 25| 1701257] 6 | 82 | ZQMXGNT1-IE | | .
QFGD2525LL22-130H 26x25 | 150 | 26 | 4 | 22| 130-230 | ZTGDO4O4-MG | . . 1616L03 16 | 16 | 100 [16.4| 3 | 16 | ZQMX3N11-IE M5x17 o
QFHD2525LL13-58H 25x25 | 150 26 5 | 13| 58-96 ZTHDO0504-MG 1616L04 16 | 16 | 100 | 16.4| 4 | 16 | ZQMX4N11-IE
QFHD2525LL 22-58H 25x25 | 150 26 5 | 22 | 58-96 ZTHD0504-MG 2020L03 20 | 20 | 1256/204) 3 | 20 | ZQMX3N11-IE
QFHD2525LL 13-86H 25x25 | 150 | 26 5| 13| 86-140 | ZTHDO0504-MG 2020L04 20 | 20 | 125]204] 4 | 20 | ZQMX4N11-IE
QFHD2525LL 22-86H 25x25 | 150 | 26 | 5 | 22| 86-140 | ZTHD0504-MG 2525L03 25 | 25 | 150|254] 3 | 20 | ZQMX3N11-IE M6x20 S5
QFHD2525LL13-130H 25x25 | 150 | 26 | 5 | 13| 130-200 | ZTHDO0504-MG G =25m0t 25 | 25 | 1502541 4 | 20 | ZQMX4N11-IE
QFHD2525LL22-130H 25x25 | 150 | 26 | 5 | 22| 130-200 | ZTHDO0504-MG 2525L05 25 | 25| 150 254) 5 | 25 | ZQMXSN11-IE
QFHD2525LL13-185H 25x25 | 150 | 26 | 5 | 13| 185-400 | ZTHD0504-MG 2525L.06 25 | 25 | 150|257) 6 | 32 | ZQMXeN11-IE
QFHD2525LL22-185H 25x25 | 150 | 26 | 5 | 22 | 185-400 | ZTHD0504-MG 8225103 32 | 25170254 3 | 25 | ZQMX3N11-IE
QFHS2525LL30-185H 25x25 | 150 | 26 | 5 | 30 | 185-400 | ZTHS0504-MG Lo 82 | 25 | 1701254] 4 | 25 | ZQMXANTI-IE |\ \0o) S5
QFKD2525LL 13-60H 25x25 | 150 | 26 | 6 | 13 | 60-100 | ZTKDO608-MG e 82 | 25 | 170 254] 5 | 25 | ZQMXSN11-IE
QFKD2525LL22-60H 25x25 | 150 | 26 | 6 | 22 | 60-100 | ZTKDOB0B-MG 220 32 | 25 | 170 1257] 6 | 32 | ZQMXGN11IE
QFKD2525LL13-88H 25x25 | 150 | 26 | 6 | 13| 88-180 | ZTKD0608-MG
QFKD2525LL 22-88H 25x25 | 150 | 26 | 6 | 22 | 88-180 | ZTKDOBO8-MG
QFKD2525LL 13-160H 25x25 | 150 | 26 | 6 | 13| 160-400 | ZTKDO608-MG
QFKD2525LL 22-160H 25x25 | 150 | 26 | 6 | 22 | 160-400 | ZTKDOB608-MG
QFKS2525LL 30-160H 25x25 | 150 | 26 | 6 | 30 | 160-400 | ZTKS0608-MG

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com



ZE4|7JB | TURNING TOOLS

Cowwn e oo onosen
SHEIED RS TR

ZH|7JE | TURNING TOOLS
HIHENtE 7]

% ¥ 71 A @ = N R

‘Parting and grooving toolholders

External Parting Blade

REVERENTIA]

Internal Grooving and Turning Tools

150%

i ‘.l — = 1 Hgﬂ 1

it TR [ 4 i F
ELAC L] Dimension(mm) GHIIh ol W

Type Applicable inserts ~ Screw Wrench
1) L — '
A% s ‘ W e v
SPB  326-S 26 | 24 110 21.6 ZQMX3N11-1E C20Q-QEDRIL 05-27 20 | 180 152 | 25 | 5 27 Md 5 14 s3
426-S | .2 | 32 110 21.6 ZQMX4N11-1E C25R-QEDRILO7-33 | 25 | 200 S ‘ i ‘ ¥ 43 | ZTEDsexss=se
526-S 26 4.0 110 21.6 ZQMX5N11-1E C39S-QEDRL 09-42 32 e pee rr & 42 | ZREDsssesoss| MEXT7 S4
1 1 kkkdk— k& |
s z | 44 Lo = b C25R-QFDRIL 07-33 25 | 200 | 203 3 7 33
:zz_: - :z - j‘i ::g zz zgﬂi:::_i C32S-QFDRIL 09-42 32 | 260 | 253 | 3 9 42 | ZRFDwess-ve | MOXV7 4
1 . } C25R-QGDRIL 08-35 25 | 200 | 215 | 4 8 | 35 o Msxi7 &
632-S | 32 5.2 150 25 ZOMXEN11-1E 1 ZTGD*wsx— %% |
SPBEREFI JIHEEMESANTEIL/ATPHSE 5 JJFE SPB parting blade i tching with PHS parting blade holder from SANT C325-QGDRIL 11-44 = ‘ £hd b ‘ 4 i it
e = = b gl a 1S matching with n | r irom 3 1 1 1
b R crmE crmEm C40T-QGDRIL 13-54 40 300 | 335 4 13 54 | ZRGDwssw-ev | MEx20 -
QE[IS b -~ C25R-QHDRIL 08-35 25 | 200 | 215 | s 8 85 | ZTHDwresmss | MEXT7 s4
C32S-QHDRIL 11-44 32 250 275 5 11 a4 _ i
C40T-QHDRIL 13-54 0 | 30 | m:s | s 13 | B4 | ZRHDwxw s
_ C25R-QKDR/L 08-35 25 200 215 6 8 a5 ZTKD##ss—2x | M5x17 54
£ G325-QKDRI/L 11-44 32 \ 250 275 ‘ 6 ‘ 11 L P .
dkdkdk— k¥ .
- 1 s C40T-QKDRL13-54 40 | 300 = 335 6 13 | 54
C50T-QKDR/L13-64 50 300 | 381 6 | 14 64

Wrench
&R T
h

QEES26N 110 26 9 | 2 | 25 60 ZPES02502-MG | Qs5
QEFS26N 110 26 19 24 3 60 ZPFS0302-MG | Qss5
QEGS26N 110 26 19 82 | 4 70 ZPGS0402-MG Qss
QEHS26N 110 26 19 4 ' 5 70 ZPHS0503-MG ' Qss
QEKS26N 110 26 19 6 70 ZPKS0604-MG = QS5
QEES32N 150 32 246 2 25 100 ZPES02502-MG | Qss
QEFS32N 150 32 246 24 | 3 100 ZPFS0302-MG | QS5
QEGS32N 150 32 246 32 4 | 120 ZPGS0402-MG = QS5
QEHS32N 150 32 246 4 | s 120 ZPHS0503-MG | Qss
QEKS32N 150 32 24.6 5 6 120 ZPKS0604-MG QS5

QECISEF NI EERESANTE X /A TQZSE 5 71 fE QELIS parting blade is matching with QZS parting blade holder from SANT,

TRAGEFHRIEHE K #1552 HEMiEwww.hnsant.com

TRALGEFHRGESE R F5%% 8 MMiEwww. hnsant.com




ZEHI7JE | TURNING TOOLS ¢ ANT

LI T] Parting and grooving toolhold

REVERERTIR]

REY

Internal Grooving and Turning Tools

]
2d |

W —

Vb3

Inserts

# F
Wrench

od Lo s | w |pem f w wll
2016-1.5 16 180 | 113 | 15| 3 MGMN150-M M4 x 14 S3
2520-1.5 20 180 | 13.1 15 | 4 MGMN150-M M5 x 17 S4
2925-1.5 25 200 | 162 | 15 | 4 MGMN150-M M5 x 17 S4
2016-2 16 125 | 124 | 2 3 MGMN200-M M4 x 14 33
2520-2 20 125 14 2 5 MGMN200-M M5 x 17 S4
2925-2 25 200 | 172 | 2 5 MGMN200-M M5 x 17 S4
2016-2.5 16 125 125 25 6 MGMN250-M M4 x 14 33
2520-2.5 20 180 | 15.1 25| 6 MGMN250-M M5 x 17 sS4
2925-2.5 25 200 | 182 | 25 | 6 MGMN250-M M5 x 17 sS4
2520-3 20 180 | 156 | 3 6 MGMN300-M M5 x 17 sS4
3125-3 25 200 18.9 3 5 MGMN300-M M5 x 17 s4
3732-3 32 250 | 215 | 3 6 MGMN300-M M5 x 20 s4
2520-4 20 180 | 156 | 4 6 MGMN400-M M5 x 17 s4
3125-4 25 200 | 189 | 4 6 MGMN400-M M5 x 17 sS4
3732-4 32 250 | 215 | 4 6 MGMN400-M M5 x 20 34
3125-5 25 200 | 19.1 5 8 MGMN500-M
3732-5 32 250 | 215 | 5 8 MGMN500-M
3125-6 25 200 | 194 | 6 8 MGMNB00-M
3732-6 32 250 | 215 | 6 8 MGMNG00-M
3732-8 32 250 | 232 | 8 | 10 | MGMN80O-M M6 x 20 S5
4540-8 40 30 | 272 | 8 10 MGMN800-M
3125-6A 25 200 | 19.4 | 6 8 MGMN600-M
3732-6A 32 250 | 215 | 6 MGMNB600-M
3732-8A 32 250 | 234 | 8 10 MGMN800-M
4540-8A 40 30 | 272 | 8 10 MGMN800-M

L SIS 3711 TN Jf]”‘g\ iﬁ”x B AN (ﬁﬂﬁ%ﬁ/ﬁﬁ(ﬂﬁ) Note:The insert is Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THREKERFBEREHE] X #1515 EHMiwww.hnsant.com

B o= 71 A

ZHIJ7JE | TURNING TOOLS

g and grooving toolholders  HIRftIIE]]

BFrNEERTIIEMNTIEE  Parting Blade Holders

i
“m
|

h:

" T

FEA R ~) Dimension(mm) L1 Wrench

Type clamp
5

PHS2026
PHS2526

PHS3226
PHS2032
PHS2532
PHS3232
M TIEEFFSPB#%%JIR This parting blade holder is for SPB parting blades.

HEFA7NANIREE

f‘ [}
ity
hith f_’;"ffi
Il
;,;;,,{{fg,,q:.,;.-, .
5

THREFEFBREHEBE] X ¥FI151E%6Miwww.hnsant.com




H=x(Z) §BHI %EHI7JE | MILLING TOOLS

CONTENTS Indexable milling tools T KIEEEITIE

Category

Shape ¥ R
e 27N

Feature Category Shape Xt fiz Feature
ERES A #35) 2 S 41F

oIEEAREITI B—nEk

INDEXABLE MILLING TOOLS OVER CIEW

Bl {7 EEHIT) B AN

INDEXABLE MILLING TOOLS CODE KEY

a3 U sEEIT] R e AN

INDEXABLE MILLING TOOLS CODE KEY

AIEAISRHITI B &S

INDEXABLE MILING TOOLS

AR

FACE MILLING TOOLS

HBEaMEEIIRS

S QUARE-SHOULDER MILLING TOOLS

iG]

PROFILE MILLING TOOLS

=mE7IHIIES

SIDE AND FACE MILLING TOOLS

BB RS

CHAMFER MILLING TOOLS

®ART) ( Kidts ) &Y

HIGH FEED MILLING CUTTER

1RhENZ 55T R P

HELICAL END FACE MILLING TOOLS

S HET] /T

END MILL/FACE MILL

AL FLER RS

INDEXABLE U DRILL

P96~P100

P101~P102

P103~P104

P105~P148

P149~P167

P168~P174

P175~P181

P182~P184

P185~P191

P192~P193

P194~P198

P199~P215

Kr:45° AFO1

Mm105 |
Kr:45° AFO03

%

107 ®|
Kr:45° AFO04

109 ™|
Kr:45° AFO06

€&

B11-112 |
Kr:45° AFO08

S HHE

@

114 5
Kr:45° AF10

116 W

Kr:55° DFO1

118 MW

Kr:60° DFo02

m121 |

Kr:75° EFO01

@

124 ®

FMAD1

FMAD4

FMAD7

FMDoD2

FMDO3

FMEO1

AHIfigTT, YIAEIER
TNRERSE, BRI
MEfEk, REXRER
&

£
SELIT 12T3 ( Zeeet)

ERREE, EEEL
BEESETIE, R

HiE

’#:
SE[LIN 1203 ( Zecet )
SE[CIN 1504 ( Zcect )

871 OEFE T K ER
FEE, #H0NEE0H
& ATl

$%:0FKRO7 ( Zceot )

16T1mMmIFE, SFk
e S o B A1 5R

B,
ONLCIJ 06040100 ( Zeoet )
ONCIC 08750100 ( Zeecet )

8NBMIN R, it
HESFINHIEE 14, 2R

t &
SNEX 1206ANN ( REH )

100 RBAMNL, BEF
R RS, B
MG, BES

5%
PNMU 1205ANER | =% )

12MaMmIE, BEF
HREERES, B0
L]

8.
HNEX0905 ( Zecct )

WIER A, EIIHIA
AR, KUIEIN

T, #ExEH

LNKT 2510 ( Zecct )

NETNREERERT
& 36 Th 3 B AR 3 4
HEFEmMT

e
LNE 32.534 ( Zecet )

THRAGEFHREEBE R FHE8EMSEwww. hnsant.com

S HH

Kr:45° AFO02

106 |

Kr:45° AF04

©

R108 @\

Kr:45° AFO05

@

B1om

Kr:45° AFO07

M113 |

Kr:45° AF09

UURRET]

Kr:45° AF11

R

Rii7@

Kr:67° DFO1

M119-120m

Kr:65° DFO03

”

1221237

Kr:75° EF02

125 ®

FMAD2

FMAD4

FMDO2

FMED4

Keifigit, MHIER
NRMEEHE, RAC
mEiRit, BREhEEN

%
SECIT 1273 (Zecet)

871 A& 71 H 85T
EE, mESERr
iz

$x.
OFKT 0573 (Zceot)

8TIO&FB IR BT E
®, MEBEANZ

$E,
0D 0605 | B4R )

BEEEREREN
afmNR, NORE

HeNO™EFEKET

&
SNCIN 1204 ( Zcoot )

8MmmAN, Bk
fESF 7] O 4 ik 5 38

B4
SNMX 1205XTN | #E® )

anmmnNk, &t
fESFEN IR, Bk

glﬁiu 1305 ( RHFF )

100RANE, BERF
TERESRAEBIGIE, FAS
MM, BES

£,
PNEG 110512R ( Zecet )

st E, S5
EEYFINEI M, BEAMN
SRR R RS

%,
R365-1505ZNE | (L% )

WIERTfa, {REDEIA
IENK, AUESHE
mI, REEHL

&
LNKT 1506 (Zecct)



#HI7JE | MILLING TOOLS §AHI §AHI #Hl7JE | MILLING TOOLS

AIEAUHHITIR Indexable milling tc exable milling tools AIA&AIEHEHITIR

Cafgory Shape 5 [z Feature Category Shape Xt Bz Feature Category Shape X Jz Feature Category Shape 5 Bz Feature
S o DA AL A i e Ky 73 LY Ky 73 s
5 2N Z2ES ¥FE el AR Z2ES FFE el TN ZE8S ¥FE ]| TN ZES FFE
Kr:75° EFO03 Kr:75° EFO04 :90° :90°
- R ‘ Kr:90 PEO1 N Kr:90 PEO1
pe*:.‘ BEESENR, B BREEIFBEE, WIEHT), SHEN WERT), SHEN
| P Y 2% 2% :
SPKN 1504 ( Zccct ) SPK[] 1204 ( Zcect) APKT 11T3[1[] ( Zccet) ?PﬁT11T3DD (Zccet)
1265 SPKN 1203 ( Zooot ) 01275 B4 49T APKT 16040107 ( Zcect) 1505 APKT 16040101 ( Zccet )
< < L2
Kr:75° EFO06 EUHDRA, KRR Kr:75° EFO7 Kr:90° PEO2 Kr:90° PEO2
B T 24 i 0 7 T - BNKMI S, Rt E :
zs e T T %)}ﬁtﬂﬂﬁﬂ o EiZ2iE, HIBFZRE
= " v EMPO4 FRBEEN, MIHERS EMPO3
%
4 e 5% ]
SPMT 1806 EDER (% ) SNMX 1208XTN (4515 ) APKT 11T300J ( Zeect) AF'?(THTSDD (Zccot)
1297 H13037 H1515 1527
Kr:90° PFO1 Kr:90° PFO02 B, B, BEE&it, Kr:90° PEO3 Kr:90° PEO4
SR, FH R R M
#, EFERELT B, EATRE, FEH ;&Eﬁ%%u, GIp=k:25 TOFmE 1, Pk
o FMPO02 AT EMPO5 . EMPO0O8| BEA/M, mAKS
: 5%, : % 5%
TPKN 2204 ( Zccct) SELT 09T308PER ( Zooct) APMT 113504PDER ( Zccct ) LD 1504 ( ZxfiFet)
W13 W132-134F SEET 120308PER ( Zooot ) W15357 GO IEBAERIPRIER (| et R1545
Kr:90° PFO03 WIERTfE, KEIEH Kr:90° PFO04 s °
, B, =, 8 , Kr:90° PEO5 wrms = :190° . _
e . o mEe BEXT, =REHE Kr:90° PEOS BEXT), SRBIE
FMpo3| L mE B, ERTH, LHE 7, EBAN, ik 70, SIMIEAA, Fom
< e *H;JHI 0 % i BE 158 % EMPO09| iHHESIE
LNKT 1506EN-ZR ( LLi4F ) 2% .
LNKT 2007DN-2ZR ( L% ) R260-12T308 (WH¥) A APKT1705PER (#5EI%E ) B e
135-136m LNKT 2510-ZR ( L% ) W137% ; & M1555 "~ 1565 APKT 1705PER ( $E % )
[=]

Kr:90° PFO05 S Kr:90° PFO06 U1y Kr:90° PEO06 HERBERTT, 2 ¥ |Kr:90° PEO6 KA, DHERERAY
[l SRR, B ﬁ TR, Byl ot EASER, WRIES o MR, A0 , AR
" " FMPo4 | XWMEH, M 7 &, REFHO0° , B 7 D, RS0 AT

o, BHE, £HES FHMIT PEETE
7] TNGX 2207PNTN (45 E % ) 7] : - : A%I\/I%'I':QSSDDPEER (&)
SOMT 12T308PEER (=3 ) i ;
S 1307 AXMT 1235[1[JPEER ( f%& )
R138R 1395 R1575 AXMT 17050JCIPEER (% ) W1583m AXWT1705CILIPEER (f2%)
Kr:90° PFO7 Kr:90° PFO08 :90° :90°
- masn s e Kr:90° PEO7 o Kr:90° PEOS8 SHEERYT, B
. T E T P » RTE sy, AIEEE TIREE, YIEIEA
et 2. WHSD, 7 / AmT E, RIFHO0° , B
5 2 E T
o c s, F#Em
HETAT AR ORI (2 LNM:X170808 PNSR (%) ﬁsMH(égSﬁBES EE%; ?D?A:TOSOSMR (BT
5 FL IR %5
R140F B4R 15951 16071 ADMT 120408R ( E/R4 )
Kr:90° PFO09 Kr:R RFO1 IR EI BN 7 Kr:90° =4 K17 = :90°
e Y141 7] QB ST R r:90° PEOS8 SEmERYT, 2 Kr:90° PEO9 e e B
. . ﬁ J-*. &B‘Hﬁ_& - FMRO1| i semm co o va e BNRERE, YIEIE SHMLRY T, FIHI
BETF 7] O 1 58 KAl ( 714F ) ’ HIE, BIFH AR, REFH
g, TIHIER 5% 90° , ERAFHEMI 90° , EAFHEMT
. FMRO2| RCKT 10T3MO-DR ( Zccct) )
3 N RCKT 1204MO-DR ( Zccct ) ] = %
XNEX 0806 ( L7 ) (738 )| ROKT 1606MO_DR ( Zooot) ADMT S50a08R I%éﬁi R390-11T30I0] (%)
1427 R143-1447 RCKT 2006MO-DR ( Zccet) R161HR ADMT 160608R ( B /R4 ) 1627 R390-17040101 ( W% )
Kr:R RF02 S8 7 3 H ey :190° = ® :190°
FMR03 ggﬁﬁzggunggﬁﬁ Kr:R -‘RF03 K BRI, PIMIEA Kr:90° PEO9 SHEpERTT, W Kr:90° PE10
(74 ) §\%,-a52 8] S 2 I 0F I, &R, BT HIBE AR, RFH ; HAEY
RDKW 0803MO ( Zcect ) FMRO04 AR EEEE S0 p lRGEE fREI7
3 FMRO04| RDKW 10T3/1204MO ( Zccct ) 2% 2%
( 714 )| RDKW 1204MO (Zocot) RPMT/W 1204 (=) RAA0-11TAEID { L) B =
m RDKW 1605MO ( Zccet ) RPMT1606 (=% ) R390-17040101 ( 4% ) BDMT11030] (Z=& )
R145-1465 RDKW 2006MO ( Zecot) R1470 R1637 R1647 BOMTI704CI) (3 )

Kr:R RF04
iR I F& T IRETIE
&, HERE

2%
QPMT 1204MO ( %)

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com

& | SANT



iz Ipl=

MILLING TOOLS

AI(UEEHITIR Indexable milling tools

Category

£ 5

SESop ISt

Shape
2N

Kr:90° PE10

165T1

Xf B

ZRE

HREHF
RYIEI A

2%
BDMT 11T3JJER ( 3
BDMT 1704JJER ( 3

Category

%5l

17

2

Category

£ 5

SESopIrSt

%t Rz

Shape it 2 Feature
2N ZES FFE
rR  RBO1 & KBS AKEM
I, EE7IRA=|
M BMRo1| 7» EFHEE
%% . ZDET 08T2 ( Zccct)
ZDET 1103 ( Zccet)
ZDET 13T3 ( Zcect)
1681 ZPNT 2204 ( Zcccet)
r:R  RBO2 SHRAMEMT, %
BA=%#8 ZMER,
/ BMRO3| IMEES, HiRkiEiF
5%
XPHT 16/20/25/30/32R803
n (Zcect)
r:R RBO3
TERES, BTHE
BT, REBES,
/ BMRO4| REMHF
B%.
ZOHX1203/1604/2005
M172-173% /2506/3007/3207 ( Zecet)

Category

x5

i

Z

Shape Feature
27N Z8S ¥FE
Kr:90° PE11
HREL, KARAE
it, ERUEIAERTH
mT
5%
APKT 100304PDER ( f##i+ )
16651
Kr:90° PE12
AN FTI R, &5k
a fE3F, HHE
Bk
LNCIX151008PNR ( 33&f# )
167:
Shape X Kz Feature
AR 2RSS YFE
Kr:R RBO2 _
AEAMMEMT, %
AZHSZHER,
y BMRO3| MMM, HiRtts
5%
XPHT 16/20/25/30/32R803
1697 (Zcecet)
Kr:R RBO2
EEEENHEMT, R
AZHSZMER,
BMRO3| iM#ER, HRiRERF
& Bk
XPHT 16/20/25/30/32R803
1713 (Zcect)
Kr:R  RBO4 KBIRIET, YIBIES
N, PIEITIRES, B
/ s, ERND
ZNMT1804100 C(fER)
ZNMT 2205125-C ( % )
R17457 ZNMT 2706150-C ( fi% )

Category

K5

H
7
Bt
7]

Shape Xt Rz Feature (OF:1{Te[o] 0% Shape Xt Rz Feature
208 ZH S FFE 3| 2 EZRS $FE
r:R PTO1 r:R PTO1

&R, YIHIEA 58, YIHIBEAN
i 7\

TMPO1 P SMPO03 sx.
MPHT 060304-DM ( Zcccet ) = MPHT 060304-DM ( Zcccet )
MPHT 080305-DM ( Zccct ) — MPHT 080305-DM ( Zccet )

1750 MPHT 120408-DM ( Zccct ) ﬁ MPHT 120408-DM ( Zcccet )
Kr:90° PTO1 g;.?: Kr:90° PTO2

& N5E, YIHIFEA TIHI%F], &EmMT,
iR 7] 471, ZiTiEdF

SMPO03 % SMPO1
MPHT 060304-DM ( Zccet ) 2%
MPHT 080305-DM ( Zccct ) XSEQ 1202/1203 ( Zccct )

W177F MPHT 120408-DM ( Zccct ) 0178-179% /12T3/1204/12T4 ( Zccct )
Kr:90° PTO2

PIHIER, ZEmMT,
471, ZFFEF

SMPO1

180-181TT

%
XSEQ 1202/1203 ( Zccet )
/12T3/1204/12T4 ( Zcect )

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com

Category

e

SERE

Az Ipl=

MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

Category

K5

PN
it
o
ot
7]

Shape %o [z Feature Category Shape Feature
AN ZRE YFAE 5 AN $FAE
Kr:45° ACO1 Kr:60° DCO1
NEEERH, LB, g NEEER, LR,
CMAO1 SEHE CMDO1| #&tHIE
. % .
r %, s%.
- SPMT 120408 ( Zccct ) 7] SPMT 120408 ( Zccct )
w1821
Kr:30° ZCO1
=
NFEER, FLEfR, B THERAES, EH
CMZO1| ki 7 B,
s, n#
SPMT 120408 ( Zcect ) ¥F
M194-19871
Shape Xt [z Feature Category Shape Xt Nz Feature
AR EZHS $FAE %50 TN EZHS
Kr:x  XKO1 BUSREREIS, Kr:x  XKo1 BUSBEETIES,
KiFtLTIHEI, ATFiEsE KiFtLEHEI, BFREst
, xMRo1| MI. REEX, £E ' XMRoj| MI. REER, £E
Gk BES
$%: SDMT 09T3 ( Zccet ) ?D%MTOQTS DM ( Zcect )
0185T SDMT 1204 ( Zcccet ) 1867 SDMT 1204 ( Zcccet )
Kr:x XKo02 ARSEEEYE A, Kr:x XKO02 BHE s BEEYIE A,
e oni X K#AIE, BTFE
KitEYIHEI, ATk i iy o
NI, WEEE, =@ MI, NEEE, £E
XMRo1| ML ' w XMRO1| s
T & B,
: % WPGT 060415ZSR ( Zccot )
187-1887 WPGT 05/06/08/09 ( Zcoct) 7] M189T L e e
Kr:x XKO03 Kr:x XKO03
6T AT, EFFHE 6N, &5
/ Bt Be4F
EER 8%,
WNMX 09T316NN-MM S G
190 (Cewtr '

Category

el

2
e
kv
ot
7]

Shape F 5z
Bk zme
Kr:90° PHO1
HMPO1
19251

Feature
FFE
B, mhEEE, K
IR, EEHEMNINS

ME

2%
APKT 150412 ( Zccet)
SPMT 120408 ( Zccet )

Category Shape

£ 5

SFERESE

Kr:90°

2N
PHO1

Feature

FHE

mEN, JURER, X
t}]l?k, ala E*ﬁﬂulﬂl]ﬁj
&

S%.
APKT 150412 ( Zccet)
SPMT 120408 ( Zccet )

D

7
H:

UD25/UD35

e

M211-2125

Feature

FHE

'F%' AT, EE A
%, WEER, HEIR
W, RENRKAE, 1
HIZRRESN, $HILE
EMREREEMR,

UuD30

e

205-2065T

BIHESN, EEmi#e, K
xEE, #BEIRG, REFHE
KAE, MEIERERENND,
SHIBEMREAREER.

SPGT 050204/060204/07T308
/090408/110408/140512

Category

x5

R

7L
&%

203-20451

Feature

FHE

'F%' mHRES, B At
%, WEER, HEIR
W, RENRKAE, 1
HIERFESN, $HLE
EMREREEMR,

UD40/UD50

i

207-2105%

BAESN, ERMHE, B
xEE, H#EIRG, REFHE
KAE, MHILRERENND,
SHIBEMRAREER.

SPGT 050204/060204/07T308
/090408/110408/140512

TREKEFELABEER R #HEEE

B ™ #www.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

* BRI EtHI ) R R SRR

#H = 71 A

R PE-ES YIHI 7] B (mm)
Lead Angle Type Of Tools Cutting Edge Length
ek T TIA Insert 71 K 2 IR Shape of blade
A ° F F illing tool RNERER
45 acemiing feo Incircle diameter c D R S T L
HFEEMHEN
D 60° E Shoﬁdlzr milling tool 5.556 - —  — 09 —
. 259 B Eﬁ#ﬁﬂng ool 635 06 07 — — 11 —
9.525 09 11 09 09 16 | —
T TEslot milling tool T
P 900 12.700 12 15 12 12 22
K KT )
High feed milling cutter
Zz 300 15.875 16 19 15 15 27  —
c  EmmT
Chamfer milling tool 19.050 19 o 19 19 33 o
R El# . i
H WERESISET] -
Helical end face milling tool 25.400 25 — 25 25 44 25
X %
Special
LRSS
Number Of Type
%iﬁ?’:‘i*ﬂ Shell Structure
922,27 ©27,32,40
A 2 B |
gixl) 33 22 I Eil !
. 37| . = '
i3 : e & [ 50
| ! 63 | ;
A ! B !
Type Of 1.13.5 Type Of |
Adapter| 218,20 Adapter| !
©50,63,80 ©38,45,56 |
! | ©100,125,160 |
GB5342-96#1 &£ H1D50-080 EXEHET] GB5342-96#1 E HID100-@160 EXEHET]
GB5342-960f@50-@80shell Facmilling Cutter GB5342-960f@100-2160shell Facmilling Cutter
) 101.6 177.8 ,
C | 260 D 101.6
& 7 : ; 2 T
% i | ! #® 7R ! 7B
A i | ! 63 A 32 ! ! ! L ! 70
. . | £ % 0 T AT ] | /I 80
Type O ‘Z—;% ! Type Of | 2223]] 1218 !
Adapter Adapter| i T =
200,250 -

GB5342-961 £ #19200-@250

EXEHT

GB5342-963 1 EHID3 15K L L&Y

EXEHT

MERF. BN, EXEREEEFTRSHATAREBIIEARER side-locked Shank. Straight Shank, Morse Taper Shank

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com

#H = 7 A

T A RFEM L wTm)

Tool Installation Position

A AEED W piEst
Atype of adapter Side-locked
g BEEO [ WHL
B type of adapter Replaceable Head
CE#O =R
c C type of adapter MT Morse
DEEN H#exX
D D type of adapter BT Tap:;r
Z - J =25
Straight shank Spline

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

?

TENIMSERE 9D

Diameter

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com

YIEIBE R & LE  BEHRE) EHRIK|
Cutting Direction Right Left Face Milling Tool
=
s short
TEKE M kR BT
Tool Length Measure Standard Cutter Arbor
L PIIIES
lengthening
BREE ZEAHT
) Side And Face
Groove Width H1i2 Milling Tool
BRMT IR 11 552 7)
The deepest machining 104 m“ﬁ;‘ _I'%L‘: Face

Esp (AP £

Tooth




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AJ%AI5HITIR Indexable milling tools Indexable milling tools AJ4&{7#EHITIR

2 A i
*  AIEEAIBEEIT) R a2 FR0 mi TR ZEEL
R - KESYIH
WEEER c D R s T v w ( :' \ ] ﬂf‘%ﬁiﬁg
4 ol = n ol (mm) ZlEEk
TR [ B 2 &7 =
re| B%7 | GEHEE | NEME | RS| A% | AXGEME | ALEE &4 9 8 A Q LA AV (mm)
- - \ > 65° 397 % 00 0.79
N RN AR N IEAER R o ¢ D B w—" . " 000
5
A B ¢ > 65° 5.56 09 T 1.08
H| 5 BE R| =% B @ 60 06 02 238
@, = 6.35 06 07 1 1 ™ 558
- .
D E H 8.0 08 03 3.18
cl = % Eﬁ’ Fl o= RE C:' 9.525 09 1 09 09 16 16 06 3 397
gsso / S 65° 10.0 10 04 4.76
K L mf J] F | xE @ Al # = I I7 120 2 L %
— 12.7 12 15 12 12 22 22 08 05 5.96
<
15.875 16 15 15 27 15 5.95
0 p R a5 19.05 19 19 19 33 T6 6.75
T % 6 G| = RE T [ 20.0 20 07 7.94
/\ < — 250 25 25 | 25 09 9.52
s . v o . < « | 254 25 25 To 9.72
i I 31.75 31 1 111
s <65 32 32 12 12.70
u| = WE
w z @ YR KE B
RS HEEREERR

)|

2zloalenlr2an oy

RE| ER(E) (RS ER(E)

m 3
m
Q A i 1837 181 7] Bl (mm) HE RS
A B 1S D1
= = _ ‘ — |
wa| DLBEM | PEECD| BES: | (5%) MEMEHERR (R, K0S ) F_/ 4
DEMM) | AEMmM) | AEOM)| o e () Kr an K
O
- 0.1
Al 20005 | 20025 | 20025 | e | pog Ea |s0BR| S5ER SER ER A | 45° | A | 3 e oo
¢ D F | 0.005 £0.013 | #0.025 | 635 | £0.08 | +0.08 | 0.08 | £0.11 | £0.16 | - i o YIHI A mE
D 15° D 60° B 5° 1-10 1-0.15
c £0.013 £0.025 10,025 | 9525 | 0.08 | +0.08 | +0.08 | 0.1 | 0.16 | - E <> R =
12.7 | #0.13 | +0.13 | +0.13 | +0.15 | - E 75° C 7° 150 P
2-15 2-0.20
H $0.013 +0.013 +0.025
15.875| £0.15 | £0.15 | +0.15 | £0.18 | - 850 150 L P
E \hr F \I& E $0.025 +0.025 +0.025 | 19.05 | £0.15| +0.15 | £0.15 | +0.18 | - F D 3-20° 3-0.25
20° 25 o o ’ G
G +0.025 +0.025 +013 | 254 | -— | *0.18] -- P 90 E 20 T ) N T[]
® HiEEOD1AE(mm) : 4-25 4-0.30
J £0.005 |+0.05-£0.13| 0.025 z HE F 25° w
WiZEE |E=fF| EFAF |80°%| 55°% k| 35°%=H| EF 5.30°
G N K $0.013 | 40.05-£0.13| $0.025 G 30° - 5-0.35
30° 0 6.35 | +0.05 | 0.05 | +0.05 | £0.05 | +0.05 | -
L $0.025 1 £0.05-£0.13| £0.025 | 9595 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 N 0° 6.0.40
M | +0.08-+0.18 |+0.05-+0.13 +0.13 12.7 +0.08 | +0.08 | +0.08 | +0.08 - +0.08 11° Q ’
15.875| $0.10 | +0.10 | +0.10 | 010 | - | £0.10 P 7045 FN
p 0| Hfbposss | N | 0.08-£0.18 |+0.05-£0.13| +0.025 o -0.
— = 19.05 | £0.10 | £0.10 | £0.10 | £0.10 | — | £0.10 Z HE
U | +0.13-+0.38 |+0.08-+0.25 +0.13 25.4 - +0.13 — — — +0.13

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS

HETIE keas

AFO1

* J1 B K Spare

T1H Insert B2E Threaded Sleeve |71 T #$T Insert Screw " =F Wrench

4

SE[JT12T3 S13BS SM0508 TL60 M3.5X10 T15T

EH: METRBEWNSEZ#%KMEEA TR Note: The insertis Zccct brand.

* 71EARES

Type EHZA R~ (mm) Dimension
AF01.12A22.050.04 40 62.4 50 22 40 6
AF01.12A22.063.05 50 75.4 63 22 40 6 A
AF01.12A27.080.06 60 92.4 80 27 50 6 A
AF01.12B32.100.07 70 112.4 100 32 50 6 B
AF01.12B40.125.08 80 137.4 125 40 63 6 B
AF01.12B40.160.10 100 172.4 160 40 63 6 B
AF01.12C60.200.12 160 212.4 200 60 63 6 C
AF01.12C60.250.14 200 262.4 250 60 63 6 C
AF01.12D60.315.18 270 327.4 315 60 70 6 D

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

W F Wrench

1.8

3.0

5.0

6.8

20.8

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

TR ks Sk FLIBE

AF02

* 7)1 ELMi4 Spare

TR Insert Y22 Threaded Sleeve| 7] F 3247 Insert Screw " =F Wrench 3R =F Wrench

4

SE[]T12T3 S13BS SM0508 TL60 M3.5X10 T15T S3.5

EH: BETDRZWSERMEEATIR.  Note: Theinsertis Zccct brand.

* J1EMHEELIS Type of

T EHZARSF(mm) Dimension

u=

AF02.12A22.050.03 40 62.4 50 22 40 6

AF02.12A22.063.04 50 75.4 63 22 40 6 A 4 0.5
AF02.12A27.080.04 60 92.4 80 27 50 6 A 4 1.2
AF02.12B32.100.05 70 112.4 100 32 50 6 B 5 1.8
AF02.12B40.125.06 80 137.4 125 40 63 6 B 6 3.55

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
BT Ko

AF03

* 71 ELHH¥ Spa

J1 K Insert J13E Tool chuck Ek Clamp XK 25T 7] 25T #F Wrench

Double Headed Screw Tool chuck screw

&

SE[IN1203 LSE12R/L S3
WO1R/L DM8x21X LOM5x15.1
SE[IN1504 LSE15R/L sS4

FHH: BENFBWSZH%RMEATIF . Note: The Insert Is Zecct Brand.

* NIENKES

=
SA N R N I A
80 103 27 50 55

AF03.12A27.080.04 A 4 1.8
AF03.12B32.100.05 100 122 32 50 5.5 B 5 24
AF03.12B40.125.06 125 147 40 63 55 B 6 4.4
AF03.12B40.160.08 160 181 40 63 5.5 B 8 6.4
AF03.12C60.200.10 200 221 60 63 5.5 C 10 8.5
AF03.12C60.250.12 250 270 60 63 5.5 C 12 14.1
AF03.12D60.315.15 315 353 60 63 5.5 D 15 222
AF03.15A27.080.04 80 103 27 50 7.5 A 4 1.7
AF03.15B32.100.05 100 122 32 50 7.5 B 5 23
AF03.15B40.125.06 125 147 40 63 7.5 B 6 4.2
AF03.15B40.160.08 160 181 40 63 7.5 B 8 6.1
AF03.15C60.200.10 200 221 60 63 7.5 C 10 8.3
AF03.15C60.250.12 250 270 60 63 7.5 C 12 13.6
AF03.15D60.315.15 3115 353 60 63 7.5 D 15 21.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

#tEI7JB | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

NV POIMWBO

* 7] ELHi4 Spa

T K Insert 71 K #2%T Insert Screw R =F Wrench

o

OFKTO05T3 TL60 M4X10 T15T

R METITREBWNS 24N A TIE . Note: The Insert Is Zccct brand.

* 71B#EBIS Type of M

Type EZR~F(mm) Dimension Adapter

| = #0

AF04.05A22.050.04 40 56 50 22 40 3.5
AF04.05A22.050.05 40 56 50 22 40 3.5
AF04.05A22.063.05 50 69 63 22 40 3.5
AF04.05A27.080.06 60 86 80 27 50 35
AF04.05B32.100.07 70 106 100 30 50 3.5 B 7 2.6
AF04.05B40.125.08 80 130 125 40 63 3.5 B 8 4.2
AF04.05B40.160.10 100 165 160 40 63 3.5 B 10 5.1
AF04.05C40.160.10 100 165 160 40 63 3.5 C 10 4.8

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
IR Kres N PoOmD HEETIR Keas N DoOmD

AFO04 AFO05

@Dl
[ ¢D [a%
O'
T
A
?d
P D2

* TNELMH¥ Spare * 71 ELH44 Spare

T1H Insert 713E Tool chuck E# clamp e 23] IR T 82 5T #F Wrench T FH Insert 71 R 424T Insert Screw #"F Wrench
¥ Double Headed Screw| Tool chuck screw Adjusting Screw @ -

4

OFKR0704 LOFO7R/L WST02 DM8*21 LOM5X15 TMO0608 S3S4 OD[1[]0605 TL60 M5X12 T20T
E: RETREWSEHRMEAII R, Note: The insert is Zecct brand. EH: mETRENSZRREIIA . Note:The Insert Is Walter brand.

* 71EHHES Typeo * J1E#MHEEIS Type of Milling

Tyoe Pasper| Toon Tyee BERT () Dimerson
w2 0 W A=
o [ [ [ [ o | L o T e

AF04.07A27.080.05 60 o1 80 27 63 5 A 5 AF05.06A22.050.04 40 60 50 22 40 10
AF04.07B32.100.06 70 111 100 32 63 5 B 6 18 AF05.06A22.063.05 50 73 63 22 40 10 A 5 05
AF04.07B40.125.08 80 136 125 40 63 5 B 8 3.9 AF05.06A27.080.06 60 90 80 27 50 10 A 6 0.8
AF04.07B40.160.10 100 171 160 40 63 5 B 10 5.9 AF05.06B32.100.07 70 110 100 100 50 10 B 7 15
AF04.07C60.200.12 204 211 200 60 50 5 c 12 7.6 AF05.06B40.125.08 80 135 125 125 63 10 B 8 25
AF04.07C60.250.16 254 261 250 60 50 5 c 16 133 AF05.06C40.160.09 100 170 160 160 63 10 © 9 4
AF04.07D60.315.20 319 321 315 60 50 5 D 20 18.3

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS
EfEJJE kras
AFO06

* 7JELMH¥ Spare

T1F Insert FEZ 24T Clamping Screw

ON[J[Jo6041]

ON[I[J08T5[][]

EH: BRETDRFEWSERINIEATIF . Note:The insert is Zecct brand.

* 71E#MEEIS Typeo

AF06.06A22.050.05 40 62
AF06.06A22.063.06 50 75
AF06.06B27.080.07 60 92
AF06.06B32.100.08 70 112
ONO06 AF06.06B40.125.09 80 137
AF06.06C40.160.11 100 172
AF06.06C60.200.13 160 212
AF06.06C60.250.15 200 262
AF06.06D60.315.17 250 327
AF06.08A22.063.05 50 78
AF06.08B27.080.06 60 95
AF06.08B32.100.07 70 115
AF06.08B40.125.08 80 140
ONO8
AF06.08C40.160.10 100 175
AF06.08C60.200.12 160 215
AF06.08C60.250.14 200 265
AF06.08D60.315.16 250 330

L60 M4X10

L60 M5X12

EAERS(mm) pimension

50

63

80

100

125

160

200

250

315

63

80

100

125

160

200

250

315

22

22

27

32

40

40

60

60

60

22

27

32

40

40

60

60

60

#R=F Wrench

T15T

T20T

45 4
45 4 A 6 0.5
50 4 B 7 1.2
63 4 B 8 12
63 4 B 9 2.6
63 4 © 11 4.3
63 4 o} 13 7.6
63 4 © 15 135
70 4 D 17 20.8
40 5 A 5 0.5
50 5 B 6 12
63 5 B 7 1.2
63 5 B 8 2.6
63 5 © 10 43
63 5 c 12 7.6
63 5 © 14 135
70 5 D 16 20.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

EHTIR Kees N DoOmD

AF06

L
L1

= Q

ol 2 °

g ® S

o
* 71 ELH44 Spare
T F Insert 71 K #2%T Insert Screw " F Wrench

ON[I[J0604[11 TL60 M4X10 T15
ON[I[J08T5[] TL60 M5X12 T20

EH: METRFEWNSEZ#%MEEA TR, Note: The Insert Is Zccct brand.

w 71E MBS Type of Milli

Type B AR~ (mm) pimension Adapter | Tooth

. T
g! -'-:;' ?scl:l V_“l?i
D1 L L1 ez
37 25 20 100 45 4

AF06.06W20.025.02 W 2

AF06.06W25.032.03 44 32 25 110 50 4 W 3 0.3
AF06.06W32.040.04 52 40 32 120 55 4 W 4 0.4
AF06.08W25.032.02 47 32 25 120 55 5 W 2 0.4
AF06.08W32.040.03 55 40 32 120 55 5 W 3 0.5
AF06.08W32.050.04 65 50 32 120 55 5 W 4 0.6

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#HI7JR | MILLING TOOLS §AMI §AUI #HI7J2 | MILLING TOOLS
TR ks VvV DOm0 o EHTIE keas N POMOOO

AFO07

@Dl
@D al
O
1 f\ II G
I T

@ d
@ D2

* 718K+ Spa * J1E M Spar

TR Insert E## clamp I 3 42 £T Double Headed Screw #RF Wrench T1F Insert 71 Fr #2%T Insert Screw R F Wrench
SNLCIN1204 WSTO1 #0: DM6%*20 S3 SNEX1206ANN TL60 M4X10 T15T
R RETDRBEWNSEGKMNERITIE . Note: The insertis Zcect brand. i BENRFBWSETI®M T Note:The insert is Korloy brand.

* 7IEHHEIS Typec * J1E#MHEEIS Type of Mill

S I B B B R RS a5 o [ [ o0 [ o | v | 5

AF07.12C60.200.18 209 215 200 60 40 5 C 18 AF08.12A22.050.04 40 63 50 22 40 6

AF07.12C60.250.24 259 265 250 60 40 5| C 24 9.2 AF08.12A22.063.06 50 76 63 22 40 6 A 6 0.7

AF07.12D60.315.30 324 330 315 60 40 5 D 30 12.4 AF08.12B27.080.07 60 93 80 27 50 6 B 7 1.2

AF07.12D60.355.34 364 370 855) 60 40 5| D 34 16.2 AF08.12B32.100.08 70 113 100 32 50 6 B 8 1.7

AF07.12D60.400.38 409 415 400 60 40 5 D 38 19.2 AF08.12B40.125.10 80 138 125 40 63 6 B 10 3.6

AF07.12D60.450.44 459 465 450 60 40 5} D 44 23.2 AF08.12C40.160.12 100 173 160 40 63 6 C 12 4.8
AF08.12C60.200.14 150 213 200 60 63 6 C 14 5.3
AF08.12C60.250.16 180 263 250 60 63 6 C 16 12

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

NV DOWBOO

#tEI7J2 | MILLING TOOLS §AuI
EHRTIR knes NV DoOMPOO

AF09

* TJELMH4 Spe * 7] BLK{4 Spar

J1F Insert 71 K 4247 Insert Screw "= Wrench T1F Insert 71 K %247 Insert Screw #|F wrench

SNMX1205XTN TL60 M4X10 T15T PNMU1205ANER TL60 M5X12 T20T
EH: BETNRZWUSERERIIF. Note:The insert is Taegutec brand T BETRZWSERET R Note:The insert is Kyocera brand.

* 71E##&BIS Type * 71B &R SType of Millin

Type BARF(mm) pimension Adapter i Type BARF(mm) pimension

=} *% D 3 =}

1 ]

Sk N N I R a3 oo [ oo [ oo [ o | v | o]
40 63 50 22 40 6

AF09.12A22.050.04 A 4 0.5 AF10.12A22.063.05 50 76 63 22 45 55

AF09.12A22.063.05 50 76 63 22 40 6 A 5 0.7 AF10.12B27.080.06 60 93 80 27 50 515 B 6 1.0
AF09.12B27.080.06 60 93 80 27 50 6 B 6 1.2 AF10.12B32.100.08 70 113 100 32 50 55 B 8 1.4
AF09.12B32.100.08 70 113 100 32 50 6 B 8 1.7 AF10.12B40.125.10 80 138 125 40 63 515/ B 10 25
AF09.12B40.125.10 80 138 125 40 63 6 B 10 3.6 AF10.12C40.160.12 100 173 160 40 63 5.5 C 12 3.8
AF09.12C40.160.14 100 173 160 40 63 6 C 14 48 AF10.12C60.200.14 150 213 200 60 63 515 C 14 6.5
AF09.12C60.200.18 150 213 200 60 63 6 C 18 5.3 AF10.12C60.250.16 180 263 250 60 63 55 C 16 9.1
AF09.12C60.250.20 180 263 250 60 63 6 C 20 12

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
Indexable milling tools BIF&{us4HEITIE
ESETIR ks VvV DOm0 EEETIE kess NV DOm0 O

AF11 DFO1

@Dl
@0 a
u)
T
A 33
@ D2

* 718K Spa * J1E M Spar

T1R Insert 71 K 8247 Insert Screw " =F Wrench JE & 124T Clamping Screw JE Clamp #RF Wrench

SNMU1606 TL60 M5X12 T20T HNEX0905 #H: DM6*20 W18N S3

B BETNRBWSEFITFII . Note: The Insert Is Iscar brand. FH: BETNRBWSEKRMNEEATIF . Note: Theinsertis Zccct brand.

* 71E#EBS Type of * 71E &R Type of Mill
Type EHZA R~ (mm) Dimension A?;T:F[)ter ‘ i e H A R~F(mm) Dimension
- | 002 | o0 | o0 | e | H | @ | Ex - o0 | o0 | o0 | od | H | @ |
50 64 50 22 50 7.5

AF11.16A22.050.04 A 4 0.3 DF01.09A27.080.08 60 88.5 80 27 50 8.5 A 8 1.1
AF11.16A22.063.05 50 7 63 22 50 125 A 5 0.5 DF01.09B32.100.10 70 108.5 100 32 50 8.5 B 10 2.6
AF11.16A27.080.06 60 94 80 27 50 75 A 6 1.0 DF01.09B40.125.14 80 133.5 125 40 63 8.5 B 14 3.7
AF11.16B32.100.07 70 114 100 32 50 125, B 7 1.4 DF01.09B40.160.18 100 168.5 160 40 63 8.5 B 18 5.6
AF11.16B40.125.08 80 139 125 40 63 75 B 8 25 DF01.09C60.200.22 150 208.5 200 60 63 8.5 C 22 6.3
AF11.16C40.160.10 100 174 160 40 63 7.5 © 10 3.8 DF01.09C60.250.28 200 258.5 250 60 63 8.5 C 28 10.3
AF11.16C60.200.14 150 214 200 60 63 7.5 C 14 6.5 DF01.09D60.315.32 270 3235 315 60 63 8.5 D 32 21.7
AF11.16C60.250.16 180 264 250 60 63 7.5 C 16 9.1

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
it E keer v K it E keer v K

DFO1 DFO1

* 71E K Spar
T1F Insert T 4247 Insert Screw

» * 7] ELKi{¥ Spare

PNEG110512R TL60 M4X10 TI5T J1F Insert JE & 424T Clamping Screw E#R Clamp #H=F Wrench

FH: BENRBWSEH/RMEATIF. Note: The insert is Zccct brand.

* 7JH#EBIS Type of
Type EHZA R~ (mm) Dimension Aidﬁaé)]ter
= .
D2 @D H Fzt
DF01.11A22.050.04 40 60 50 22 45 5
DF01.11A22.063.05 50 73 63 22 50 5] A 5| 0.8 * ”E*ﬂmﬂ% Type of
DF01.11B27.080.06 60 90 80 27 50 5 B 6 11
Type EHZA R~ (mm) Dimension Adapter

PNEG110512R DM6+20 W18N S3

EH: BETRBWNSE%RIMNEEATIF . Note: The insertis Zccct brand.

7N DF01.11B32.100.07 70 110 100 32 50 5] B 7 1.8 = 0
il DF01.11B40.125.08 80 135 125 40 63 5 B 8 2.9
DFO01.11A27.080.10 60 90.1 80 27 50 5
DF01.11B40.160.10 100 170 160 40 63 5 B 10 5.6
DFO01.11B32.100.14 70 110.1 100 32 50 5} B 14 1.6
DF01.11C60.200.12 150 210 200 60 63 5 C 12 7.9
DF01.11B40.125.18 80 135.1 125 40 63 5 B 18 3.2
DF01.11C60.250.14 180 260 250 60 63 5 (o] 14 13.4
DF01.11B40.160.22 100 170.1 160 40 63 5 B 22 5.8
DF01.11A22.050.05 40 60 50 22 45 5 A 5 0.6
DFO01.11A22.063.06 50 73 63 22 50 5] A 6 0.9
DF01.11B27.080.08 60 90 80 27 50 5 B 8 1.2
% DF01.11B32.100.10 70 110 100 32 50 5 B 10 1.9
B DF01.11B40.125.12 80 135 125 40 63 5 B 12 3.2
DFO01.11B40.160.14 100 170 160 40 63 5 B 14 6.4
DF01.11C60.200.16 150 210 200 60 63 5 C 16 8.5
DF01.11C60.250.18 180 260 250 60 63 5] C 18 18

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

mEEJI B keseo
DFO02

* 71ELH4F Spa

TR Insert J1# Shim J1 B 24T Insert Screw J1 B 82£T Shim Screw " F Wrench
LNKT2510 LLN25R-ZR TL60 M5X16 L60 M3.5X10 T15T/T20T

EH: METREWNSEZ#%MEEA TR, Note: Theinsertis Zccct brand.

* J1E#MHEES Type of

Type BAR(mm) pimension
=]
- | ov: | oo | o0 | oo | K| o
80 154 125 40 63 17

DF02.25B40.125.05

DF02.25C40.160.06 100 189 160 40 63 17 C 6 6.9
DF02.25C60.200.08 150 229 200 60 63 17 C 8 10.5
DF02.25C60.250.10 160 278 250 60 63 17 C 10 16.7
DF02.25D60.315.12 270 346 315 60 63 17 D 12 27.3

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

mEEJJ B kees
DFO3

R365-1505ZNE

71 K #24T Insert Screw

TL60 M4X10

EH: METREWNSEZLEER TR, Note:The insert is Sandivk brand.

*x NNEMKEES T

Type

DF03.15A22.050.04

DF03.15A22.063.05 50 70
DF03.15A27.080.06 60 87
DF03.15B32.100.07 70 107
DFO03.15B40.125.08 80 132
DF03.15B40.160.10 100 167
DF03.15C60.200.12 150 207

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com

B R~F(mm) pimension

=
- o0 | o0 | o0 | od | H | & |
40 57 50 22 40 6

63

80

100

125

160

200

22

27

32

40

40

60

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
W Omw

#|F Wrench

T15T

A 4 0.5
40 6 A 5 0.7
50 6 A 6 1.1
50 6 B 7 1.8
63 6 B 8 3.4
63 6 B 10 5.2
63 6 C 12 7.8



#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

#tEI7J2 | MILLING TOOLS §AHI
mEtJIE kees Q P

DFO3

T
A =5
@ D2
- >
* 71 B+ Spare * 71 EHHE Spare
J1F Insert E X247 Clamping Screw EB clamp R =F Wrench J1F Insert 71 5 4247 Insert Screw #WF Wrench
R365-1505ZNE DM6*20 W18N S3 LNES32.534 TL60 M4X10 T15T
FHH: METNFEWNSZELUBETRIIR. Note: Theinsertis Sandivk brand. FHH: RETHFEWNSEHRIMEEATIF . Note: The insert is Zccct brand.

* ﬂﬂiﬂﬁiq Type o * 71EEBIE Type of Milli

Type EARH(mm) pimension Adapter i Type EHZA R~ (mm) Dimension

_ --mm-n e _ Lo | oo | oo | od | K | & |

DF03.15A27.080.10 A 10 1.4 EF01.15B40.125.16 80 132 125 40 63 8 B 16 3.5
DF03.15B32.100.14 70 107 100 32 50 6 B 14 2.0 EF01.15B40.160.20 100 168 160 40 63 8 B 20 6.1
DF03.15B40.125.18 80 132 125 40 63 6 B 18 3.8 EF01.15C60.200.25 150 208 200 60 63 8 C 25 7.4
DF03.15B40.160.22 100 167 160 40 63 6 B 22 5.7 EF01.15C60.250.32 200 257 250 60 63 8 C 32 13.1
DF03.15C60.200.28 150 207 200 60 63 6 C 28 10.2 EF01.15D60.315.40 250 323 315 60 63 8 D 40 255
DF03.15C60.250.36 180 257 250 60 63 6 C 36 15.2

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




¥tHIJ7JE | MILLING TOOLS §BHI _SANT #&HI7JE | MILLING TOOLS
AIE{IEEMITIR Indexable milling tools N
H#JIR wes W Omo PRUNK

BEIED

EF02

71F Insert J12E Tool chuck FE4R Clamp | [ Z484T Clamping Screw T SR ET #RF Wrench

Tool chuck screw

jjj::_ Insert ﬂiﬁ Shim 7l hg%-r Insert Screw Ilﬁ@’ﬂ Shim Screw tﬁ%ﬁ Wrench SPKN1203 LSP12R/L WO4R/L WMBx17

~ . S3
E s SPKN1203 LSP12R/L WO4R/L WM8x22 LOMS%15.1
LNKT1506 LLN15R-ZR TLBO M4X15 L60 M3X8 T10T/T15T SPKN1504 LSP15RI/L WO4R/L WM8Bx22

R BENRRUSEEMERTF . Note: Theinsert is Zcect brand.

T BEEDRBUSEHMEATIE . Note: Theinsertis Zecet brand.

K R~F(mm) Dimension

I N T B S
80 B84 27 50 6

EART(mm) oimension ; Pl EF03.12A27.080.04 4 A 11

(kg) EF03.12B27.100.06 100 104 27 50 6 6 B 1.9

SOE 58401 008 o i = g o s 8 ¢ s EF03.12B40.125.08 125 129 40 63 6 8 B 3.5
L1100 e " i B » 8 B . B EF03.12B40.160.10 160 164 40 63 6 10 B 5.7
EF02.15C60.200.10 150 208 200 60 63 8 & 10 9.6 G5 4 500, 46643 P Py &0 e i oS “ AR
EF02.15C60.250.12 200 257 250 60 63 8 (c] 12 13.4 EF03.12C60.250.16 o e - a5 - - " _—
EF02.15D60.315.16 250 328 315 60 63 8 D 16 25.2 EF03.12D60.315.20 315 318 60 70 6 20 0 215
EF03.15A27.080.04 80 84 27 50 8 4 A 1.0

EF03.15B27.100.06 100 104 27 50 8 6 B 1.8

EF03.15B40.125.08 125 129 40 63 8 8 B 33

EF03.15B40.160.10 160 164 40 63 8 10 B 54

EF03.15C60.200.12 200 204 60 63 8 12 £ 7.9

EF03.15C60.250.16 250 253 60 63 8 16 C 13.6

EF03.15D60.315.20 315 318 60 70 8 20 D 2341

THRAKEGHRISHB K #1558 MMNBwww.hnsant.com THRAGEFEHRIGEHNE X 55 ErM#Bwww.hnsant.com




#tHI7JR | MILLING TOOLS SANT

AIEE{UEkHITIR Indexable milling tools

EEE TR Kerse | N~ OMQ iﬁ ﬁll n E

EF04 MILLING TOOLS

7K Insert 71 F 24T Insert Screw = Wrench

Q

SPKLI1204 TL60 M5X12 T20T

. BEENR2NESEXEMER TR, Note: The insert is Zeccet brand.

* JIEMIEHE Type of milling
Type BAR(mm) pimension A}d;éter %D;;h \i%n,ghl
EF04.12A22.050.04 40 54 50 22 40 6 A 4 0.3
EF04.12A22.063.05 50 66 63 22 50 6 A 5 0.6
EF04.12A27.080.06 60 83 80 27 50 6 A 3] 0.9
EF04.12B32.100.07 70 103 100 32 50 6 B 7 1.4
EF04.12B40.125.08 80 128 125 40 63 6 B 8 25

THRELGETFH RSB K 155158 MM Ewww. hnsant.com




#HI7JE | MILLING TOOLS §AHI §At"l #HI7JE | MILLING TOOLS
mEEJI B ks N OmO mEEJI B ks V PRURK)

EF06 EFO07

* 71ELMi¥ Spar * 71K Spare

TR Insert JE X247 Clamping Screw &% F Wrench TIR Insert TI R 4247 Insert Screw #F wrench

-

SPMT1806EDER TL60 M6X16 T25T SNMX1205XTN TL60 M4X10 T15T
FH: METDRBWNSEZERTEAT K, Note: The insert is Kyocera brand. FHH: METRENSZESENE., Note: Theinsertis Taegutec brand

* 71E#HERIS Type of m * 71E##EBIS Type of

Type i Type
m S 2| ER B
EF06.18A27.080.04 60 87 80 27 50 12.4 A 4 1.3 EF07.12A22.050.05 40 56 50 22 40 8 A 5 0.3
EF06.18B32.100.05 70 107 100 32 50 12.4 B 5 2.0 EF07.12A22.063.06 50 70 63 22 40 8 A 6 0.5
iﬁi EF06.18B40.125.06 80 132 125 40 63 12.4 B 6 3.6 EF07.12A27.080.07 60 87 80 27 50 8 A 7 1.2
= EF06.18B40.160.08 100 167 160 40 63 12.4 B 8 5.0 EF07.12B32.100.08 70 107 100 32 50 8 B 8 a7/
EF06.18C60.200.10 150 207 200 60 63 12.4 C 10 7.7 EF07.12B40.125.10 80 132 125 40 63 8 B 10 2.8
EF06.18C60.250.12 180 257 250 60 63 12.4 C 12 12.0 EF07.12C40.160.12 100 166 160 40 63 8 C 12 4.4
EF06.18A27.080.06 60 87 80 27 50 12.4 A 6 1.3 EF07.12C60.200.16 150 207 200 60 63 8 C 16 6.1
EF06.18B32.100.07 70 107 100 32 50 12.4 B 7 1.9 EF07.12C60.250.20 180 257 250 60 63 8 C 20 10.8
% EF06.18B40.125.08 80 132 125 40 63 12.4 B 8 3.5
2 EF06.18B40.160.10 100 167 160 40 63 12.4 B 10 4.9
EF06.18C60.200.12 150 207 200 60 63 12.4 C 12 7.6
EF06.18C60.250.14 180 257 250 60 63 12.4 C 14 17.0

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
IR Knoor y o Omo HE#ETI R Koo

PFO1 PFO2

* 718K Spar * J1E M4 Spare

T1F Insert 71 K #24T7 Insert Screw | =F Wrench T1 R #24T Insert Screw R =F Wrench

TPKN2204 MYL8X18 S4 SEET09T308PER TL60 M3X7 TO8T
FH: BENHREWNSEH)RINEATTR ., Note: Theinsertis Zccet brand. FH: BETNRBWNSZH%MEATIH . Note: Theinsertis Zccct brand.
* J1AMEBS Typeo * J1E MBS Type of
Type EHARSH(mm) Dimension Type E 7 R~F(mm) Dimension
) = =
- | e | e | w0 | W | & = oD:

PF01.22A22.063.03 50 63 22 50 15 PF02.09A22.050.05 40

PF01.22A27.080.04 60 80 27 50 15 A 4 0.9 PF02.09A22.063.06 50 63 22 40 6.5 A 6 0.5

PF01.22B32.100.05 70 100 32 50 15 B 5 1.8 PF02.09A27.080.08 60 80 27 50 6.5 A 8 0.9

PF01.22B40.125.06 80 125 40 63 15 B 6 2.5 PF02.09B32.100.08 70 100 32 50 6.5 B 8 1.7

PF01.22B40.160.07 100 160 40 63 15 B 7 3.6 PF02.09B32.100.10 70 100 32 50 6.5 B 10 1.7
PF02.09B40.125.12 80 125 40 63 6.5 B 12 2.6

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
T Knoor € O0"O0 T ke s € O0VO0

PFO2

Type AR~ (mm) Dimension ';gg)ter

=

5 | op: | o0 | od | v | o | gx
40 50 22 40 10

PF02.12A22.050.05
PF02.12A22.063.06 50 63 22 40 10 A 6 0.65
PF02.12A27.080.08 60 80 27 50 10 A 8 0.9
E PF02.12B32.100.10 70 100 32 50 10 B 10 1.2
E:l PF02.12B40.125.12 80 125 40 63 10 B 12 3.1
PF02.12C40.160.14 100 160 40 63 10 (¢} 14 41
PF02.12C60.200.16 140 200 60 63 10 (¢} 16 6.1
T K Insert ¥2E Threaded Sleeve | 71 F #2%T Insert Screw #F wrench #F Wrench PF02.12C60.250.18 200 250 60 = 10 o e O
u ; . PF02.12D60.315.24 250 315 60 63 10 D 24 21.6

SEET120308PER S12BSX SMO0508 TL60 M3.5X10 T15T S3.5

EH: METREWNSEZ#%MESA T K Note: The insert is Zccct brand.

* 71E#MHZBIS Type of
Type E & R~F(mm) Dimension Adapter | Tooth
ﬁ!y?:' 0O Wi
S| oo | o0 | e | H | @ | Es
40 50 22 40 10 3

PF02.12A22.050.03 A
PF02.12A22.063.04 50 63 22 40 10 A 4 0.65
PF02.12A27.080.04 60 80 27 50 10 A 4 0.9
E PF02.12B32.100.05 70 100 32 50 10 B 5 1.2
S PF02.12B40.125.06 80 125 40 63 10 B 6 3.1
PF02.12C40.160.08 100 160 40 63 10 C 8 4.1
PF02.12C60.200.10 140 200 60 63 10 (¢} 10 6.1
PF02.12C60.250.12 200 250 60 63 10 C 12 10.9
PF02.12A22.050.04 40 50 22 40 10 A 4 0.3
PF02.12A22.063.05 50 63 22 40 10 A 5 0.65
;é PF02.12A27.080.06 60 80 27 50 10 A 6 0.9
2 PF02.12B32.100.07 70 100 32 50 10 B 7 1.2
PF02.12B40.125.08 80 125 40 63 10 B 8 3.1
PF02.12C40.160.12 100 160 40 63 10 C 12 4.1

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AuI
HEETI A kroo Ny o (PRNK]

PFO3

* 71EHH4 Spa

71K Insert 71 K 24T Insert Screw| 7] B 42%T Shim Screw " F Wrench " F Wrench
LNKT1506EN-ZR LLN15-ZR TL60 M4X12 L60 M3X7 T15T T10T
LNKT2007DN-ZR LLN20-ZR TL60 M4X15 L60 M3X7 T15T T10T

LNKT2510-ZR LLN25R-ZR TL60 M5X17 L60 M3.5X10 15T T20T

EHH: BETHRBWNSEZHRNEEA MBI A . Note:The insertis Zcect brand

* J1E MRS Typeo

mm) Dimension Adapter
Cailfego ry ) 0
3| H
I
PF03.15B40.125.06 80 125 40 63 8 B 6 3.2
PF03.15C40.160.08 100 160 40 63 8 C 8 5.1
LN15
PF03.15C60.200.10 150 200 60 63 8 C 10 6.5
PF03.15C60.250.12 200 250 60 63 8 @ 12 11.5
PF03.15D60.315.16 250 315 60 63 8 D 16 19.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI $tHI7JE | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

* 71EHEES
Type B R~F(mm) pimension Adapter

= 0
1
s N N

PF03.20B40.125.06 80 125 40 63 12 B 6 3.2
LN20 PF03.20C40.160.08 100 160 40 63 12 C 8 5.1
PF03.20C60.200.10 150 200 60 63 12 (¢} 10 6.5
PF03.20C60.250.12 200 250 60 63 12 C 12 11.5
PF03.20D60.315.15 250 315 60 63 12 D 15 19.8
PF03.25B40.125.05 80 125 40 63 15 B 5 3.2
PF03.25C40.160.06 100 160 40 63 15 C 6 5.1
HNES PF03.25C60.200.08 150 200 60 63 15 C 8 6.5
PF03.25C60.250.10 200 250 60 63 15 C 10 11.5
PF03.25D60.315.12 250 315 60 63 15 D 12 19.8

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
€ ovo

#tEI7J2 | MILLING TOOLS §AMI
HEFETI A Kroo Ny o (PR NK]

PFO04

* 71 ELHF Spar * 71 ELH#4 Spare

71K Insert 2= Threaded Sleeve| 71 F 12 $T Insert Screw 3" F Wrench 3" F Wrench J1F Insert 71 K #24T Insert Screw R =F Wrench
R290-12T308 S12BSX SM0508 TL60 M3.5X10 T15T S3.5 TNGX2207PNTN TL60 M5X12 T20T

EH: BENRBEWSZEBERRMIIA, Note: The insertis Taegutec brand.

FH: BETNARBWSZLHETREIIF . Note: The insert is Sandvik brand.

* 71B#EBS Type of * 71EMKES

m e S B e #O HH
PF04.12A22.050.03 40 50 22 40 9 A 3 PF05.22A27.080.05 60 80 27 50 14 A 5
PF04.12A22.063.04 50 63 22 40 9 A 4 0.6 PF05.22B32.100.06 70 100 32 50 14 B 6 15
PF04.12B27.080.04 60 80 27 50 9 B 4 0.9 PF05.22B40.125.08 80 125 40 63 14 B 8 2.4
PF04.12B32.100.05 70 100 32 50 9 B 5 13 PF05.22C40.160.10 100 160 40 63 14 c 10 40
PF04.12B40.125.06 80 125 40 63 9 B 6 27 PF05.22C60.200.12 150 200 60 63 14 c 12 57
PF04.12C40.160.08 100 160 40 63 9 c 8 4.1 PF05.22C60.250.14 180 250 60 63 14 c 14 10.3
PF04.12C60.200.10 150 200 60 63 9 c 10 6.2
PF04.12C60.250.12 180 250 60 63 9 c 12 107

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR Keeo

PFO6

<~

\q"

‘ -

TNes
-
&

3\
.

=

ANANY

LN NN N N

e

@ D2

* 71ELMH¥ Spa

71K Insert ¥22 Threaded Sleeve| 7] Fr 84T Insert Screw " F Wrench " F Wrench

EP

SOMT12T308PEER S12BSX SM0508 TL60 M3.5X10 T15T S3.5

FH: BENREWNSE=FRMEIIF . Note: The insert is Mitsubishi brand.

* 71EHEES Type

Tae HARH(mm) Dimension

e s N R R TN
PF06.12A22.050.04 40 50 22 40 10 A 4 0.3
PF06.12A22.063.05 50 63 22 40 10 A 5 0.5
PF06.12B27.080.06 60 80 27 50 10 B 6 0.6
PF06.12B32.100.07 70 100 32 50 10 B 7 1.4
PF06.12B40.125.08 80 125 40 63 10 B 8 2.2
PF06.12C40.160.12 100 160 40 63 10 C 12 35
PF06.12C60.200.16 150 200 60 63 10 (¢} 16 6.2
PF06.12C60.250.18 180 250 60 63 10 (¢} 18 10.7

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

XDMT120408PDER

FH: BENREZWSEZEERMEIIF. Note: The insert is Sumitomo brand.

* 71EAHES

Type

BS
PF07.12A22.050.04
PF07.12A22.063.05
PF07.12A27.080.06
PF07.12B32.100.07
PF07.12B40.125.08
PF07.12C40.160.10

PF07.12C60.200.12

S12BSX

50

60

70

80

100

150

¥22 Threaded Sleeve | 71 #%T Insert Screw

SM0508

63

80

100

125

160

200

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com

EHZA R~ (mm) Dimension Adapter|  Tooth

eettomomme | e
I N B R e 4
40 50 22 40 10

22

27

32

40

40

60

" F Wrench " F Wrench

TL60 M3.5X10 T15T S3.5

4
40 10 5 05
50 10 6 1.0
50 10 B 7 15
63 10 B 8 25
63 10 B 10 45
63 10 c 12 8.3



#tEI7J2 | MILLING TOOLS §AHI
mEtJIE knoo

PFO8

* 7JEL K Spare

T1F Insert 71 K %247 Insert Screw X =E Wrench

.
=

LNMX170808PNSR TL60 M4X12 T15T

FH: BENREWSEERMBMEIIF. Note: The insert is Sumitomo brand.

* 7JEHHES Typeo

. EHZARSF(mm) Dimension

] =
— T R T T TN
60 80 27 50 14

Tooth
gl

PF08.17B27.080.05 B 5
PF08.17B32.100.06 70 100 32 50 14 B 6 1.8
PF08.17B40.125.06 80 125 40 63 14 B 6 24
PF08.17B40.160.08 100 160 40 63 14 B 8 4.0
PF08.17C60.200.10 150 200 60 63 14 C 10 6.5
PF08.17C60.250.12 180 250 60 63 14 C 12 12.3

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE
EfETIJE  knoo

PFO09

* 71 ELHi{4 Spare

T1F Insert 71 K #24T Insert Screw R =F Wrench

o)

XNEX0806 TL60 M4X12 T15T

T BETNRFBWSEFLEMMEIIF . Note: The insertis SECO brand.

* JIEMKEEIST

Type E 7R~ (mm) Dimension
_ oo | o0 | od | W | @ |
40 50 22 40 6

PF09.08A22.050.05

PF09.08A22.063.06 50 63 22 40 6 A 6 0.5
PF09.08B27.080.07 60 80 27 50 6 B 7 1.0
PF09.08B32.100.08 70 100 32 50 6 B 8 1.8
PF09.08B40.125.11 80 125 40 63 6 B 11 24
PF09.08B40.160.12 100 160 40 63 6 B 12 3.8
PF09.08C60.200.16 150 200 60 63 6 C 16 6.2

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AMI

AI(UEEHITIR Indexable milling tools

Ei$ 7 & ECOVEOe@ 00
RFO1

* 7B K4 Spar

J1F Insert 71K #2457 Insert Screw #RF Wrench
RCKT10T3MO-DM TL60 M4X10 T15
RCKT1204MO-DR TL60 M4X10 T15

EH: METRBEWNSEHRMNEEARIETIIF . Note: The insert is Zccct brand.

* 71E##EEIS Type of

Type EZERF(mm) Dimension Adapter

#0

=]

= " oo | e | L U ® | g
5 25 20 100 30 5

RF01.10W20.025.02 W 2 0.2
RF01.10W25.032.02 5 32 25 120 35 5 W 2 0.5
RF01.12W32.040.03 6 40 32 120 40 6 W 3 0.7
RF01.12W32.050.03 6 50 32 120 40 6 W 3 0.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

E$h 7] 8 ECOVOe@ 00
RFO1

* J1EHi#F Spare

T1F Insert 71 K #24T Insert Screw R =F Wrench

II

RCKT1204MO-DR TL60 M4X10 T15T
RCKT1606MO-DR TL60 M5X12 T20T
RCKT2006MO-DR TL60 M6X16 To5T

EH: BENFEWNSEKRIMNEA®RMEIIE, Note: Theinsertis Zccct brand.

* 71EMEES

Type EHZA R~ (mm) Dimension Adapter

= N
= | " | oo | od | H | oo | @ | gx
6 63 22 50 50 6

RF01.12A22.063.04

RF01.16B27.080.05 8 80 27 50 60 8 B 5 0.7
RF01.16B32.100.06 8 100 32 50 70 8 B 6 1.2
RF01.20B40.125.07 10 125 40 63 80 10 B 7 22
RF01.20B40.160.08 10 160 40 63 100 10 B 8 4.2

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AMI

AI(UEEHITIR Indexable milling tools

7] 8 ECOVO@ 00
RF02

* J)ELHi¥ Spare

J1F Insert 71 #2847 Insert Screw | =F Wrench
RDKWO0803MO TL60 M3X7 T10
RDKW10T3MO TL60 M4X10 T15
RDKW1204MO TL60 M4X10 T15

i BETDREWNSERMNEEARIMII . Note: The insert is Zccct brand.

* 7NEHHERIS Type of
Type HZAR~T(mm) Dimension

=]
il = 5

@D ad L L1 ap
RF02.08W16.016.02 4 16 16 100 25 4 W 2 0.1
RF02.08W25.025.02 4 25 25 100 30 4 w 2 0.3
RF02.10W32.032.02 5 32 32 120 40 5 W 2 0.7
RF02.12W32.040.03 6 40 32 120 40 6 W 3 0.7
RF02.12W32.050.04 6 50 32 120 40 6 W 4 0.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI #tHI7J2 | MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

TR ECOVO@ o0
RF02

* J1E M Spare

T1R Insert J1 K 4247 Insert Screw ER clamp #RF Wrench
RDKW1204MO TL60 M4X10 WD204 T15T
RDKW1605MO TL60 M5X12 WD208 T20T
RDKW2006MO TL60 M6X16 T25T

FH: BEDRBEWSERMNEEATIF. Note: Theinsertis Zccct brand.

* 78RBS Type of Mi
Type EARRF(mm) Dimension A:;E:er LO;jtzh

Bs R @D ad H @D2 ap B -
RF02.12A22.050.03 6 50 22 40 40 6 A 3
RF02.12A22.063.04 6 63 22 50 50 6 A 4 0.5
RF02.16B27.080.05 8 80 27 50 60 8 B 5 1.2
RF02.16B32.100.06 8 100 32 50 70 8 B 6 1.6
RF02.20B40.125.06 10 125 40 63 80 10 B 6 1.9
RF02.20B40.160.07 10 160 40 63 100 10 B 7 3.7

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AJEAUHHITIR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

sk 7] B ECOVOe@ o0 7] 8 ECOVO@ oMo
RFO3 RF04

* 7)1 ELM¥ Spare * 71K Spare

T1F Insert T1 i #247 Insert Screw JEHR Clamp " F Wrench J1F Insert T 42457 Insert Screw #"=F Wrench
RPMT1204MO TL60 M4X10 WD204 T15T QPMT120440 TL60 M4X10 T15T
RPMT1606MO TL60 M5X12 WD208 T20T

FH: BEDRFEWSEERMEIIA. Note: The insert is Sumitomo brand.

EH: BENRBWNSE=%RMII K, Note: The insert is Mitsubishi brand.

* 71E RIS Type of * 71E##EEIS Type of

EAR(mm) Dimension Type E A R~F(mm) Dimension
il =
RF03.12A22.050.04 6 50 22 40 40 6 A 4 0.4 RF04.12A22.050.04 40 50 22 40 A 4 0.2
RP12  RF03.12A22.063.05 6 63 22 45 50 6 A 5 0.7 RF04.12A22.050.05 40 50 22 40 A 5 0.2
RF03.12B27.080.06 6 80 27 50 60 6 B 6 12 RF04.12A22.063.05 50 63 22 40 A 5 0.4
RF03.16A22.063.04 8 63 22 50 40 8 A 4 0.7 RF04.12A22.063.06 50 63 22 40 A 6 0.4
RP16  RF03.16A27.080.05 8 80 27 50 60 8 A 5 12 RF04.12A27.080.06 60 80 27 50 A 6 0.9
RF03.16B32.100.06 8 100 32 63 70 8 B 6 16

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tE/7JE | MILLING TOOLS §BHI §BUI #El7JE | MILLING TOOLS
FIEEET] Kkeeo PRIEKIN FEEET] koo c o 6 6 @ mPO

PEO1 PEO1

ap

L1

@D
@ d

ap

* 71 ELEi 4 Spa * 71 B4 Spe

J1 R Insert 71 R 4247 Insert Screw R F Wrench J1F Insert 71 R 24T Insert Screw R F Wrench
et =
APKT11T30 TL60 M2.5X6.5 TO8 APKT11T3[I[] TL60 M2.5X6.5 TO8T
APKT1604[11] TL60 M4X10 T15 APKT1604[1[] TL60 M4X10 T15T

* 71E RIS Type

%3 Bs 0

Type 7 R~F(mm) Dimension Adapter

A #0
2 T!
PE01.11Z16.016.02 16 16 90 25 10.5 z 2 0.1 PEO01.11A22.050.06 50 22 40 40 11
PE01.11220.020.02 20 20 100 30 10.5 z 2 0.2 AP11  PE01.11A22.063.08 63 22 50 40 11 A 8 0.6
PE01.11Z25.025.03 25 25 115 35 10.5 z 3 0.4 PEO1.11A27.080.08 80 27 60 50 11 A 8 1.2
AP11 PE01.11232.032.04 30 3 125 40 105 z 4 07 PE01.11B32.100.10 100 32 70 50 11 B 10 17
St L AP 12 16 85 o5 105 W 1 0.1 PE01.16A22.050.05 50 22 40 40 15.5 A 5 03
PE01.11W16.016.02 1 16 % o5 105 W s 0.1 PE01.16A22.063.06 63 22 50 40 155 A 6 05
PE01.11W20.020.02 o 20 e o 105 W 5 02 AP16  PEO01.16A27.080.07 80 27 60 50 155 A 7 1.1
PEO1.11W25.025.03
o5 o5 115 a5 105 W 3 04 PEO1.16B32.100.08 100 32 70 50 15.5 B 8 16
PEO1.11W32.032.04
o a2 105 40 105 - 07 PE01.16B40.125.10 125 40 80 63 155 B 10 3.2
PE01.16Z25.025.02 25 25 115 35 155 z 2 0.4 PE01.16B40.160.10 160 40 100 63 155 B 10 6.3
PE01.16232.032.03 32 32 125 40 155 z 3 0.7
M BENRFEWNSZHIMNEAMMETIIE Note: The Insert Is Zccct brand.
AP16  PE01.16Z32.040.04 40 32 130 42 15.5 z 4 0.8
PEO1.16W25.025.02 25 25 115 35 155 w 2 0.4
PE01.16W32.032.03 32 32 125 40 155 w 3 0.7
PE01.16W32.040.04 40 32 130 42 155 w 4 0.8

THRAKEFBRERB X #EEZEMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com



#tEI7J2 | MILLING TOOLS §AMI

AI(UEEHITIR Indexable milling tools

B BEET] Kesor CQPOO POV
PEO2

L
op
®
o) o
ASS © | RS
A Y
* 71EHH¥ Spa
T1H Insert 71 K %247 Insert Screw #RF Wrench
APKT11T3 TL60 M2.5X6.5 TO8

FR: RETNREZWNSEZKINSEASMEII K, Note: The insert is Zccct brand.

* 71E MRS Type of

Type BARF(mm) Dimension LT

1
_ I T T I R
20 20 120 45 29

PE02.11W20.020.01 w 1 0.3
PE02.11W25.025.02 25 25 130 65 39 W 2 0.4
PE02.11W32.032.02 32 32 140 65 48 w 2 0.7
PE02.11W32.040.02 40 32 150 75 55 w 2 1.3

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

7 BEET] Kesor CQPOO PoOonD
PEO2

* 718 M4 Spa

T1H Insert T1 K %257 Insert Screw #HF Wrench

B
o,
Lt

iy
]

APKT11T30[] TL60 M2.5X6.5 TO8T

E: BETRBNSEHRMESASRETIF . Note: The insert is Zccct brand.

* 71E#MEBS Type of

Type EHZARSF(mm) Dimension

=]
- oo | od | o> | | @ |
50 22 40 58 39

PE02.11A22.050.04

PE02.11A27.063.04 63 27 50 58 39 A 4 0.9
PE02.11B32.080.05 80 32 60 63 39 B 5 1.3
PE02.11B40.100.06 100 40 70 63 39 B 6 2.0

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

FIETIE koo CPOOPONOO

PEO3

L
L1
o ©
Q §e]
IS8
ap
* J1ELHHF Spa
T1R Insert 71 4247 Insert Screw R F Wrench
o
i
APMT113504PDER TL60 M2.5X6.5 TO8
APMT160408PDER TL60 M4X10 T15

EH: BETNREWUSEKRIMNEAMRETI R, Note: The insertis Zccct brand.

* J1E RIS Type of

EAERF(mm) pimension Fukalgitet

AP11 PE03.11W25.025 25 25 130 40 20 w 3 0.5

. PE03.16W32.032 32 32 140 50 30 w 3 0.8
6

PE03.16W32.040 40 32 150 50 30 w 3 1.0

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

FETIE keso CPOQPOWOO

PEO4

* 71 ELH4 Spe

T1H Insert 71 K %247 Insert Screw " F Wrench

LDO15040]0] TL60 M3.5X12 T15T

EH: METRBWNSERANXNRIEIIF . Note: The insert is Ceratizit brand.

* JIEHHES Type

EHZAR~F(mm) Dimension
PE04.15A16.040.04 35 40 16 40 13 A 4 0.3
PE04.15A22.050.05 40 50 22 40 13 A 5 0.5
PE04.15A22.063.06 50 63 22 40 13 A 6 0.9
PE04.15B27.080.07 60 80 27 50 13 B 7 1.7
PE04.15B32.100.08 70 100 32 50 13 B 8 1.7
PE04.15B40.125.10 80 125 40 63 13 B 10 2.6
PE04.15B40.160.12 100 160 40 63 13 B 12 35

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

BIETIE ko CQPOOP onnd

PEOS

Ll

op,

)]
[ )]

J1F Insert 71 25T Insert Screw R =F Wrench

o .
H ‘.

APKT1705PER TL60 M4X10 T15

EH: BETNRZWNSE2EBERRMEIIA . Note: The insert is Taegutec brand.

* ﬂﬁiﬂ*ﬁiq Type o

Type HZA R~ (mm) Dimension Adapter| Tooth

PE05.17W25.025.02 25 25 100 35 14 W 2 0.3
PE05.17Z25.025.02 25 25 200 45 14 z 2 0.5
PE05.17W32.032.03 32 32 110 40 14 W 3 1.2
PE05.17Z32.032.03 32 32 200 45 14 z 3 1.8
PE05.17W32.040.04 40 32 115 45 14 W 4 24
PE05.17Z32.040.04 40 32 250 45 14 z 4 3.2

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

HIETIE ko CQPOOP 0nn

PEOS

71K Insert T K 42457 Insert Screw #HF Wrench
= - §

Bl

APKT1705PER TL60 M4X12 T15T

FH: BETNRZWUSERHERTMEIIR. Note: The insert is Taegutec brand.

* J1EMHEES Type o

Type HZA R~ (mm) Dimension

) =

e N N N B A
35 40 16 40 14

PE05.17A16.040.04

PEO05.17A22.050.05 40 50 22 40 14
PE05.17A22.063.06 50 63 22 40 14
PEO05.17A27.080.07 60 80 27 50 14
PE05.17B32.100.08 70 100 32 50 14 B 8 1.5
PEO05.17B40.125.09 80 125 40 63 14 B 9 3.9
PE05.17C40.160.10 100 160 40 63 14 C 10 5.6
PE05.17C60.200.12 150 200 60 63 14 C 12 7.0

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

AJ%&A4I5HITIR Indexable milling tools Indexable milling tools FT4&{i#tHITIR

FRTIE weeo CPOOPoN0O FIRTIS, oo CPOOPoON0O
PEO6 PEO6

@D a
o
y
T \Y4
A
o d
@ D2

* 71ELMH¥ Spa

T1H Insert 71 24T Insert Screw #R=F Wrench

A

* 71ELHH4 Spa

J1F Insert 71 K #24T Insert Screw " F wrench

AXMT1235[][JPEER TL60 M3X7 TO8

AXMT1705J[JPEER TL60 M4X10 T15

FH: BENRFBWSEZEERMBEIIF . Note: The insert is Sumitomo brand. )

AXMT1235[][JPEER TL60 M3X7 TO8T
* 71E#EEIS Typeo

AXMT1705JCJPEER TL60 M4X10 T15T

Type

ETE=] FH: BENRFBWSZEERAMBERIIA . Note: The insert is Sumitomo brand.

PE06.12Z16.016.02.S 16 16 100 25 10 4 2 0.3

= e
PE06.12Z16.016.02.M 16 16 145 25 10 z 2 0.5 * JIEHHEES Type of Millin

PE06.12220.020.03.S 20 20 110 30 10 z 3 0.6 Type P};algter
gy, PE08.12225.025.04. 25 25 120 35 10 z 4 1.0 PE06.12A16.040.06 40 16 35 40 10
PE06.12225.025.04.M 25 25 170 50 10 z 4 15 AX12  PE06.12A22.050.07 50 22 40 40 10 A 7 0.3
PE06.12232.032.05.S 32 32 130 40 10 z 5 2.0 PE06.12A22.063.08 63 22 50 40 10 A 8 0.5
PE06.12232.032.05.M 32 32 180 60 10 z 5 2.4 PE06.17A16.040.04 40 16 35 40 14 A 4 03
PE06.12232.040.06.S 40 32 150 30 10 z 6 25 PE06.17A22.050.05 50 22 40 40 14 A 5 0.3
PE06.12232.040.06.M 40 32 180 30 10 z 6 32 AX17  PE06.17A22.063.06 63 22 50 40 14 A 6 0.5
PE06.17225.025.02.S 25 25 120 35 14 z 2 1.0 PE06.17A27.080.07 80 27 60 50 14 A 7 17
PE06.17225.025.02.M 25 25 170 50 14 z 2 15 PE06.17B32.100.08 100 32 70 50 14 B 8 3.2
AX17  PE06.17232.032.03.S 32 32 130 40 14 z 3 2.0 PE06.17B40.125.09 125 40 80 63 14 B 9 6.3
PE06.17232.032.03.M 32 32 180 60 14 z 3 24
PE06.17232.040.04.S 40 32 170 50 14 z 4 25
PE06.17232.040.04.M 40 32 220

THRAKEFBRERB X #EEZEMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AMI §AHI #HI7JE | MILLING TOOLS

FIRTIE weee CPOOPON0O FAIRTIE weee CPOOPON0O

PEO7 PEOS8

L1

@D
@d

op

* 718 M Spa * 718 M Spa

J1F Insert 71 F 24T Insert Screw R F Wrench

71K Insert 71 K %247 Insert Screw " F Wrench

APMT1035JJPDER TL60 M2.5X6.5 Tos ADMT080304R TL60 M2.5X6.5 TO8
APMT1605JJPDER TL60 M3.5X10 T15 ADMT120408R TL60 M3X8 T10
E: RETHEWSEERKMIIA . Note: The insert is Sumitomo brand. EW: BRETREZWUSERRERMETF . Note: The insert is Walter brand.
#0 5 0
i = i
PE07.10Z20.020.03.S 20 20 130 35 17 z 1 0.3 PE08.08W16.016.02 16 16 90 34 8 w 2 0.1
PE07.10220.020.03.M 20 20 185 60 17 z 1 0.5 PE08.08W20.020.03 20 20 20 39 8 W 3 0.2
AP10  PE07.10Z25.025.04.S 25 25 140 40 26 z 1 1.2 ADOS PE08.08W25.025.04 25 25 100 43 8 w 4 0.3
PE07.10Z25.025.04.M 25 25 220 75 26 z 1 1.8 PE08.08W32.032.05 32 32 110 49 8 w 5 0.6
PE07.10225.030.04.S 30 25 150 50 35 z 1 2.4 PE08.08W32.040.06 40 32 110 40 8 W 6 0.7
PE07.10225.030.04.M 30 25 230 50 35 z 1 32 PE08.08216.016.02 16 16 180 34 8 z 2 0.3
PE07.16232.032.04.S 32 32 150 50 39 z 1 0.3 PE08.08220.020.02 20 20 200 39 8 z 2 0.5
PE07.16232.032.04.M 32 32 230 90 39 z 1 0.5 PE08.08225.025.03 25 25 200 43 8 z 3 0.7
AP16  PE07.16232.035.04.S 35 32 150 50 39 z 1 1.2 PE08.12W25.025.03 25 25 100 43 11.5 w 3 0.35
PE07.16232.035.04.M 35 32 230 50 39 z 1 1.8 PE08.12W32.032.04 32 32 110 49 11.5 w 4 0.6
PE07.16232.040.04.S 40 32 160 50 39 z 1 2.4 AD12 PE08.12W32.040.05 40 32 110 40 115 w 5 0.7
PE07.16Z32.040.04.M 40 32 240 50 39 z 1 32 PE08.12225.025.03 25 25 200 43 11.5 z 3 0.7
PE08.12232.032.04 32 32 250 49 1.5 z 4 1.5
PE08.12232.040.05 40 32 250 45 115 z 5 1.6

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

AI(UEEHITIR Indexable milling tools

ARDRR € G @ @ P ONDO
PEOS8

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
CPOOPono0

* 71 ELKi¥ Spare * 7B K+ Spar

J1K Insert 71 R #2%T Insert Screw % F Wrench TIE Insert 71 K 4247 Insert Screw #F Wrench

ADMTO080304R TL60 M2.5X6.5 TO8T R390-11T3[1[] TL60 M2.5X6.5 TO8
ADMT120408R TL60 M3X8 T10T R390-1704[1[] TL60 M3.5X10 T15
ADMT160608R TL60 M4X10 T15T EH: BETDRENSZEHFYETI R Note: The insert is Sandvik brand.

EH: BETREWSHERREITI A Note: The insert is Walter brand. “ J1ERBIS Type of Mi

. Sk e &0
* TIABHES Type of millingt - oo | e | ] o] e
Type E A R~F(mm) Dimension Adapter PE09.11Z216.016.02 16 16 100 20 10 Z 2 0.3
JE
Z
40 16 35 40 8 .

PE08.08A16.040.06 PE09.11225.025.03 25 25 120 32 10 z 3 05

ADo8 PE08.08A22.050.07 50 22 40 40 8 A 7 0.38 PE09.11232.032.03 32 32 130 40 10 z 3 0.8
PEO0S.12A16.040.05 0 16 35 20 115 A 5 02 i PE09.11232.040.04 40 32 170 40 10 z 4 17
PE08.12A22.050.06 50 20 40 40 115 A 6 0.3 PE09.11W16.016.02 16 16 73 25 10 W 2 0.3
PE08.12A22.063.07 63 20 50 40 115 A 7 0.6 PEO09.11W20.020.02 20 20 81 25 10 w 2 0.4

A2 PE08.12A27.080.08 7 o 0 50 e A 8 » PE09.11W25.025.03 25 25 88 32 10 w 3 05
PEO0S.16A16.040.04 40 16 35 20 15 A . 02 PE09.11W32.032.03 32 32 100 40 10 w 3 0.8
PE08.16A22.050.05 50 20 40 40 15 A 5 0.3 PE09.11W32.040.04 40 32 110 40 10 W 4 1.7

apjo PEO8-16A22.063.06 63 o0 50 20 15 A 5 06 PE09.17225.025.02 25 25 120 32 15.7 z 2 04
PE08.16A27.080.07 80 27 60 50 15 A 7 10 PE09.17Z32.032.03 32 32 130 40 15.7 Z 3 0.8
PE08.16B32.100.08 100 32 70 50 15 B 8 16 17 | PE09.17232.040.04 40 32 170 40 157 z 4 0.9
PE08.16B40.125.10 125 40 80 63 15 B 10 3.4 PE09.17W25.025.02 > % - - 157 w 2 0.4
PE08.16C40.160.12 160 0 100 3 15 c i 43 PE09.17W32.032.03 32 32 100 40 15.7 W 3 0.8
PE09.17W32.040.04 40 32 110 40 15.7 w 4 0.9

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

AI(UEEHITIR Indexable milling tools

ARIRR € G @ @ TP ONDO
PEO9S

* 71E M4 sSpar

T1H Insert 71 |5 #2457 Insert Screw X F Wrench

"

R390-11T3[I[] TL60 M2.5X6.5 TO8T

R390-1704[1] TL60 M3.5X10 T15T

EH: BETRBEWNSEZ LSERTREIIF . Note:The insert is Sandvik brand.

* 71B KBS Type o

HZAR~F(mm) Dimension Adapter

O

i
PE09.11A16.040.04 40 16 35 40 10 A 4 0.4
y PE09.11A22.050.05 50 22 40 40 10 A 5 0.5
PE09.11A22.063.06 63 22 50 40 10 A 6 0.6
PE09.11A27.080.07 80 27 60 50 10 A 7 0.9
PE09.17A16.040.03 40 16 35 40 15.7 A 3 0.3
PE09.17A22.050.04 50 22 40 40 15.7 A 4 0.4
17 PE09.17A22.063.05 63 22 50 40 15.7 A 5 0.6
PE09.17A27.080.06 80 27 60 50 15.7 A 6 0.8
PE09.17B32.100.07 100 32 70 50 15.7 B 7 1.0
PE09.17B40.125.08 125 40 80 63 15.7 B 8 27

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

FRIAR € g @ RONOD
PE10

L1

@D
@d

op

* J1ELH{{% Spare

T1H Insert 71 5 #2847 Insert Screw W F Wrench

BDMT11T3ICIER TL60 M2.5X6.5 TO8

BDMT1704JJER TL60 M4X10 T15

FHA: BETNREWNSEFTESMEIIE . Note:The insert is Kyocera brand.

* 7NENRES

PE10.11Z16.016.02 16 16 100 30 10 z 2 0.2
11 PE10.11Z20.020.03 20 20 110 32 10 z 3 0.3
PE10.11Z25.025.03 25 25 120 32 10 z 3 0.3
PE10.11Z32.032.04 32 32 130 40 10 Z 4 0.4
PE10.17Z25.025.02 25 25 120 36 15.7 Z 2 0.3
17 PE10.17Z232.032.03 32 32 130 40 15.7 Z B 0.4
PE10.17Z32.040.04 40 32 150 40 15.7 Z 4 0.5

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS §AHI

AI(UEEHITIR Indexable milling tools

AR € @ PONOD
PE10

* J1ELHHF spare

T1H Insert 71 K 5247 Insert Screw #RF Wrench

BDMT11T3CIER TL60 M2.5X6.5 TO8T
BDMT1704JJER TL60 M4X10 T15T

EHE: BETDNFEWSETEMMIIF . Note:The insert is Kyocera brand.

* 71B MBS Type of Millin

Type EARR~F(mm) pimension Adapter

vy
7= 0
| oo | od | o2 | s | % | gx
50 22 40 40 10

PE10.11A22.050.07
11 PE10.11A22.063.08 63 22 50 40 10
PE10.11A27.080.10 80 27 60 50 10
PE10.17A22.050.05 50 22 40 40 15.7
- PE10.17A22.063.06 63 22 50 40 15.7
PE10.17A27.080.08 80 27 60 50 15.7 A 8 0.8
PE10.17B32.100.09 100 32 70 50 15.7 B 9 1.5

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI #HI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

ARIRR € @ RONOD
PE11

* 71 ELH¥ Spare

T1H Insert 71 5 #2847 Insert Screw W F Wrench

APKT100304PDER TL60 M2.5X6.5 TOST

FHR: BRETNRZEWUSEFEFRMEIIAK ., Note:Theinsertis Iscar brand.

* NNEMBKES T

Toos EHZARSF(mm) Dimension

) =2
5 | oo | oa | oo | w | & |
40 16 35 40 8

PE11.10A16.040.05
PE11.10A22.050.06 50 22 40 40 8
AP10  pE11.10A22.063.07 63 22 50 40 8
PE11.10A27.080.08 80 27 60 50 8
PE11.10B32.100.10 100 32 70 50 8 B 10 1.6

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
FETIE keoe

PE12

* 7JELHH¥ Spa

J1F Insert

SANT
€ @ ovo0

@D

ap

71 5 3247 Insert Screw

ofs
P D2

#F Wrench

#H = 7 A

i} %5 )
RBO1

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
“w € @ ouwo

@0

71 5 #2457 Insert Screw W F Wrench

LN[IX151008PNR

I BETNREZWSEREFEMMEIIA, Note:Theinsertis Korloy brand.

* 71E MRS Type of

PE12.15A22.050.04

PE12.15A22.063.06 63 22
PE12.15A27.080.07 80 27
PE12.15B32.100.8 100 32
PE12.15B40.125.10 125 40
PE12.15B40.160.12 160 40

TL60 M4X10

50

60

70

80

100

T15T

HAR~T(mm) Dimension Adapter

tJm|
o0 | o0 | oo | | % | g
50 22 40 40 14

40 14 A 6 0.6
50 14 A 7 1.2
50 14 B 8 24
63 14 B 10 3.8
63 14 B 12 4.6

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

T1H Insert
ZDETO08T2CYR10 SPMT060304
ZDET1103CYR12.5 SPMT060304
ZDET13T3CYR16 SDMT090308
ZPNT2204CYR20 SPMT120408

EH: BEDREWSERNEEMRMIIF . Note:The insert is Zccct brand.

* 71EAHES

TL60 M2.5X5 To8
TL60 M2.5X5 TO8
TI60 M3.5X10 T15
TL60 M5X13 T20

e — SR w1 |ERk0)
o [ o [ [ o [ v
RB01.20W20.020.S 20 20 125 50 20 w 4 0.3
RB01.20W20.020.M 20 20 150 75 20 w 4 0.3
RB01.20W20.020.L 20 20 200 100 20 w 4 0.4
RB01.25W25.025.S 25 25 150 70 23 w 4 0.5
RB01.25W25.025.M 25 25 175 95 23 W 4 0.6
RB01.25W25.025.L 25 25 200 100 23 w 4 0.7
RB01.32W32.032.S 32 32 175 85 31 w 4 0.9
RB01.32W32.032.M 32 32 200 100 31 w 4 1.1
RB01.32W32.032.L 32 32 250 150 31 w 4 1.4
RB01.40W32.040.S 40 32 175 50 41 w 5 1.4
RB01.40W32.040.M 40 32 200 50 41 w 5 1.7
RB01.40W32.040.L 40 32 250 50 41 W 5] 2.1

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

ih ] ~“w € @ o0no ihfz k7] ~“w € @ o0no
RBO2 RBO2

L
L1
L
Ll °
_ IS8
A
[m] hel
RS RS
ap
* 71ELMEF Sp
) o B
* 718K Sp
XPHT16R803 TL60 M2.5X6.5 Tos
TIF Insert E#R Clamp 71 Fr #8247 Insert Screw 2 AU XPHT20R10T3 TL6OMS3.5X8 T15
XPHT25R1204 TL60 M4X10 T15
XPHT16R803 TL60 M2.5X6 T08 XPHT30R1506 WD208 TL60 M5X12 T20
XPHT20R10T3 TL60M3.5X8 Ti5 XPHT32R1606 WD208 TL60 M5X12 T20
XPHT25R1204 TL60 M4X10 T15 B RETNRFEWNSERMNEARBIETIIF . Note:The insert is Zccct brand.
XPHT30R1506 WD208 TL60 M5X12 T20
* NNEMRRS
XPHT32R1606 WD208 TL60 M5X12 T20

HZA R~ (mm) Dimension

wH | EE2k)
EH: RETHREWSEZEHRMNEEAREIIF . Note:The insert is Zccct brand. = =

RB02.16Z20.016.S 16 20 150 70 16 z 2 0.3

* JIEHEES Typ RB02.16Z20.016.M 16 20 180 80 16 z 2 0.4

i = #0 %
16 20 11 60 16

RB02.16W20.016.S w 2 0.2 RB02.20Z25.020.L 20 25 250 150 20 z 2 0.7
RB02.20W25.020.S 20 25 127 70 20 w 2 0.3 RB02.25Z25.025.S 25 25 180 80 25 z 2 0.6
RB02.20W25.020.M 20 25 150 80 20 W 2 0.4 RB02.25Z25.025.M 25 25 200 100 25 z 2 0.7
RB02.25W25.025.S 25 25 137 80 25 w 2 0.4 RB02.25Z225.025.L 25 25 250 110 25 z 2 0.8
RB02.25W25.025.M 25 25 200 100 25 W 2 0.6 RB02.30Z32.030.S 30 32 200 120 30 z 2 1.0
RB02.30W32.030.S 30 32 161 100 30 w 2 0.8 RB02.30Z32.030.M 30 32 250 150 30 z 2 1.3
RB02.30W32.030.M 30 32 250 150 30 W 2 1.3 RB02.30Z32.030.L 30 32 300 200 30 z 2 1.6
RB02.32W32.032.S 32 32 161 100 32 W 2 0.8 RB02.32Z32.032.S 32 32 200 120 32 z 2 1.1
RB02.32W32.032.M 32 32 250 120 32 W 2 1.3 RB02.32Z32.032.M 32 32 250 150 32 z 2 1.4

RB02.32Z32.032.L 32 32 300 200 32 z 2 1.6

THRAKEFBRERB X #EEZEMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

ki) ~“w € @ o0no i Et7] “w € @ © ovo
RBO2 RBO3

L
Ll
L [m) °
MT _Q Y
Ll
Q—
o
A
‘--T‘l‘
ap
- TIEMHE Spa
Diameter J1 5 Insert 71 5 #2457 Insert Screw #F Wrench
=R
* NNBHH spa
¢12 ZOHX1203 170 M4AX10TT T15
J1F Insert EHR clamp 7] F #4T7 Insert Screw % FWrench
¢16 ZOHX1604 170 M5X12TT T20
¢ 20 ZOHX2005 170 M5X16TT T20
XPHT16R803 TL60 M2.5X6.5 TO8

¢25 ZOHX2506 170 M6X20TT T20

XPHT20R10T3 TL60M3.5X8 T15
¢ 30 ZOHX3007 170 M8X25TT T30S

XPHT25R1204 TL60 M4X10 T15
¢ 32 ZOHX3207 170 M8X25TT T30S

XPHT30R1506 WDz208 TL60 M5X12 T20 ) ) )

FH: METFEWSERMEAREIIF . Note:The insert is Zccct brand.
XPHT32R1606 WD208 TL60 M5X12 T20
| ‘ * TIEAIEHE T
EH: METREWNSEHRMNEARIETIF .  Note:The insert is Zccct brand.

Type HZA& R~ (mm) Dimension

e T T T
12 12 125 35 6

* 71E KRS Type

RB03.12212.012.M z 1 0.1
EZARR~F(mm) Dimension Weight 612 RB03.12212.012.L 12 12 150 45 6 z 1 0.1
2= (kg)

RB03.12216.012.M 12 16 125 50 6 z 1 0.2

RB02.20MT3.020.M - RB03.12216.012.L 12 16 150 70 6 z 1 0.2
RB02.20MT3.020.L 20 3 186 100 20 2 0.4 RB03.16216.016.M 16 16 150 40 8 z 1 0.2
RB02.25MT3.025.M 25 3 156 70 25 2 0.4 616 RB03.16216.016.L 16 16 180 55 8 z 1 0.3
RB02.25MT3.025.L 25 3 186 100 25 2 0.4 RB03.16220.016.M 16 20 150 60 8 z 1 0.3
RB02.30MT4.030.M 30 4 189 70 30 2 0.8 RB03.16220.016.L 16 20 180 80 8 7 1 03
RB02.30MT4.030.L 30 4 229 120 30 2 1.0 RB03.20Z20.020.M 20 20 180 65 10 7 1 04
RB02.32MT4.032.M 32 4 179 70 32 2 0.9 RB03.20220.020.L 20 20 250 100 10 z 1 0.6
RB02.32MT4.032.L 32 4 209 100 32 2 0.9 e20 RB03.20Z25.020.M 20 25 180 75 10 z 1 06
RB03.20Z25.020.L 20 25 200 95 10 z 1 08

THREFREFBREHBE K ¥I151E%Miwww.hnsant.com THREGEFBERLAEHE] X ¥E1EEMMEwww.hnsant.com



#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AJEA%HEITIR Indexable milling tools Indexable milling tools AI4&{uiHITIE

1R 7] € @ © ona ik J] € @ ono
RBO04

EZARR~F(mm) Dimension Adapter

0

RB03.25225.025.M 25 25 200 70 12.5 z 1 07 L
225 RB03.25225.025.L 25 25 250 100 12.5 z 1 0.9
RB03.25232.025.M 25 32 200 90 12.5 z 1 1.0 90 s s
RB03.25232.025.L 25 32 250 110 12.5 z 1 1.3 op
RB03.30232.030.M 30 32 250 80 15 z 1 1.2
e30 RB03.30Z32.030.L 30 32 300 110 15 z 1 15
. RB03.32Z32.032.M 32 32 250 80 16 z 1 1.4
’ RB03.32Z32.032.L 32 32 300 110 16 z 1 1.7
J1F Insert T1H Insert 71 K 4247 Insert Screw #F Wrench
3 {
ZNMT1804100-C ZNMT2004100-S TL60 M3X7 T10
ZNMT2205125-C ZNMT2305125-S TL60 M4X10 T15
ZNMT2706150-C ZNMT2806150-S TL60 M4X10/TL60OM5X12 T15/T20

FH: BENREZWSZEERBEIIF. Note:The insert is Sumitomo brand.

* 71EHEBIS Type

Type E 7 R~F(mm) Dimension
= o0 | o4 | L | L ® |
20 25 140 60 20

RB04.20Z25.020.S

RB04.20Z25.020.M 20 25 200 60 20 z 2 0.5
RB04.20Z25.020.L 20 25 250 80 20 z 2 0.7
RB04.25Z32.025.S 25 32 150 70 23 z 2 0.6
RB04.25Z32.025.M 25 32 220 75 23 z 2 0.8
RB04.25232.025.L 25 32 300 100 23 z 2 1.0
RB04.30Z32.030.S 30 32 160 80 28 z 2 0.9
RB04.30Z32.030.M 30 32 240 85 28 z 2 1.2
RB04.30Z32.030.L 30 32 350 120 28 z 2 1.8

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#e&I7J2 | MILLING TOOLS §AuI §AHI #E&I7JE | MILLING TOOLS
Indexable milling tools BJZEEEEITIE
ZSENNEE DA P OmD ZENNHENA P Owd

PTO1 PTO1

@Dl

* 71ELMi¥ Spa
* J1EMHE Spa 71K Insert 71 K %247 Insert Screw #F Wrench

T1H Insert T1 R #24%T Insert Screw " =F Wrench

MPHT060304-DM TL60 M2.5X6.5 TO8T

MPHT080305-DM TL60M3X7 T10T
MPHT060304-DM TL60M2.5X6.5 Tos

MPHT120408-DM TL60 M5X11 T20T
MPHT080305-DM TL60M3X7 T10
MPHT120408-DM TL60M5X11 T20 FH: RETRBWNSEZHMNEEAREIIF . Note:The insert is Zccct brand.

FH: RETHREWNSEZEHRMNEEAREIIF . Note:The insert is Zccet brand. * 71Ai#iERe Type of

Type BZARF(mm) Dimension
EZAR~F(mm) Dimension o PT01.06J27.080.10.H8 80 41 27 12 8

PT01.06J32.100.14.H8 100 47 32 12 8 14 0.3

PT01.06W25.021.01.H9 21 25 10 100 32 9 1 02 MPoe PT01.06J32.100.14.H10 100 47 32 14 10 14 0.4
PT01.06W25.025.01.H11 25 25 12 100 35 11 1 0.3 PT01.06J40.125.16.H10 125 55 40 14 10 16 0.6
PT01.08W32.032.02.H14 32 32 15 110 45 14 2 0.5 PT01.08J40.125.12.H12 125 55 40 16 12 12 0.7
PT01.12W32.040.02.H18 40 32 19 125 55 18 2 0.7 MPo8 PT01.08J40.160.14.H12 160 62 0 16 12 14 13
PT01.12W40.050.02.H22 50 40 25 140 65 22 2 1.2 PT01.12J40.160.12.H16 160 62 40 20 16 12 16
PT01.12J40.160.12.H18 160 62 40 24 18 12 1.9

MP12  PT01.12J40.160.12.H20 160 62 40 26 20 12 2.1

PT01.12J50.200.14.H16 200 72 50 20 16 14 25

PT01.12J50.200.14.H18 200 72 50 24 18 14 29

PT01.12J50.200.14.H20 200 72 50 26 20 14 3.3

THRAKEFBRERB X #EEZEMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#:4/7JE | MILLING TOOLS §AHI §ANI #:4I7JE | MILLING TOOLS
ZSENNEE DA P OmD ZENNHENA P Owd

PTO1 PTO2

T1 K Insert 71 K 4247 Insert Screw #F Wrench
T1HR Insert 71 4247 Insert Screw #FWrench e
XSEQ1202 191M4X3.2X TO9T
MPHT060304-DM TL60 M2.5X6.5 TO8T
XSEQ1203 191M4X4.2X T15T
MPHT080305-DM TL6OM3X7 THOT
XSEQ12T3 191M4X5.1X T15T
MPHT120408-DM TL60 M5X10 T20T
XSEQ1204 191M4X6.3X T15T

R BETREWNSE®RMNSBEAREIIF . Note:The insert is Zccct brand.
191M4X6.3X T15T

XSEQ12T4
* 71EHHEES Type of
A BETDTRBZWSEZEHRMNEEAMETIF . Note:The Insert Is Zccct brand.
HARS(mMm) Dimension Adapter i
gj‘_‘é * JIEHHEEE Type o
2 T

PT01.06A22.080.10.H8 80 45 22 40 8 21 10 A 0.4 EAR~F(mm) Dimension Weight
% E-=((C)
Mpos PT01.06B27.100.14.H8 100 55 27 40 8 24 14 B 0.6
PT01.06B27.100.14.H10 100 55 27 40 10 24 14 B 07 PT02.12J27.100.10.H4 100 40.7 27 12 4 10 0.2
PT01.06B32.125.16.H10 125 65 32 45 10 33 16 B 11 92 PT02.12J40.125.12.H4 125 50.5 40 12 4 12 0.3
PT01.08B32.125.12.H12 125 65 32 45 12 33 12 B 1.4 PT02.12J40.160.16.H4 160 66.7 40 12 4 16 0.5
MPO8  p101.08B40.160.14.H12 160 80 40 45 12 45 14 B 19 PT02.12J27.100.10.H5 100 45 27 12 5 10 0.2
PT01.08C40.200.18.H12 200 92 40 50 12 53 18 c 3.2 %3 pr02.12440.125.12.H5 125 58 40 12 5 12 0.3
PT01.12B32.125.10.H16 125 65 32 50 16 30 10 B 2.3 PT02.12J40.160.16.H5 160 68 40 12 5 16 0.6
PT01.12B40.160.12.H16 160 80 40 60 16 45 12 B 23 PT02.12J27.100.10.H6 100 45 27 12 6 10 03
P PT01.12B40.160.12.H18 160 80 40 60 18 45 12 B 2.4 s PT02.12J40.125.12.H6 125 58 40 12 6 12 0.4
PT01.12C40.200.14.H16 200 92 40 50 16 53 14 c 26 PT02.12J40.160.16.H6 160 68 40 12 6 16 0.7
PT01.12C40.200.14.H18 200 92 40 50 18 53 14 © 3.9 PT02.12J50.200.18.H6 200 72 50 12 6 18 1.1
PT01.12C40.200.14.H20 200 92 40 50 20 53 14 c 42 PT02.12J50.250.24.H6 250 72 50 12 6 24 1.7

THRAKEFBRERB X #EEZEMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
=ZEANHE A &7 Ond ZENNEHETA P Ond

PTO2

H1
5
PT02.12J27.100.10.H7 100 45 27 12 7 10 0.3
PT02.12J40.125.12.H7 125 58 40 12 7 12 0.4 o 5
04 ASUR
PT02.12J40.160.16.H7 160 68 40 12 7 16 0.8
PT02.12J50.200.18.H7 200 72 50 12 7 18 1.2 L
PT02.12J50.250.24.H7 250 72 50 12 7 24 1.9 "
PT02.12J27.100.10.H8 100 45 27 12 8 10 0.3
PT02.12J40.125.12.H8 125 58 40 12 8 12 05
T4 PT02.12J40.160.16.H8 160 68 40 12 8 16 0.9
PT02.12J50.200.18.H8 200 72 50 12 8 18 14 TIE Insert 71 B #84T Insert Screw 7 F Wrench
PT02.12J50.250.24.H8 250 72 50 12 8 24 22 s
XSEQ1202 191M4X3.2X TO9T
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T
XSEQ12T4 191M4X6.3X T15T

FH: METRFEWNSEHRMESAREIIF . Note:The insert is Zccct brand.

* 71E##EEIS Type of

HZAR~F(mm) Dimension

PT02.12A22.063.06.H4 63 32 22 40 4 14 A 6 0.2
02 PT02.12A22.080.08.H4 80 40 22 50 4 18 A 8 0.4
PT02.12A27.100.10.H4 100 48 27 50 4 23 A 10 0.6
PT02.12A22.063.06.H5 63 32 22 40 5 14 A 6 0.2
03 PT02.12A22.080.08.H5 80 40 22 50 5 18 A 8 0.4
PT02.12A27.100.10.H5 100 48 27 50 5 23 A 10 0.7
PT02.12A22.063.06.H6 63 32 22 40 6 14 A 6 0.2
PT02.12A22.080.08.H6 80 40 22 50 6 18 A 8 0.4
I PT02.12A27.100.10.H6 100 48 27 50 6 23 A 10 0.7
PT02.12B40.125.12.H6 125 70 40 50 6 30 B 12 1.0
PT02.12B40.160.16.H6 160 70 40 50 6 41 B 16 1.3

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com

| SANT



#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

Indexable milling tools BIE&fIEEEITIE
=ENNBE A P OwD BRI B T) Keias®  coamerning oot Dt PN

ACO1
= (mm) Dimension
ENECRER
63 32 22

B N ]
PT02.12A22.063.06.H7 40 7 14 A 6 0.2
PT02.12A22.080.08.H7 80 40 22 50 7 18 A 8 0.5
04 PT02.12A27.100.10.H7 100 48 27 50 7 23 A 10 0.7
PT02.12B40.125.12.H7 125 70 40 50 7 27 B 12 1.1
PT02.12B40.160.16.H7 160 70 40 50 7 41 B 16 1.4
PT02.12A22.063.06.H8 63 32 22 40 8 14 A 6 0.2
PT02.12A22.080.08.H8 80 40 22 50 8 18 A 8 0.5
T4 PT02.12A27.100.10.H8 100 48 27 50 8 23 A 10 0.8
PT02.12B40.125.12.H8 125 70 40 50 8 27 B 12 1.1
PT02.12B40.160.16.H8 160 70 40 50 8 41 B 16 15

T1H Insert 71 5 #2457 Insert Screw % =F Wrench

SPMT120408 TL60 M5X12 T20

E: BETRBENSEHRMESARMEIIF . Note:The insert is Zccct brand.

* 71E MBS Type of

EARF(mm) Dimension Adapter

tz-3m|

R
AC01.12Z20.012.01 12 20 100 40 z
ACO01.12W20.012.01 12 20 100 40 w 1 0.2
AC01.12Z25.025.02 25 25 120 40 z 2 0.4
ACO01.12W25.025.02 25 25 120 40 w 2 0.4
AC01.12Z32.032.03 32 32 180 50 z 3 1.0
AC01.12W32.032.03 32 32 180 50 w 3 1.0

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
@]ﬁﬁﬂ Kr:60°  hamfer Milling Tools

DCO1

H = 7 A

Dt POND

Ll

[fe)

* 7JELMH¥ Spa

J1 K Insert 7] B 8247 Insert Screw # FWrench

SPMT120408 TL60 M5X12 T20

FHH: BETDREWNSERMNEAREIIF. Note:The insert is Zccct brand.

* 71B#1EBIS Type of M

EZA R~ (mm) Dimension Adapter
tz-Jm|
DC01.12Z20.012.01 12 20 100 40 z
DCO01.12W20.012.01 12 20 100 40 W 1 0.2
DC01.12Z25.025.02 25 25 120 40 4 2 0.4
DCO01.12W25.025.02 25 25 120 40 w 2 0.4
DC01.12Z232.032.02 32 32 180 50 z 2 1.0
DCO01.12W32.032.02 32 32 180 50 w 2 1.0

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

Dt PO

#H = 7 A

ﬁll % %i )J Kr:30° ¢ amier Milling Tools
ZCO01

Ll

* 71ELMi¥ Spa

J1H Insert 71 K 4247 Insert Screw

SPMT120408 TL60 M5X12

EH: METFEWNSEHRMESAREIIF . Note:The insert is Zccct brand.

* 71E KBS Type

EZA R~ (mm) Dimension Adapter|  Tooth
tz-3m| HE
ZC01.12Z20.012.01 12 20 100 40 pA 1
ZC01.12W20.012.01 12 20 100 40 w 1 0.2
ZC01.12Z25.025.02 25 25 120 40 z 2 0.4
ZC01.12W25.025.02 25 25 120 40 w 2 0.4
ZC01.12Z32.032.03 32 32 180 50 z 3 1.0
ZC01.12W32.032.03 32 32 180 50 W 3 1.0

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com

= | SANT



#HI7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AJEAUHHITIR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

AN A e ve P oOvo Rt R e vOeY D ovo
XKO1 XKO1

* 71 B4 spar * 71EBL i Spar

T1F Insert 71 %247 Insert Screw | JE#R 42 £T Clamping Screw E#R Clamp " =F Wrench J1F Insert 71 K 4247 Insert Screw | E#EEET Clamping Screw E#R Clamp " F Wrench
SDMT09T3-DM TL60 M3.5X8 T10/T15 SDMT09T3-DM TL60 M3.5X8 T10T/T15T
L60 M4X10 WD204 L60 M4X10 WD204
SDMT1204-DM TL60 M4X10 T15 SDMT1204-DM TL60 M4X10 T15T
FH: BENRBWSERMNEARIMIIF,  Note:The insert is Zccct brand. FH: BETNFBWSEZHMNEARMIIE . Note:The insert is Zccct brand.
* 7B MBS Type of Milli * 71E#MHEBIS Type of
Type EHZAR~F(mm) Dimension HZA&AR~F(mm) Dimension o e
i) K# | E=(ko)
| oo | o | L | U
XK01.09Z25.025.02 25 25 140 60 XK01.09A22.050.04 50 40 22 40 A 4 0.3
XK01.09Z32.032.03 32 32 150 70 z 8 0.8 XK01.09A22.063.06 63 50 22 50 A 6 0.5
XK01.09Z32.035.03 35 32 150 50 Z 3 0.8 XK01.09A27.063.06 63 50 27 50 A 6 0.6
XK01.12Z32.032.02 32 32 150 70 Z 2 0.8 XK01.12A22.063.05 63 50 22 50 A 5 0.5
XK01.12Z32.040.03 40 32 150 50 Z 3 1.3 XK01.12A27.063.05 63 50 27 50 A 5 0.6
XK01.12A27.080.05 80 60 27 50 A 5 0.9
XK01.12B32.100.06 100 70 32 50 B 6 1.8

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AJEAUHHITIR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

AN A e ve P oOvo KN A e vOeY D ovo
XK02

HZA R~ (mm) Dimension WSght
B&(kg)

XK02.06Z232.040.03.M 40 32 200 50 A 3 1.5

L WPO06
L1 XKO02.06Z32.040.03.L 40 32 300 50 Z 3 1.8
= XKO02.08Z32.040.02.S 40 32 150 50 z 2 0.9

=) °

QU IS8 WP08 XK02.08Z32.040.02.M 40 32 200 50 z 2 1.5
XK02.08Z32.040.02.L 40 32 300 50 Z 2 1.9
XKO02.09Z32.050.02.S 50 32 150 50 Z 2 1.9

WPO09
XK02.09Z232.050.02.M 50 32 200 50 Z 2 2.5

* J1EL Mt Spare

J15 Insert 71 B 4247 Insert Screw | JE#R#2 4T Clamping Screw JEHR Clamp iR F Wrench
WPGT050315ZSR TL60 M3.5X8 T10
WPGT060415ZSR TL60M4X10 T5
WPGT080615ZSR

TL60 M4X10 L60 M5X12 WD208 T20
WPGT090725ZSR

FH: BETNABWSEHRMNEARETIR,  Note:The insert is Zccct brand.

* 71E #1815 Type of Milling

BEA RS (mm) pimension

XK02.05220.020.02.S

WP05  ¥K02.05220.020.02.M 20 20 180 100 z 2 0.3
XK02.05220.020.02.L 20 20 250 130 z 2 0.8
XK02.06225.025.02.S 25 25 140 60 z 2 0.4
XK02.06Z25.025.02.M 25 25 200 120 z 2 06
XK02.06225.025.02.L 25 25 300 180 z 2 10

WP06 ' xK02.06232.032.03.5 32 32 150 70 z 3 0.8
XK02.06Z32.032.03.M 32 32 200 120 z 3 10
XK02.06232.032.03.L 32 32 300 180 z 3 16
XK02.06232.040.03.S 40 32 150 50 z 3 0.9

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com

| SANT



| INUS

189

#tEI7J2 | MILLING TOOLS

a&SAUI
AI(UEEHITIR Indexable milling tools

X871 R SO @ P OHO
XKO02

* 7JELH¥ Spare

J1 5 Insert 71 B 4247 Insert Screw | FE#REE£TClamping Screw #%=F Wrench

WPGT060415ZSR TL60 M4X10 T15T
WPGTO080615ZSR

TL60 M5X12 TL60 M5X12 WD208 T20T
WPGTO090725ZSR

FR: BENRBEWSERMEARIEIIF.  Note:The insert is Zccct brand.

* 71E#iEEIS Type of Milli

HZA R~ (mm) Dimension

WP06  XKO02.06A22.050.04 50 40 22 50
XKO02.08A22.050.03 50 40 22 50
XK02.08A22.063.04 63 50 22 50
XK02.08A27.063.04 63 50 27 50
WP08
XK02.08A27.080.05 80 60 27 50
XK02.08B32.100.06 100 70 32 63 B 6 22
XK02.08B40.125.07 125 80 40 63 B 7 3.5
XK02.08B40.160.08 160 100 40 63 B 8 6.0
XKO02.09A22.063.03 63 50 22 50 A 3 0.7
XKO02.09A27.080.04 80 60 27 63 A 4 1.4
WPo9 XK02.09B32.100.05 100 70 32 63 B 5 241
XK02.09B40.125.06 125 80 40 63 B 6 3.7
XK02.09B40.160.07 160 100 40 63 B 7 6.3

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

#tEI7J2 | MILLING TOOLS

M
Vo P ovo

#H = 7 A

Kita 718

XKO03

L1

@D
?d

* 71 B Hi¥ Spare

J1 K Insert JIF %24 Insert Screw #F Wrench

WNMX09T316ZNN-MM TL60 M3X7 T10

FH: RENRBZBWNSZREFRMEIIF, Note:Theinsertis Korloy brand.

* 71E BB S Type

EAR~F(mm) Dimension

XKO03.09Z225.025.02.S 25 25 140 60

XKO03.09225.025.02.M 25 25 200 120 Z 2 0.6
XKO03.09Z25.025.02.L 25 25 300 180 Z 2 1.0
XKO03.09Z32.032.03.S 32 32 150 70 Z 3 0.8
XK03.09Z32.032.03.M 32 32 200 120 Z 3 1.1
XKO03.09Z32.032.03.L 32 32 300 180 Z 3 1.7
XKO03.09Z32.040.04.S 40 32 150 50 Z 4 0.9
XKO03.09Z32.040.04.M 40 32 200 50 z 4 1.3
XKO03.09Z32.040.04.L 40 32 300 50 z 4 1.8

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#HI7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIR Indexable milling tools Indexable milling tools RJ#&{UsEHITIE

Ki#4LTNAE ~ 6 o @ PREK) BZ JiE 3L Bk ) Koo < o PRk
XKO03 PHO1

L
L1
ap
o 17
o
g ® . 3
* 71 B B4 Spare f * 718 M4 Spare
J1 5 Insert 71 K 4247 Insert Screw 3= Wrench J1F Insert 171 Side Cutting Insert J1 4247 Insert Screw #HF Wrench
WNMX09T316ZNN-MM TL60 M3X7 T10T APKT150412 SPMT120408 TL60 M5X12 T20
H. BRETEBNSZERERMIIE ., Note:The insert is Korloy brand. i BETNRFEWSEKRMEEA. Note:The Insert Is Zecct brand.

* 7JB#HEBIS Type of Milling T * 71E RIS Type of M

Type EHZA R~ (mm) Dimension Type AR (mm) Dimension
XKO03.09A16.040.04 40 35 16 40 A 4 0.2 PHO01.12W40.040.02.E55 40 40 175 95 55
XK03.09A22.050.05 50 40 22 40 A 5 0.3 PHO01.12W40.050.04.E55 50 40 175 95 55 W 04 1.5
XKO03.09A22.063.06 63 50 22 40 A 6 0.5
XKO03.09A27.080.07 80 60 27 50 A 7 1.1
XK03.09B32.100.08 100 70 32 50 B 8 1.7

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




#HI7JR | MILLING TOOLS §nu1 §AHI ##E%HI7JE | MOLD MILLING TOOLS

. . BAP HAGHI#HT]
ﬂgﬁﬁ_\l_ﬁn Kr:90 ( o Q @ BAP right angel shouder end mill

PHO1

V a

Roughing Finish

K /
;

b 4 Roughing Finish

=y il A N [ >
i

Sioot. plunge miling Slouider miling ~ Copy milling

BRI A eSS RF L33

nESER h Applicable inserts Teeth Screw Pressure
Stocked Letms plate
BAP300R-10-130-C10-1T 10 | 10 130 30 | - | 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-11-130-C10-1T 11|10 130 30 | - | 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-12-130-C12-1T 12 |12 130 30 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-13-130-C12-1T 13 | 12 130 30 | - | 9 APMT1135PDER 1 T08 M2.5X5
BAP300R-16-130-C16-2T 16 | 16 |130| 40 | - | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-16-160-C16-2T 16 | 16 |160| 40 | — | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R—16-200-C16-2T 16 | 16 | 200 | 40 | 100 | 9 APMT1135PDER 2 To8 M2.5X5
* T1EBHE Spe BAP300R-17-160-C16-2T 17 | 16 |160| 40 | — | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-17-200-C16-2T 17 | 16 |200| 40 | — | 9 APMT1135PDER 2 TO8 M2.5X5
BT M) 71 B Side Cutting Insert 71 B 4T Insert Screw 4K Wrench BAP300R-20-130-C20-2T 20 | 20 |130| 40 | - | 9 APMT1135PDER 2 TO8 M2.5X5
e BAP300R-20-160-C20-2T 20 | 20 |160| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-20-200-C20-2T 20 | 20 | 200| 50 | 100| 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-21-160-C20-2T 21 | 20 |160| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
APKT150412 SIAMRIEL L2 TL6O M5X12 T20T BAP300R—21-200-C20-2T 21 | 20 |200| 50 | - | 9 APMT1135PDER 2 T08 M2.5X5
. o BAP300R-25-160-C25-2T 25 | 25 [160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
ER: TTHRA%MNEEBEREIIF . Note:The insert is Zccct brand. BAP300R-25-200-C25-9T o5 | 25 | 200 50 - 9 APMT1135PDER 5 Tos M2.5X5
BAP300R-26-160-C25-2T 26 | 25 |160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-26-200-C25-2T 26 | 25 |200| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
* J1E MRS Type of BAP400R

BAP400R-25-160-C25-2T 25 | 25 |160| 50 | — | 14 | APMT1604PDER 2 T15 M4X8

Type A;;Eer Eogt; BAP400R-25-200-C25-2T 25 | 25 [200| 75 | - | 14 | APMT1604PDER 2 T15 M4X8

s ““ Bt = BAP400R-25-250-C25-2T 25 | 25 |250| 50 | - | 14 | APMT1604PDER 2 | T15 M4xs

2 BAP400R-26-160-C25-2T 26 | 25 |160| 40 | - | 14 | APMT1604PDER 2 T15 M4X8

PH01.12JT50.050.04.084 50 246.75 145 84 JT50 4 BAP400R-26-200-C25-2T 26 | 25 |200| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
PHO1.120T50.063.04.074 - e . 24 TS0 4 55 BAP400R-26-250-C25-2T 26 | 25 [250| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
BAP400R-32-160-C25-2T 32 | 25 |160| 50 | - | 14 | APMT1604PDER 2 T15 M4x8

rs0 PHO01.12JT50.063.04.104 63 266.75 165 104 JT50 4 6.0 BAP400R-32-200-C25-2T 32 | 25 |200| 50 | - | 14 | APMT1604PDER 2 T15 M4x8
e AT (R L . 206.75 . 134 50 4 - BAP400R-32-160-C32-3T 32 | 32 |160| 50 | - | 14 | APMT1604PDER 3 T15 M4x8
BAP400R-32-200-C32-3T 32 | 32 |200| 80 | - | 14 | APMT1604PDER 3 T15 M4x8

PHO1.124750.080.04.104 80 266.75 165 104 JT50 4 7.0 BAP400R-32-250-C32-3T 32 | 32 |250| 60 | 115| 14 | APMT1604PDER 3 T15 M4x8
PHO01.12JT50.080.04.144 80 306.75 205 144 JT50 4 7.0 BAP400R-32-300-C32-3T 32 | 32 |300| 60 | 165 | 14 APMT1604PDER 3 T15 M4x8
BAP400R-35-160-C32-3T 35 | 32 |160| 50 | - | 14 | APMT1604PDER 3 T15 M4X8

PH01.12BT50.050.04.084 50 246.75 145 84 BT50 4 48 BAP400R-35-200-C32-3T 35 | 32 |200| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PHO01.12BT50.063.04.074 63 236.75 135 74 BT50 4 55 BAP400R-35-250-C32-3T 35 | 32 | 250 | 60 | - 14 APMT1604PDER 3 T15 M4X8
BAP400R—-35-300-C32-3T 35 | 32 |300| 60 | — | 14 | APMT1604PDER 3 T15 M4X8

PH01.12BT50.063.04.104 63 266.75 165 104 BT50 4 6.0 BAP400R-35-350-C32-3T 35 | 32 |350| 60 | — | 14 | APMT1604PDER 3 T15 M4X8

BT50 PHO1.12BT50.063.04.134 63 296.75 195 134 BT50 4 6.3 BAP400R-35-400-C32-3T 35 | 32 |400]| 60 | - | 14 APMT1604PDER 3 T15 M4X8
BAP400R—-40-200-C32-3T 40 | 32 |200| 60 | - | 14 | APMT1604PDER 3 T15 M4X8

FHOTISBTS0.080:05-104 80 266.75 165 104 BT50 4 7.0 BAP400R-40-250-C32-3T 40 | 32 |250| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PHO1.12BT50.080.04.144 80 306.75 205 144 BT50 4 7.0 BAP400R-40-300-C32-3T 40 | 32 | 300 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-350-C32-3T 40 | 32 |350| 60 | — | 14 | APMT1604PDER 3 T15 M4X8

BAP400R—-40-400-C32-3T 40 | 32 |400| 60 | - | 14 | APMT1604PDER 3 T15 M4X8

#iE: BENRFEWSR=%. %hilsEAEIIRA.
THEKEFBERERB R HHEEMMNEBwww.hnsant.com THREEEFERERBE K FHEEMMEwww.hnsant.com Note: Matching insert we suggest Mitsubishi Zccct brand




1w EPEIJJE | MOLD MILLING TOOLS §g ua §BHI 1w EPEIJJE | MOLD MILLING TOOLS

AIEAUHHITIAR Indexable milling tools ndexable milling tools AJ%&{\7%EHITIE

EMR EI&23i7%%7] EMRW EI&3i7#%7]
EMR round dowel end mill EMRW round dowel end mill L]

Roughing Finish
Roughing Finish _
L 4 ' Roughing Finish
] =l o
Roughing Finish ‘ ‘

. T hémm [

J " Sloot. plunge miling Sloulder milling ~ Copy milling
&mﬁ hmm m

Sicot. plunge miling Sloulder milling  Copy milling

od
od

oD
|

£
in

h s
v
¥

IS oD |od| L | 11| 12| h (R ce Pressure
ERT A HE RF 24T ER
SR P 1 X Applicable inserts Teeth Wrench Screw Pressure EMRW-6R-32-160-C25-2T | 32 | 25 | 160 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
Stocked Letms plate EMRW-6R-32-200-C25-2T | 32 | 25 | 200 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-12-130-C12-1T | 12 | 12 |130| 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-32-250-C25-2T | 32 | 25 | 250 | 60 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-13-130-C12-1T | 13 | 12 |130| 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-35-160-C32-3T | 35 | 32 [160| 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-130-C16-2T | 16 | 16 | 130 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-200-C32-3T | 35 | 32 |[200| 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-160-C16-2T | 16 | 16 | 160 | 40 _ 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-250-C32-3T | 35 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-200-C16-2T | 16 | 16 | 200 | 40 | 100| 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-300-C32-3T | 35 | 32 (300 | 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-160-C16=2T | 17 | 16 | 160 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-350-C32-3T | 35 | 32 |350| 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-200-C16=2T | 17 | 16 | 200| 50 | - 4 RPMWO0802 MO P T10 M3X7 | WD-202 EMRW-6R-40-200-C32-3T | 40 | 32 (200 | 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-160-C20-2T 20 | 20 | 160 | 50 _ 4 RPMWO0802 MO 2 T10 M3X7 WD-202 EMRW-6R-40-250-C32-3T | 40 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-200-C20-2T 20 | 20 |200| 50 | 100| 4 RPMWO0802 MO 2 T10 M3X7 WD=202 EMRW-6R-40-300-C32-3T | 40 | 32 [ 300 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-21-160-C20-2T | 21 | 20 [160| 50 | — | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 EMRW_6R-40-350-C32-3T | 40 | 32 | 350 60 | — | 6 | RPMW/T1204 MO 3 Ti5 | Max10 | WD_204)
EMR-4R-21-200-C20-2T | 21 | 20 |200| 50 | - | 4 RPMW0802 MO 2 T10 M3X7 .| WD-202 &iE: BRETDREWSR=ZEMIIF, Note: Matching insert we suggest Mitsubishi brand
EMR-5R-20-160-C20-2T | 20 | 20 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 TRS @%ﬁ%n
EMR-5R-20-200-C20-2T | 20 | 20 | 200 | 50 [100| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 .
EMR-5R-21-160-C20-2T | 21 | 20 [160| 50 | - | 5 RPMW1003 MO 2 T15 | M4X10 | WD-204 TRS round dowel end mill )
EMR-5R-21-200-C20-2T | 21 | 20 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-25-160-C20-2T | 25 | 20 | 160 | 50 | - | 5 | RPMW1003MO 2 T15 | M4X10 | WD-204 ' - T
EMR-5R-25-160-C25-2T | 25 | 25 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 S
EMR-5R-25-200-C25-2T | 25 | 25 |200| 75 | — 5 RPMW1003 MO 2 T15 M4X10 | WD-204 g L) M IS " Hh
EMR-5R-25-250-C25-2T | 25 | 25 | 250 | 60 | 115| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 7'y [
EMR-5R-30-160-C25-2T | 30 | 25 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 _.: [ J . h‘ "
EMR-5R-30-200-C25-2T | 30 | 25 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 R L , S Sfﬂfz‘
EMR-5R-30-250-C25-2T | 30 | 25 | 250 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-30-300-C25-2T | 30 | 25 | 300 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-35-160-C32-2T | 35 | 32 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 it R e £ [ £t 2 e 5
EMR-5R-35-200-C32-2T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 Az =0 LS oDlod| L | 11|12 h Applicable inse ce e e Pressure
EMR-5R-35-160-C32-3T | 35 | 32 |160| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 ocked Le plate
EMR-5R-35-200-C32-3T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-12-130-C12-1T 12 | 12 |130| 40 | - 4 RDMT0802MO 1 TO8 M3X7
EMR-5R-35-250-C32-3T | 35 | 32 | 250 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-16-160-C16-2T 16 | 16 | 160 | 40 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-300-C32-3T | 35 | 32 |300| 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-160-C20-2T 20 | 20 |160| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-350-C32-3T | 35 | 32 {350 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-200-C20-2T 20 | 20 |200| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-400-C32-3T | 35 | 32 {400 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-5R
EMR-5R-40-200-C32-4T | 40 | 32 |200| 50 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-160-C25-2T 25 | 25 |160| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-250-C32-4T | 40 | 32 |250| 60 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-200-C25-2T 25 | 25 |200| 75 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-300-C32-4T | 40 | 32 |300| 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-160-C25-2T 30 | 25 |160| 40 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-350-C32-4T | 40 | 32 | 350 | 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-200-C25-2T 30 | 25 |200| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
. . . . _ o ) _ TRS-5R-30-250-C25-2T 30 | 25 |300| 60 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
R MERASRREIREE IR SRR Noter Matehing insertwe suggest Mitsubishi, zecoct brand. TRS-5R-35-160-C32-3T | 35 | 32 [160| 50 | - | 5 RDMT10T3MO 3 T15 | M4x10 | WD-204
TRS-5R-35-200-C32-3T 35 | 32 |200| 50 | - 5 RDMT10T3MO 3 T15 M4X10 | WD-204
TRS-5R-35-250-C32-3T 35 | 32 |250| 60 | — 5 RDMT10T3MO 3 T15 M4X10 | WD-204

&iE: BENREWSRBAILIETIFA . Note: Matching insert we suggest Hitachi brand

THREGCEFBELAEHE] X #EEEMMI#Ewww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




REYEHIJJE

BAPER&RFH®T]
BAP right angle shoulder face mill

MOLD MILLING TOOLS

w7 =K
7

B = 1 A

o

ug ing Finish
K
2T

Roughing Finish

-

Shot plunge miling Sloulder miling  Copy milling

ERDR PS5 RF 1257 FER
TR EE : oD | od Applicable inserts Teeth Wrench Screw  Pressure
Stocked Letms plate
BAP400R-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-4T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-5T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 5 T15 M4X10 -
BAP400R-80-27-6T 80 | 27 | 50 |12.4| 7 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-100-32-6T 100 | 32 | 50 |14.4| 8 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-125-40-6T 125| 40 | 63 |16.4] 9 14 APMT1604PDER 6 T15 M4X10 -

&iE: BREDREWSRZE.

EMR E &5

EMR round dowel face mill

¥RMEEERETI R o Note: Matching insert we suggest Mitsubishi, Zcccct brand

‘md -

%,_ !

1 / '_ & Roughing Finish

i e A

1 | ':,

/ ; T rgmn:

- Roughmg Finish

f* hﬂmﬁ "“Mﬁ?l

~ oD R Soat plunge milling Sloulder milling Copy milling

. ' F i oD|od| H | W | T ]| a aRRICEDEIISE e e e il
EMR-5R-50-22-4T 50 | 22 | 50 [10.4| 6.3 | 5 RPMW1003MO 4 T15 M4X10 | WD—-204
EMR-5R-63-22-4T 63 | 22 | 50 [10.4| 6.3 | 5 RPMW1003MO 4 T15 M4X10 | WD-204
EMR-5R-63-22-5T 63 | 22 | 50 [10.4| 6.3 | 5 RPMW1003MO 5 T15 M4X10 | WD-204
EMR-5R-80-27-6T 80 | 27 | 50 [124| 7 | 5 RPMW1003MO 6 T15 M4X10 | WD-204
EMR-5R-100-32-6T | 100 | 32 | 50 |14.4] 7 | 5 RPMW1003MO 6 T15 M4X10 | WD-204

#iE: BETNRBEWSRISOIRETIF . Note: Matching insert we suggest ISO standard brand

THRAKEFEREREBE X #HFEZEMiwww.hnsant.com

#H = 7 A

EMRW B &%t
EMRW round dowel face mill

REHHITIA

MOLD MILLING TOOLS

Indexable milling tools BI#{7EkHEITIE

giia7 =

I
i*
v
?

Roughing Finish

-
ough

g Finish

--

Sioot. plunge miling Sloulder miling  Copy milling

|« @D »
Ve oD|od| H | W | T | a Applicable inse e Al
EMRW-6R-50-22-4T 50 | 22 | 50 {10.4| 6.3 6 RPMW/T1204MO0 4 T15 M4X10 | WD-204
EMRW-6R-63-22-4T 63 | 22 | 50 |{10.4| 6.3 6 RPMW/T1204MO0 4 T15 M4X10 | WD-204
EMRW-6R-63-22-5T 63 | 22 | 50 |{10.4| 6.3 6 RPMW/T1204MO0 5 T15 M4X10 | WD-204
EMRW-6R-80-27-6T 80 | 27 | 50 |12.4| 7 6 RPMW/T1204MO0O 6 T15 M4X10 | WD-204
EMRW-6R-100-32-6T 100 | 32 | 50 |14.4| 7 6 RPMW/T1204MO 6 T15 M4X10 | WD-204
iE: BETNRBWSB=%MJ K., Note: Matching insert we suggest Mitsubishi brand
TRS E&37%%7]
TRS round dowel end mill Pl BN L
4 am
e e oo
i
%= !'
/ i T tgmu:
1 Roughing Finish
Amm
4 »dD . Slootp\ungemllhng Sloulder milling Copymmmg
Ve oD|od| H| W [T | a R €
TRS-5R-50-22-4T 50 | 22 | 50 |10.4| 6.3 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-5R-63-22-4T 63 | 22 | 50 {104/ 63| 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-6R-50-22-4T 50 | 22 | 50 {10.4| 6.3 6 RDMT1204MO0 4 T15 M4Xx10 | WD-204
TRS-6R-63-22-4T 63 | 22 | 50 |{10.4| 6.3 6 RDMT1204MO0 4 T15 M4X10 | WD-204
TRS-6R-63-22-5T 63 | 22 | 50 {104/ 6.3 | 6 RDMT1204MO0 5 T15 M4X10 | WD-204
TRS-6R-80-27-6T 80 | 27 | 50 |124| 7 6 RDMT1204MO0 6 T15 M4X10 | WD-204
#iE: BENRFBWSRBAIMII R, Matching insert we suggest Hitachi brand
KM-45° SRz8%70
KM-45° face mill -
Roughing Finish
'-
oughing F
’.
Lt m.
Sloot. plunge miling Sraiior miling  Copy milling
A oD | od| H| W | T |ob1f addEdis ce Pressure
KM12-50-22-4T 50 | 22 | 50 |{10.4| 6.3 | 64 SEKT1204[][] 4 T20 M5X11
KM12-63-22-4T 63 | 22 | 50 |10.4| 6.3 | 77 SEKT1204[][] 4 T20 M5X11
KM12-80-27-5T 80 | 27 | 50 (12.4| 7 94 SEKT1204[][] 5 T20 M5X11
KM12-100-32-5T 100 | 32 | 50 |[14.4| 8 | 114 SEKT1204\:|_D 5 T20 M5X11

THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com

#iF: BENREZWSER=%. hilsEBETI R,
Note: Matching insert we suggest Mitsubishi, Zcccct brand.



#HI7JE | DRILLING TOOLS §AMI §Au1 #hHI7J& | DRILLING TOOLS

UD20/25/30/35/40/50 %! 7.5 %5l

7K
RS
w S
) 03 3.8
E\NFP‘
[ 04 4.3
Qﬂa‘“
05 5.4 5.0
06 6.5 6.0
07 7.94
1. RABRESMNG, REBULE, THFEEES 08 8.7
Ej]u fﬂi‘f@?—.o w 09 9.8
1.Using highly-strength special steel and surface strength 0% 11 15
process, making higher strength and more wear-resistanc: :
S |:| 14 14.3

20,25,30,40,50

KELE

TIE R4k YIHI 71K B

2. REMTHEKX, HEBENG. Cutting Edge Length

2.The space of chip flute is much bigger, the discharge is more

Length-diameter Ratio

3. 2P YIHIFERITH N R RERE, UHIIRSIANS HG
FHABR, MHBES, HBERREALEESRE

3.Through the insert install the angle, the insert which is
balance design, cutting in low vibration, the lathe main a
is low. Cutting efficiency is high. Drilling precision and the s
finish are much better.

4 XEERAHRITUERARARTI%, HBHT m m
HE, KEFARPRAE,
— o o o

4.The series of big diameter U drill can be changed in d
size of toolholder, changed in the drilling diameter. Help th
to cost saving substantially.

5. FTEIVRNE ML FL, WA RHREL, FHHEIRR

5.The new type of double helix internal cooling hole, coolin

lubricating are much better, and can drilling deeper. 1
7] E‘%ﬂ C 7 125~580 w ME= EDE&
Type Of Tools |
RS it B

P 11° 12.5mm~58mm E D #it Diameter

Adapter

up AL J]Fl-ﬁﬁ J]E-E?;

U drill Insert Clearance Angle Diameter

LA EFHRIERE R #15EE R MNiiwww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#hHI7JB | DRILLING TOOLS §AUI §Au1 $#hH)7J2 | DRILLING TOOLS

FLINTJJE Hole-machining Tools

Hole-machining Tools F i1 TJ]&

kRIS 7 A & & L0 Indexable U Drill Insert e Ly
" T EEENARESTNTNESSHS Z A0S E
= w s ®e TR EE(mm) re JIEEE(mm)
z 03 38 00 0.79 05 5.96
04 43 TO 0.99 T5 5.95
05 5.4 5.0 01 1.59 06 6.35
- o po | TETEEM | dEEm BES | ol TJREEM | TREEM EEES :
rRE TR AR T AEmMM) | AZmMmM) | AEMmm) TAEMmM) | AEmMm) | AEmm) 06 6.5 6.0 Tl 1.98 T6 6.75
A +0.005 +0.025 +0.025 A +0.005 +0.05£0.13 +0.025 07 704 02 2.38 07 7.94
S F +0.005 +0.013 +0.025 F +0.013 +0.05£0.13 +0.025 T2 2.58 09 9.52
C +0.013 +0.025 +0.025 C +0.025 +0.05+0.13 +0.025 08 8.7
+0. +0. +0. +0. +0.05+0. +0. . 03 3.18 T9 9.72
9.8
+0. 0. 0. +0.08+0.18| £0.05:0. *0.
- H +0.013 0.013 0.013 H 0.08+0.18| £0.05+0.13 0.13 - e 13 3.97 11 1111
w E +0.025 +0.025 +0.025 E | £0.08+0.18| +0.05+0.13 +0.025 . 04 4.76 12 12.70
G +0.025 +0.025 +0.13 G | %0.13+£0.38| +0.08+0.25 +0.13 14 14.3
T4 4.96
ERKS nE $ETKE (mm)
NREE

wlclvxIoalosl: 2] < Row
SMTE s | |

RS | BXTL | EXHEE TR EIE RS | BT | EEEEE TR EIE

®e| ER®E |KS| ER® s
Vi LS I I & 1 N — |
SR v o B R w— NLEMER B B R 4 2
A B > 65°
= I H| % B ﬁ R| x B 3 = 68 e 08
>65° 04 0.4mm R a
c D ¢ g x @ F x X : 08 0.8mm L =
> 65°
g \h,w J - wE @ A . % D:D 12 1.2mm N Wi
<65°
w| % ﬁ M| 5 BE
E Fl\ I
25° <65°
T| # BE ﬁ G| % WE @

U =l KE

0| HfttuE BB R EE R

&
<65°
o| | ol 7o Ea| T o
30° 0"

THREGCEFBELAEHE] X #EEEMMI#Ewww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#74I7J2 | DRILLING TOOLS §AUI §AHI #hHI7J2 | DRILLING TOOLS

Hole-machining Tools #,jiTJ]

A 4% 45 3% 7L 5N S ] 4% 45 3% 7L 54 NS
UuD20 L ubD20 L

LI L2 Ll L2

.
@ o1
@ o2

3
@ o1
@ o2

UD20.SP05.125.W20 125 20 25 50 26 94 L60M2 x 4.3 T06 UD20.SP09.285.W32 285 32 45 60 58 146 L60M3.5x 8 T10
UD20.SP05.130.W20 13.0 20 25 50 26 94 L60M2x 4.3 To6 UD20.SP09.290.W25 290 25 45 56 58 142 L60M3.5x 8 T10
UD20.SP05.135.W20 135 20 25 50 28 96 SPL111050204 L60M2 x 4.3 T06 UD20.SP09.290.W32 290 32 45 60 58 146 L60M3.5x 8 T10
UD20.SP05.140.W20 140 20 25 50 28 96 L60M2x 4.3 T06 UD20.SP09.295.W32 295 32 55 60 60 151 L60M3.5x 8 T10
UD20.SP05.145.W20 145 20 25 50 30 99 L60M2x 4.3 T06 UD20.SP09.295.W40 295 40 55 70 60 161 L60M3.5x 8 T10
UD20.SP05.150.W20 150 20 25 50 30 99 L60M2x 4.3 T06 UD20.SP09.300.W32 300 32 55 60 60 151 L60M3.5% 8 T10
UD20.SP06.155.W25 1565 25 32 56 32 108 L60M2.2x5.5 T07 UD20.SP09.300.W40 300 40 55 70 60 161 L60M3.5x 8 T10
UD20.SP06.160.W25 16.0 25 32 56 32 108 L60M2.2x5.5 TO7 UD20.SP09.305.W32 30.5 32 55 60 62 154 L60M3.5x 8 T10
UD20.SP06.165.W25 165 25 32 56 34 110 L60M2.2x5.5 To7 UD20.SP09.305.W40 305 40 55 70 62 164 L60M3.5%8 T10
UD20.5P06.170.W25 170 25 | 32 | 56 | 34 | 110 L6OM2.2x5.5 oz UD20.SP09.310.W32 31.0 32 55 60 62 154 SP[J[1090408 L60M3.5x8 10
UD20.SP06.175.W25 175 25 32 56 36 113 L60M2.2x5.5 To7 UD20.SP09.310.W40 310 40 55 70 62 164 L60M3.5x8 T10
UD20.SP06.180.W25 180 25 32 56 36 113 L60M2.2x5.5 To7 UD20.SP09.315.W32 |31.5| 32 | 55 | 60 | 64 | 156 L60M3.5 x 8 10
UDZ0,5P05, 19026 100 25| 52| 66 | 50| 115 ST Loov2 255 Tor UD20.5PO9.315.W40 IS 40 S5 70 64 166
UD20.SP06.195.W25 195 25 32 56 40 119 L60M2.2x5.5 T07 32::::::::;:::?;2?: g;g iz :2 38 2: 122 tggm':zg Eg
UD20.SP06.200.W25 200 25 32 56 40 119 L60M2.2x5.5 To7 :

UD20.SP06.205.W25 205 25 32 56 42 121 L60M2.2x5.5 T07 UD20.5P09.326.W32 325 32 | 55 ' 60 | 66 | 159 L6OMS.5x8 1o
UD20.SP06.210.W25 21.0 25 32 56 42 121 L60M2.2x5.5 To7 D oS O N L6OM3.5x8 1o
UD20.SP06.215.W25 215 25 32 56 44 123 L60M2.2x 5.5 T07 UD20.SP09.330.W32 330 32 55 60 66 159 L60M3.5x8 10
UD20.SP07.220.W25 220 25 32 56 44 123 L60M2.5 x 6.5 T08 UD20.SP09.330.W40  33.0 40 55 70 66 169 L60M3.5x8 i
UD20.SP07.225.W25 225 25 45 56 46 127 L60M2.5x6.5 T08 UD20.SP11.340.W32 340 32 55 60 68 161 L60M4 x 10 T15
UD20.SP07.225.W32 225 32 45 60 46 131 L60M2.5x 6.5 To8 UD20.SP11.340.W40 340 40 55 70 68 171 L60M4 x 10 T15
UD20.SP07.230.W25 230 25 45 56 46 127 L60M2.5x6.5 To8 UD20.SP11.350.W32 350 32 55 60 70 164 L60M4 x 10 T15
UD20.SP07.230.W32 230 32 45 60 46 131 L60M2.5% 6.5 To8 UD20.SP11.350.W40 350 40 55 70 70 174 L60M4 % 10 T15
UD20.SP07.235.W25 235 25 45 56 48 130 L60M2.5% 6.5 T08 UD20.SP11.360.W32 36.0 32 55 60 72 167 L60M4 x 10 T15
UD20.SP07.235.W32 235 32 45 60 48 134 L60M2.5x 6.5 T08 UD20.SP11.360.W40 360 40 55 70 72 177 L60M4 x 10 T15
UD20.SP07.240.W25 240 25 45 56 48 130 L60M2.5x6.5 To8 UD20.SP11.370.W32 37.0 32 55 60 74 170 L60M4 x 10 Ti5
UD20.SP07.240.W32 240 32 45 60 48 134 L60M2.5x6.5 To8 UD20.SP11.370.W40 37.0 40 55 70 74 180 SP11110408 L60M4 x 10 T15
UD20.SP07.245.W25 245 25 45 56 50 133 L60M2.5x6.5 To8 UD20.SP11.380.W32 380 32 55 60 76 173 L60M4 x 10 Ti5
UD20.SP07.245.W32 245 32 45 60 50 137 L60M2.5x6.5 To8 UD20.SP11.380.W40 380 40 55 70 76 183 L60M4 x 10 T15
UD20.SP07.250.W25 250 25 45 56 50 133 SPI[107T308 L60M2.5x6.5 To8 UD20.SP11.390.W32 390 32 55 60 78 175 L60M4 x 10 T15
UD20.SP07.250.W32 25,0 32 45 60 50 137 L60M2.5x 6.5 TO8 UD20.SP11.390.W40 39.0 40 55 70 78 185 L60M4 x 10 T15
UD20.SP07.255.W25 26,5 25 45 56 52 135 L60M2.5x 6.5 TO8 UD20.SP11.400.W32 40.0 32 60 60 80 178 L60M4 x 10 T15
UD20.SP07.255.W32 255 32 45 60 52 139 L60M2.5x6.5 T08 UD20.SP11.400.W40 400 40 60 70 80 188 L60M4 x 10 T15
UD20.SP07.260.W25 26.0 25 45 56 52 135 L60M2.5% 6.5 TO8 UD20.SP11.410.W40 410 40 60 70 82 191 L60M4 x 10 T15
UD20.SP07.265.W25 265 25 45 56 54 137 L60M2.5x6.5 To8 UD20.SP14.430.W40 430 40 60 70 85 196 L60M5x 13 T20
L A N T uosospraasm D ii0 0 @ 10 i e
UD20.SP07.270.W32 27.0 32 45 60 54 141 L6OM2.5x6.5 T08 JD20.8P14.450.W40 450 40 | 60 | 70 00 202 LOOMS x13 120
UD20.$P07.275.W28 275 25 | 45 | o6 |26 1140 LooM2 o ae s To8 UD20.SP14.460.W40 460 40 60 70 92 205 SPOI[]140512 L60M5 x 13 T20
UD20.SP07.275.W32 275 32 45 60 56 144 L60M2.5x6.5 To8 UD20.8P14.470.W40 | 47.0] 40 | 60 | 70 | 94 | 207 LEOMS x 13 720
UD20.SP09.280.W25 280 25 45 56 56 140 L60M3.5x 8 T10 PRI s A0 G0 e 20 LE0MS5x13 T20
UD20.SP09.280.W32 28.0 32 45 60 56 144 SPCI1090408 L60M3.5x8 T10 UD20.SP14.490.W40 490 40 | 60 | 70 | 98 | 212 L6OMS x 13 120
UD20.SP09.285.W25 285 25 45 56 58 142 L60M3 5 x8 10 UD20.SP14.500.W40 500 40 60 70 100 215 L60M5 x 13 T20

THREGCEFBELAEHE] X #EEEMMI#Ewww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




t#hHI7J& | DRILLING TOOLS §AHI §AHI #hEI7JE | DRILLING TOOLS
Hole-machining Tools F i TJ]E

A 4% 45 3% 7L 5N S ] 4% 45 3% 7L 5N
UD30 L UD30 L

L1 L2 Ll L2

.
@ o1
@2

r-—-
3
@ o1
@ o2

* TIELMHES * TIELMEES
BRI Dimensor BRI Dimensor —
BS

UD30.SP05.125.W20 125 20 25 50 39 107 L60M2x 4.3 To6 UD30.SP09.280.W25 280 25 45 56 84 168 L60M3.5x8 T10
UD30.SP05.130.W20 13.0 20 25 50 39 107 L60M2x 4.3 T06 UD30.SP09.280.W32 28.0 32 45 60 84 172 L60M3.5x 8 T10
UD30.SP05.135.W20 135 20 25 50 42 110 SPOIC050204 L60M2 x 4.3 T06 UD30.SP09.285.W25 285 25 45 56 87 171 L60M3.5x8 T10
UD30.SP05.145.W20 145 20 25 50 45 114 L6OM2x 4.3 T06 UD30.SP09.290.W25 29.0 25 45 56 87 171 L60M3.5x8 T10
UD30.SP05.150.W20 |150| 20 | 25 | 50 | 45 | 114 L60M2 x 4.3 T06 UD30.SP09.290.W32 290 32 45 60 87 175 L60M3.5x8 T10
UD30.SP09.294.W32 294 32 55 60 90 181 L60M3.5x8 T10
UD30.SP06.155.W25 155 25 32 56 48 124 L60M2.2x5.5 T07 UD30.SP09.294.W40 |25.4| 40 | 55 | 70 | 90 | 191 L6OM3.5x B 10
UD30.SP06.160.W25 16.0 25 32 56 48 124 L60M2.2x5.5 T07 UD30.SP09S.205.W32 295 32 55 60 90 181 L60M3.5x 8 T10
uR30,5P06.165:W25 " |16.5] 25 | 82 |7567| 51 | 127 L60M2.2x5.5 Ui UD30.SP09.295.W40 295 40 55 70 90 191 L60M3.5x 8 T10
UD30.SP06.170.W25 170 25 32 56 51 127 L60M2.2x5.5 TO7 UD30.SP09.300.W32 30,0 32 55 60 90 181 L60M3.5x8 T10
UD30.SP06.175.W25 175 25 32 56 54 131 L60M2.2x5.5 T07 UD30.SP09.300.W40 300 40 55 70 90 191 SPEICI090408 L60M3.5x 8 T10
UD30.SP06.180.W25 18.0 25 32 56 54 131 L60M2.2x 5.5 To07 UD30.SP09.305.W32 305 32 55 60 93 185 L60M3.5x8 T10
UD30.SP06.185.W25 185 25 32 56 57 134 SElaR L60M2.2x5.5 To7 UD30.SP09.305.W40 305 40 55 70 93 195 L60M3.5x 8 T10
UD30.SP06.190.W25 19.0 25 32 56 57 134 L60M2.2x5.5 T07 UD30.SP09.310.W32 31.0 32 55 60 93 185 L60M3.5x 8 T10
UD30.SP06.195.W25 19.5 25 32 56 60 139 L60M2.2x5.5 T07 UD30.SP09.310.W40 31.0 40 55 70 93 195 L60M3.5x 8 T10
UD30.SP06.200.W25 20.0 25 32 56 60 139 L60M2.2x 5.5 TO7 332:-::3:-:::-a23 gl: 23 :: sg gg 13: tggmg-gxg 118
UD30.SP06.205.W25 205 25 32 56 63 142 L60M2.2x 5.5 To7 : A bh : Sk
UD30.SP06.209.W25 209 25 32 56 63 142 L60M2.2x 5.5 To7 UD30-3809:320- W3 25 0N S SEcONIMOCIN 65 L6OM3.5x8 e
UD30.SP09.320.W40 320 40 55 70 96 198 L60M3.5x8 T10
UD30.SP06.210.W25 210 25 32 56 63 142 L60M2.2x5.5 T07 UD30.SP09.325.W32 325 32 55 60 99 192 L60M3.5x8 T10
UD30.SP06.215.W25 215 25 32 56 66 145 L60M2.2x 5.5 To07 UD30.SP09.325.W40 325 40 55 70 99 202 L60M3.5%8 T10
UD30.SP07.220.W25 220 25 32 56 66 145 L60M2.5x 6.5 T08 UD30.SP09.330.W32 330 32 55 60 99 192 L60M3.5 x 8 T10
UD30.SP07.225.W25 225 25 45 56 69 150 L60M2.5x 6.5 TO8 UD30.SP09.330.W40 33.0 40 55 70 99 202 L60M3.5x 8 T10
UD30.SP07.225.W32 225 32 45 60 69 154 L60M2.5% 6.5 T08 UD30.SP11.340.W32 340 32 55 60 102 195 L60M4 x 10 T15
UD30.SP07.230.W25 230 25 45 56 69 150 L60M2.5% 6.5 To8 UD30.SP11.340.W40 340 40 55 70 102 205 L60M4 x 10 T15
UD30.SP07.230.W32 230 32 45 60 69 154 L60M2.5% 6.5 To8 UD30.SP11.350.W32 350 32 55 60 105 199 L60M4 x 10 T15
UD30.SP07.235.W25 235 25 45 56 72 154 L60M2.5% 6.5 T08 UD30.SP11.350.W40 350 40 55 70 105 209 L60M4 x 10 T15
UD30.SP07.235.W32 235 32 45 60 72 158 L60M2.5x 6.5 To8 UD30.SP11.360.W32  36.0 32 55 60 108 203 L60M4x 10 T15
UD30.SP07.239.W25 239 25 32 56 72 154 L60M2.5x6.5 T08 UD30.SP11.360.W40 360 40 55 70 108 213 LBOM4 x 10 T15
UD30.SP07.239.W32 239 32 45 60 72 158 L60M2.5x 6.5 T08 3323':::'3:”3'ng g;'g 2(2) 2: sg m g?; tggmzlg Eg
UD30.SP07.240.W25 240 25 45 56 72 154 L60M2.5x6.5 To8 UD30.SP11.375.W32 Ia75 s e 6o 14T 21 LG e 6 ==
UD30.SP07.240.W32 240 32 45 60 72 158 L60M2.5x6.5 To8 UD30.SP11.375.W40 375 40 55 70 114 221 SPLILI110408 L60M4 x 10 T15
UD30.SP07.245.W25 245 25 45 56 75 158 L60M2.5x 6.5 TO8 UD30.SP11.380.W32 38.0 32 55 60 114 211 L60M4x 10 T15
UD30.SP07.245.W32 245 32 45 60 75 162 L60M2.5x6.5 To8 UD30.SP11.380.W40 38.0 40 55 70 114 221 L60M4 x 10 Ti5
UD30.SP07.250.W25 250 25 45 56 75 158 SP]07T308 L60M2.5x6.5 T08 UD30.SP11.390.W32 390 32 55 60 117 214 L60M4 x 10 T15
UD30.SP07.250.W32 250 32 45 60 75 162 L60M2.5x6.5 To8 UD30.SP11.390.W40 390 40 55 70 117 224 L60M4 x 10 T15
UD30.SP07.255.W25 255 25 45 56 78 161 L60M2.5%6.5 To8 UD30.SP11.400.W32 400 32 60 60 120 218 L60M4 x 10 T15
UD30.SP07.255.W32 255 32 45 60 78 165 L60M2.5%6.5 TO8 UD30.SP11.400.W40 40.0 40 60 70 120 228 L60M4 x 10 T15
UD30.SP07.260.W25 26.0 25 45 56 78 161 L60M2.5x6.5 T08 UD30.SP11.405.W40 40.5 40 60 70 123 232 L60M4 x 10 T15
UD30.SP07.260.W32 260 32 45 60 78 165 L60M2.5x 6.5 TO8 UD30.SP11.410.W40  41.0 40 60 70 123 232 L60M4 x 10 T15
UD30.SP07.264.W25 264 25 45 56 81 164 L60M2.5 x 6.5 T08 3::3'::::'222'328 22'3 :g gg ;g }gg ggg tggmgzlg Eg
UD30.SP07.264.W32 264 32 45 60 81 168 L60M2.5%6.5 To8 TE LT Oh e W R C R R BT IEETE T20
UD30.SP07.265.W25 265 25 45 56 81 164 L60M2.5x6.5 T08 UD30.SP14.450.W40 45:0 40 60 70 135 247 L60M5x 13 T20
UD30.SP07.265.W32 26.5 32 45 60 81 168 L60M2.5x 6.5 TO8 UD30.SP14.460.W40 46.0 40 60 70 138 251 SPCI[]140512 L60M5x 13 T20
UD30.SP07.270.W25 27.0 25 45 56 81 164 L60M2.5%x6.5 TO8 UD30.SP14.470.W40 47.0 40 60 70 141 254 L60M5 x 13 T20
UD30.SP07.270.W32 27.0 32 45 60 81 168 L60M2.5% 6.5 T08 UD30.SP14.480.W40 48.0 40 60 70 144 258 L60M5x 13 T20
UD30.SP07.275.W25 275 25 45 56 84 168 L60M2.5x6.5 T08 UD30.SP14.490.W40 490 40 60 70 147 261 L60M5 x 13 T20
UD30.SP07.275.W32 275 32 45 60 84 172 L60M2.5% 6.5 T08 UD30.SP14.500.W40 50.0 40 60 70 150 265 L60M5x 13 T20

THREGCEFBELAEHE] X #EEEMMI#Ewww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com

=T



t#hHI7J& | DRILLING TOOLS §AHI §AHI #hEI7JE | DRILLING TOOLS
Hole-machining Tools #,jiTJ]

A 4% 45 3% 7L 5N S ] §% 45 3% 7L 5N
UD40 L UubD40 L

/ LI L2 / Ll L2
f a2l N o ! - £ s 3
| \ S{EN s | \ sls

* J) B S * 71 ELEE S
BRI Dimensor BRI Dimensor —

UD40.SP05.125.W20 125 20 25 50 52 120 L60M2 x 4.3 T06 UD40.SP09.285.W32 285 32 45 60 116 204 L60M3.5x 8 T10
UD40.SP05.130.W20 13.0 20 25 50 52 120 L60M2 x 4.3 To6 UD40.SP09.290.W25 29.0 25 45 56 116 200 L60M3.5x 8 T10
UD40.SP05.135.W20 1355 20 25 50 56 124 SPLILI1050204 L60M2 x 4.3 T06 UD40.SP09.290.W32 29.0 32 45 60 116 204 L60M3.5 x 8 T10
UD40.SP05.140.W20 140 20 25 50 56 124 L60M2x 4.3 T06 UD40.SP09.295.W32 295 32 55 60 120 211 L60M3.5 x 8 T10
UD40.SP05.145.W20 145 20 25 50 60 129 L60M2x4.3 T06 UD40.SP09.295.W40 295 40 55 70 120 221 L60M3.5x 8 T10
UD40.SP05.150.W20 15.0 20 25 50 60 129 L60M2x 4.3 T06 UD40.SP09.300.W32 30.0 32 55 60 120 211 L60M3.5%8 T10
UD40.SP06.155.W25 1152525 32 56 64 140 L60M2.2x5.5 TO7 UD40.SP09.300.W40 30.0 40 55 70 120 221 L60M3.5 x 8 T10
UD40.SP06.160.W25 16.0 25 32 56 64 140 L60M2.2x 5.5 To7 UD40.SP09.305.W32 305 32 55 60 124 216 L60M3.5x 8 T10
M0, SR06 11165 W 2 S R ORI I ORIl LEO0M2.2x5.5 o7 UD40.SP09.305.W40  30.5 40 55 70 124 226 L60M3.5x8 T10
UD40.5P06.170.W25 1 17.0 25 | 32 | 56 | 68 | 144 LE0M2.2x5.5 o7 UD40.SP09.310.W32 31.0 32 55 60 124 216 SPCI1090408 L60M3.5x8 T10
UD40.SP06.175.W25 17.5 25 32 56 72 149 L60M2.2x 5.5 T07 T T P e R o B TR T
UD40.SP06.180.W25 _ 18.0 25 | 32 | 56 | 72 | 149 L60M2.2x5.5 o7 UD40.SP09.315.W32 315 32 55 60 128 220 L60M3.5x 8 T10
UD40.SP06.185.W25 185 25 32 56 76 153 SPLIC1060204 L60M2.2x 5.5 To7 UD30.5P00.315.Wwa0 3151 a0 55 | 70 T128 [ 230 L60M3.5 5 o
UD40.SP06.190.W25 19.0 25 32 56 76 153 L60M2.2x 5.5 T07 UD40.5P09.320.W32 | 320 32 | 55 | 60 | 128 | 220 L6OMS 55 o
UD40.SP06.195.W25 195 25 32 56 80 159 L60M2.2x 5.5 T07

UD40.SP06.200.W25 20.0 25 32 56 80 159 L60M2.2x 5.5 T07 S O N L6OM3.5x8 10
UD40.SP06.205.W25 205 25 32 56 84 163 L60M2.2x5.5 T07 UD40.8P09.325.W32 _|32.5 32 | 55 | 60 | 132 225 L60M3.5x8 T10
UD40.SP06.210.W25 210 25 32 56 84 163 L60M2.2x5.5 T07 UD40.5P09.325.W40  32.5 40 55 | 70 | 132 235 Lihidlgt Jio
o e e o o e e e e — UD40.SP09.330.W32 330 32 55 60 132 225 L60M3.5 x 8 T10
UD40.SP07.220.W25 220 25 32 56 88 167 L60M2.5x 6.5 Tos UD40.SP09.330.W40  33.0 40 55 70 132 235 L60M3.5x 8 T10
UD40.SP07.225.W25 225 25 45 56 92 173 L60M2.5x6.5 T08 UD40.SP11.340.W32 34.0 32 55 60 136 229 L60M4 x 10 T15
UD40.SP07.225.W32 225 32 45 60 92 177 L60M2.5%6.5 To8 UD40.SP11.340.W40 34.0 40 55 70 136 239 L60M4 % 10 T15
UD40.SP07.230.W25 230 25 45 56 92 173 L60M2.5x 6.5 T08 UD40.SP11.350.W32 350 32 55 60 140 234 L60M4 x 10 T15
UD40.SP07.230.W32 230 32 45 60 92 177 L60M2.5x 6.5 T08 UD40.SP11.350.W40 350 40 55 70 140 244 L60M4 x 10 Ti5
UD40.SP07.235.W25 235 25 45 56 96 178 L60M2.5x 6.5 Tos UD40.SP11.360.W32 360 32 55 60 144 239 L60M4 x 10 T15
UD40.SP07.235.W32 235 32 45 60 96 182 L60M2.5x 6.5 T08 UD40.SP11.360.W40 36.0 40 55 70 144 249 L60M4 x 10 T15
UD40.SP07.240.W25 240 25 45 56 96 178 L60M2.5x 6.5 Tos UD40.SP11.370.W32 37.0 32 55 60 148 244 L60M4x 10 T15
UD40.SP07.240.W32 240 32 32 60 96 182 L60M2.5x 6.5 Tos UD40.SP11.370.W40 37.0 40 55 70 148 254 SPLI1110408 L60M4 x 10 Ti5
UD40.SP07.245.W25 245 25 45 56 100 183 L60M2.5% 6.5 T08 UD40.SP11.380.W32 38.0 32 55 60 152 249 L60M4 x 10 T15
UD40.SP07.245.W32 245 32 45 60 100 187 L60M2.5x 6.5 T08 UD40.SP11.380.W40 38.0 40 55 70 152 259 L60M4 x 10 T15
UD40.SP07.250.W25 250 25 45 56 100 183 SPIC107T308 L60M2.5x 6.5 To8 UD40.SP11.390.W32 390 32 55 60 156 253 L60MAx 10 T15
UD40.SP07.250.W32 25.0 32 45 60 100 187 L60M2.5x 6.5 TO8 UD40.SP11.390.W40 39.0 40 55 70 156 263 L60M4 x 10 T15
UD40.SP07.255.W25 255 25 45 56 104 187 L60M2.5x 6.5 To8 UD40.SP11.400.W32 400 32 60 60 160 258 L60MAx 10 T5
UD40.SP07.255.W32 255 32 45 60 104 191 L60M2.5x 6.5 T08 UD40.SP11.400.W40 400 40 60 70 160 268 Lo m—
UD40.SP07.260.W25 260 25 45 56 104 187 L60M2.5% 6.5 T08 UD40.SP11.410.W40 | 41.0| 40 | 60 | 70 | 164 | 273 L60MA x 10 T15
UD40.SP07.260.W32 26.0 32 45 60 104 191 L60M2.5x 6.5 T08 T ORI T2ty s v | | 5o s [ L6OM5 x 13 20
e L hanspisssomio 10 0 G 10 1%
UD40.SP07.270.W25 270 25 45 56 108 191 L60M2.5x 6.5 TO8 :g:g::::::gg:x:g ::'g jg Zg ;g :;ﬁ Zgg tzgmg:g 128
UD40.SP07.270.W32 27.0 32 45 60 108 195 L60M2.5x 6.5 To8 :

UD40.SP07.275.W25 275 25 45 56 112 196 L60M2.5x 6.5 T08 S N O DR DI i SPLL140512 L6OMS5x 13 LD
UD40.SP07.275.W32 275 32 45 60 112 200 L60M2.5x 6.5 T08 UD40.SP14.470.W40  47.0 40 60 70 188 301 L6OM5 x 13 120
UD40.SP09.280.W25 280 25 45 56 112 196 L60M3.5 x 8 T10 UD40.SP14.480.W40 480 40 60 70 192 306 L60MS x13 T20
UD40.SP09.280.W32 280 32 45 60 112 200 SPII[1090408 L60M3.5x 8 T10 UD40.SP14.490.W40  49.0 40 60 70 196 310 L60M5 x 13 T20
UD40.SP09.285.W25 285 25 45 56 116 200 L60M3.5x 8 T10 UD40.SP14.500.W40  50.0 40 60 70 200 315 L60M5x 13 T20

THREGCEFBELAEHE] X #EEEMMI#Ewww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




#74I7J2 | DRILLING TOOLS §AUI §AHI #hHI7J2 | DRILLING TOOLS

Hole-machining Tools #,jiTJ]

A 4% 45 3% 7L 5N S ] §% 45 3% 7L 5N N
UDS0 L UDSO0 L

o1
D02

{
@ o1
@ o2

* 7)ELH{ ¥ Spe * 7 ELKi¥ Spe
BARS(m) pimension - BAR(mm) Dimension I
e

S _- e 2 _mm | @

UD50.SP05.125.W20 125 20 25 50 65 133 L60M2x 4.3 UD50.SP09.290.W32 29.0 32 45 60 145 233 L60M3.5X8 T10
UD50.SP05.130.W20 13.0 20 25 50 65 133 L60M2x 4.3 T06 UD50.SP09.295.W32 29.5 32 55 60 150 241 L60M3.5X8 T10
UD50.SP05.135.W20 135 20 25 50 70 138 SPCICI050204 L60M2x 4.3 T06 UD50.SP09.300.W32 30.0 32 55 60 150 241 L60M3.5X8 T10
UD50.SP05.140.W20 140 20 25 50 70 138 L60M2x 4.3 T06 UD50.SP09.300.W40 30.0 40 55 70 150 251 L60M3.5X8 T10
UD50.SP05.145.W20 145 20 25 50 75 144 L60M2 x 4.3 T06 UD50.SP09.310.W32 31.0 32 55 60 155 247 SPOICI090408 L60M3.5X8 T10
UD50.SP05.150.W20 150 20 25 50 75 144 L60M2x 4.3 T06 UD50.SP09.310.W40 31.0 40 55 70 155 257 L60M3.5X8 T10
UD50.SP06.155.W25 155 25 32 56 80 156 L60M2.2x5.5 T07 UD50.SP09.320.W32 320 32 55 60 160 252 L60M3.5X8 T10
UD50.SP06.160.W25 16.0 25 32 56 80 156 L60M2.2x5.5 T07 UD50.SP09.320.W40 32.0 40 55 70 160 262 L60M3.5X8 T10
UD50.SP06.165.W25 165 25 32 56 85 161 L60M2.2x5.5 T07 UD50.SP09.330.W32 330 32 55 60 165 258 L60M3.5X8 T10
UD50.SP06.170.W25 17.0 25 32 56 85 161 L60M2.2x5.5 T07 UD50.SP09.330.W40 33.0 40 55 70 165 268 L60M3.5X8 T10
UD50.SP06.175.W25 175 25 32 56 90 167 L60M2.2x5.5 T07 UD50.SP11.340.W32 340 32 55 60 170 263 L60M4X10 T15
UD50.SP06.180.W25 180 25 32 56 90 167 L60M2.2x5.5 T07 UD50.SP11.340.W40 34.0 40 55 70 170 273 L60M4X10 T15
UD50.SP06.185.W25 185 25 32 56 95 172 SPI[]060204 L60M2.2x5.5 T07 UD50.SP11.350.W32 350 32 55 60 175 269 L60M4X10 T15
UD50.SP06.190.W25 19.0 25 32 56 95 172 L60M2.2x5.5 T07 UD50.SP11.350.W40 350 40 55 70 175 279 L60M4X10 T15
UD50.SP06.195.W25 195 25 32 56 100 179 L60M2.2x5.5 T07 UD50.SP11.360.W32 36.0 32 55 60 180 275 L60M4X10 T15
UD50.SP06.200.W25 20.0 25 32 56 100 179 L60M2.2x5.5 T07 UD50.SP11.360.W40 36.0 40 55 70 180 285 L60M4X10 T15
UD50.SP06.205.W25 205 25 32 56 105 184 L60M2.2x5.5 T07 UD50.SP11.370.W32 37.0 32 55 60 185 281 L60M4X10 T15
UD50.SP06.210.W25 21.0 25 32 56 105 184 L60M2.2x5.5 T07 UD50.SP11.370.W40 37.0 40 55 70 185 291 SPJ[1110408 L60M4X10 T15
UD50.SP06.215.W25 215 25 32 56 110 189 L60M2.2x5.5 T07 UD50.SP11.380.W32 380 32 55 60 190 287 L60M4X10 T15
UD50.SP07.220.W25 220 25 32 56 110 189 L60M2.5x 6.5 T08 UD50.SP11.380.W40 38.0 40 55 70 190 297 L60M4X10 T15
UD50.SP07.225.W32 225 32 45 60 115 200 L60M2.5x 6.5 T08 UD50.SP11.390.W32 39.0 32 55 60 195 292 L60M4X10 T15
UD50.SP07.230.W32 230 32 45 60 115 200 L60M2.5x 6.5 TO8 UD50.SP11.390.W40 39.0 40 55 70 195 302 L60M4X10 T15
UD50.SP07.235.W32 235 32 45 60 120 206 L60M2.5x 6.5 T08 UD50.SP11.400.W32 40.0 32 60 60 200 298 L60M4X10 T15
UD50.SP07.240.W32 240 32 45 60 120 206 L60M2.5x6.5 T08 UD50.SP11.400.W40 40.0 40 60 70 200 308 L60M4X10 T15
UD50.SP07.245.W32 245 32 45 60 125 212 SPOCI07T308 L60M2.5x 6.5 T08 UD50.SP11.410.W40 41.0 40 60 70 205 314 L60M4X10 T15
UD50.SP07.250.W32 250 32 45 60 125 212 L60M2.5x6.5 T08 UD50.SP14.420.W40 420 40 60 70 210 319 L60M5X13 T20
UD50.SP07.255.W32 255 32 45 60 130 217 L60M2.5x 6.5 TO8 UD50.SP14.430.W40 43.0 40 60 70 215 325 L60M5X13 T20
UD50.SP07.260.W32 26.0 32 45 60 130 217 L60M2.5x 6.5 T08 UD50.SP14.440.W40 440 40 60 70 220 330 L60M5X13 T20
UD50.SP07.265.W32 265 32 45 60 135 222 L60M2.5x 6.5 T08 UD50.SP14.450.W40 450 40 60 70 225 337 L60M5X13 T20
UD50.SP07.270.W32 27.0 32 45 60 135 222 L60M2.5x 6.5 T08 UD50.SP14.460.W40 46.0 40 60 70 230 343 SPI[]140512 L60M5X13 T20
UD50.SP07.275.W32 275 32 45 60 140 228 L60M2.5x 6.5 T08 UD50.SP14.470.W40 47.0 40 60 70 235 348 L60M5X13 T20
UD50.SP09.280.W32 280 32 45 60 140 228 SPLIC1090408 L60M3.5x 8 T10 UD50.SP14.480.W40 48.0 40 60 70 240 354 L60M5X13 T20
UD50.SP09.285.W32 285 32 45 60 145 233 L60M3.5x 8 T10 UD50.SP14.490.W40 49.0 40 60 70 245 359 L60M5X13 T20

UD50.SP14.500.W40 50.0 40 60 70 250 365 L60M5X13 T20

THREGCEFBELAEHE] X #EEEMMI#Ewww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




£LEI7JE | DRILLING TOOLS

A §E K 7L 5

ubD25

* T8 M Spa

Type
NS

EZARR~F(mm) Dimension

H = 7 A

&1
EIVIMIES

#H = 7 A

Al §E & 7L 5
UD35

* J1E M4 Spa

EAR Rt (mm) Dimension

fLEI17J82 | DRILLING TOOLS

Hole—machining Tools 0T 7]

&4
S\ IPIES

UD25.5P07.510.530.W50

UD25.5P07.540.560.W50

UD25.5P09.570.620.W50

UD25.5P09.630.660.W50

UD25.SP11.670.730.W50

UD25.SP12,740.800.W50

51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50

75
75
75
75
7%
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
S
75
75
75
75
75
75
75
75
75

133
133
133
140
140
140
155
155
155
155
155
155
165
165
165
165
183
183
183
183
183
183
183
200
200
200
200
200
200
200

80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80

250
250 SPLJ[J07T308
250
260
260 SPLI[J07T308
260
281
281
281
081 SP[1[J090408
281
281
295
295
295 SP[J[]090408
295
320
320
320
320 SPL][J110408
320
320
320
330
330
330
330 SP[J[J120408
330
330
330

L60M2.5x6.5
L60M2.5x6.5
L60M2.5x 6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x8
L60M3.5x 8
L60M3.5x8
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10

THRAKEFEREREBE X #HFEZEMiwww.hnsant.com

UD 07CA.W11
UD 07CA.W12
UD 07CA.W13
UD 07CA.W21
UD 07CA.W22
UD 07CA.W23
UD 09CA.W11
UD 09CA.W12
UD 09CA.W13
UD 09CA.W14
UD 09CA.W15
UD 09CA.W16
UD 09CA.W21
UD 09CA.W22
UD 09CA.W23
UD 09CA.W24
UD 11CA.W11
UD 11CA.W12
UD 11CA.W13
UD 11CA.W14
UD 11CA.W15
UD 11CA.W16
UD 11CA.W17
UD 12CA.W21
UD 12CA.W22
UD 12CA.W23
UD 12CA.W24
UD 12CA.W25
UD 12CA.W26
UD 12CA.W27

UD 07CA.Z1
UD 07CA.Z1
UD 07CA.Z1
UD 07CA.Z2
UD 07CA.Z2
UD 07CA.Z2
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z2
UD 09CA.Z2
UD 09CA.Z2
UD 09CA.Z2
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2

Type
NS

51
UD35.SP07.510.530.W50 52
53
54
UD35.SP07.540.560.W50 55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
UD35.SP11.670.730.W50 70
71
72
73
74
75
76
UD35.SP12.740.800.W50 77
78
79
80

UD35.5P09.570.620.W50

UD35.5P09.630.660.W50

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50

75
75
75
75
7%
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75

186
186
186
196
196
196
217
217
217
217
217
217
231

231
231
256
256
256
256
256
256
256
280
280
280
280
280
280
280

80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80

303
303
303
316
316
316
343
343
343
343
343
343
361
361
361
361
393
393
393
393
393
393
393
410
410
410
410
410
410
410

TRAKEFERIEHRRB X #EEZEMNwww.hnsant.com

SPJ[J07T308

SPLI[J07T308

SP[1[J090408

SP[J[]090408

SPJ[]110408

SP[J[]120408

L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10

UD 07CA.W11
UD 07CA.W12
UD 07CA.W13
UD 07CA.W21
UD 07CA.W22
UD 07CA.W23
UD 09CA.W11
UD 09CA.W12
UD 09CA.W13
UD 09CA.W14
UD 09CA.W15
UD 09CA.W16
UD 09CA.W21
UD 09CA.W22
UD 09CA.W23
UD 09CA.W24
UD 11CA.W11
UD 11CA.W12
UD 11CA.W13
UD 11CA.W14
UD 11CA.W15
UD 11CA.W16
UD 11CA.W17
UD 12CA.W21
UD 12CA.W22
UD 12CA.W23
UD 12CA.W24
UD 12CA.W25
UD 12CA.W26
UD 12CA.W27

UD 07CA.ZA1
UD 07CA.Z1
UD 07CA.ZA1
UD 07CA.Z2
UD 07CA.zZ2
UD07CA.Z2
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.ZA1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z2
UD 09CA.Z2
UD 09CA.Z2
UD09CA.Z2
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 12CA.Z2
UD 12CA.zZ2
UD 12CA.Z2
UD 12CA.zZ2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2



#hHIJJB | DRILLING TOOLS §AHI §AUI $#hH)7J2 | DRILLING TOOLS

A] 8% {1 % FL ¥4 A] 8% {5 7% 7L &&
- ¢ ¢
UD30 Category

BEARS(mm) pimension

K Al
L2
Ll - UD30.WC05.260.W32 26 32 55 83 60 176
. UD30.WC05.270.W32 27 32 55 86 60 180
[m] ® 8 o
1SS =~ WCO05
UD30.WC05.280.W32 28 32 55 89 60 184
UD30.WC05.290.W32 29 32 55 92 60 188
UD30.WC05.300.W32 30 32 55 95 60 192
UD30.WC06.310.W40 31 40 60 98 70 203
* TIEHHF Spar UD30.WC06.320.W40 32 40 60 101 70 206
J1H Insert 71 5 #8247 Insert Screw W =F Wrench UD30.WC06.330.W40 33 40 60 104 70 209
Q UD30.WC06.340.W40 34 40 60 107 70 212
A .350.W4 40

WCMX030208 L60 M2.5X6.5 T08 WO0s UD30.WC06.350.W40 35 ey UilY 0 215
UD30.WC06.360.W40 36 40 60 113 70 218

WCMX040208 L60 M2.5X6.5 To8
UD30.WC06.370.W40 37 40 60 116 70 221

WCMX050308 L60 M3X8 T10
UD30.WC06.380.W40 38 40 60 119 70 225

WCMX06T308 L60 M3.5X8 T15
UD30.WC06.390.W40 39 40 60 122 70 228

WCMX080412 L60 M4X10 T15
UD30.WC06.400.W40 40 40 60 125 70 231
UD30.WC06.410.W40 41 40 60 128 70 234
* 71EMEBS Type of UD03.WC08.420.W40 42 40 60 131 70 239
EART(mm) Dimension UDO03.WC08.430.W40 43 40 60 134 70 242
UDO03.WC08.440.W40 44 40 60 137 70 245
UD30.WC03.160.W25 1 o5 a0 o 56 129 UDO03.WC08.450.W40 45 40 60 140 70 248
UD30.WC03.170.W25 . o5 - o i 133 UDO03.WC08.460.W40 46 40 60 143 70 251

WCo03
UD30.WC03.180.W25 18 o5 a 58 56 137 UDO03.WC08.470.W40 47 40 60 146 70 253
UD30.WC03.190.W25 19 o5 4 o1 " 140 UDO03.WC08.480.W40 48 40 70 149 70 255
UD30.WC03.200.W25 2 o5 - o 5 143 WCo8 UDO03.WC08.490.W40 49 40 70 152 70 257
UD30.WC04.210.W25 o1 o5 20 - 56 153 UD03.WC08.500.W40 50 40 70 155 70 259
UD30.WC04.220.W25 o o 20 . 56 156 UDO03.WC08.510.W40 51 40 70 158 70 261
WCo04
UD30.WC04.230.W25 23 o 40 . 5 159 UDO03.WC08.520.W40 52 40 70 161 70 263
UD30.WC04.240.W25 04 o5 40 6 - 16 UDO03.WC08.530.W40 53 40 70 164 70 265
D03.WC08.540.W4
UD30.WC04.250.W25 25 25 40 79 56 165 UD03.WC08.540.W40 54 40 70 167 70 267
UDO03.WC08.550.W40 55 40 70 170 70 269
UDO03.WC08.560.W40 56 40 70 173 70 271
UDO03.WC08.570.W40 57 40 70 176 70 273
EH: BETNFEZWSEHRIMEEA.  Note:The Insert Is Zccct brand.

UDO03.WC08.580.W40 58 40 70 179 70 275

THRAKEFEREREBE X #HFEZEMiwww.hnsant.com THREKERFBELAEHE] X ¥1Ei1EEMMi#Ewww.hnsant.com




$54/7JE | DRILLING TOOLS §BNI B5(=)

CONTENTS

FLINT DR Hole-machining

BER s

ERAREHSELTIEFR

ERRESELRBESEROEK , LUSMI K ERESREBERT.
fERCNCERE IO S SHMERPOREFT.
CNCEEFRERINAY 7L , TI AN AR S5 F4T.
REELTET] HEERINR , WA B ZAENRE.

SEEE L TIHR P216~P221

Collet chuck arbors

AT p222

Extension bar

SR IBEREKTINE P223~P224

Power milling chuck arbors

WARNING

Use the High Speed Dril the best to drain water from the

high pressure center to extending inserts life and good = ~
fo? reFr"noving the metal chips 4 g Sidelock %Jﬁtijﬁf P225~P227
Ide 10CK enda mill chuc
Using CNC Lathe the cutting center Point with spindle
center of Machine best to be parallel. jj*ﬁ pP228~P232

Shell end mill arbors

EREEKHR P233~P234

Morse taper with tang

If you need to expand hole when using CNC Lathe,
the outer insert must parallel with the remove angle of
cutter tower.

E] The inserts have to be checked regularly for wear,and

stop immediately once noise occurred. %
E Folrm PR ECHERR P235~P236
g Morse taper without tang
g —
" ZESTINE P237~P238
. Tool shank for side milling cutter
Recommended cutting parameters for u drills Tool system a::t;;ssories i
FLAZE Hole tolera TERGRARER P246~P252
Tool system technical information
fﬁﬁu RE Drilling depth FL4YZ Hole tolerance
2XD +0.2/-0.1
3XD +0.25/-0.1
4XD +0.3/-0.1
5XD +0.4/-0.1

HE-HIIH G

Recommended drilling and cutting condition

785 EE HHSER fn(mm/rev)

Materials (m/min) ©12.5-@15 @M55@215 @22-9275 @28-@33 @34-241 ©42-950 @51-@56 ©O57-066 @67-©@73 @74-980

{8 ( -0.3%C) | 490250  0.05.0.08  0.06-0.10 0.06:0.12  0.07-0.13 0.08-0.15 | 0.08-0.16 | 0.06-0.12 | 0.08-0.12 | 0.08-0.12 |0.08-0.12

Low carbon steel

ﬂbﬁb‘ogsﬁiﬁ:} 180-220 | 0.08-0.12 | 0.08-0.15 | 0.10-0.18 | 0.12-0.22 0.12-0_24‘ 0.13-0.25 ‘ 0.10-0.15 ‘ 0.12-0.18 ‘ 0.12-0.18 ‘0_12-0_13
= & - ™ o tl - - = |- | -

Low alllgly Steel 150-220 0.06-0.12 0.08-0.14 0.10-0.18 0.12-0.22 0.12-0.23 | 0.13-0.24 | 0.08-0.15 | 0.10-0.18 | 0.10-0.18 | 0.10-0.18

AR
High aloy seel | 130-180 | 0.06-0.10 | 0.08-0.15 | 0.10-0.20 | 0.12-0.23 0.12-0,24‘ 0.13-0.25 ‘ 0.08-0.15 ‘ n,1o-o.15‘ 0.10-0.15 ‘0.10-0,15

Stainless stesl 170-240 0.05-0.10 0.06-0.12 0.08-0.15 0.09-0.16 0.10-0.17 | 0.11-0.19 | 0.06-0.12 | 0.08-0.15 | 0.18-0.15 | 0.08-0.15

Cast Iron 180-250 @ 0.06-0.12 A 0.08-0.16  0.12-0.20 0.15-0.25 0.16-0.28-‘ 0.18-0.30 ‘ 0.12-0.20 ‘ 0.15-0,22‘ 0.15-0.22 ‘0.15-0,22

Nod X 130-200  0.06-0.10  0.08-0.15 0.10-0.18 0.12-0.20 0.15-0.23 | 0.16-0.25 | 0.10-0.15 | 0.10-0.20 | 0.10-0.20 | 0.10-0.20
ular cast iron

Aluminum alloy 330-380 | 0.06-0.14 # 0.08-0.15  0.10-0.20 | 0.12-0.22 0.14 0.23‘ 0.15-0.26 ‘ 0.15-0.22 ‘ 0.15-0.25 ‘ 0.15-0.25 ‘0.15 0.25

30-60 0.05-0.10  0.06-0.14 0.08-0.18 0.10-0.22 0.14-0.23 | 0.15-0.24 | 0.10-0.15 | 0.12-0.16 | 0.12-0.16 |0.12-0.16

THRAGEGFHAERBE R 5 HERENEwww. hnsant.com

Has
Titanium alloy



TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

TR TIW W EERL AT

\ "" 0

| |
- g MR T 5 M
# ﬁ% ERESFR DA £ RIS %

EAXR(mm) iRERE LB
P

@D L L35 BERTE SHEBERTE Pl W%

JT30-ER16-70H 30 28 70 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.50

JT30-ER16-100H 30 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.61

ER-A ER-UP ER-DM ER-GB JT30-ER25-60H 30 42 60 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 0.51
JT40-ER11-100H 40 19 100 Hi-Q/ER11 ER11-00A ER11-00UP | ER11-00DM | ER11-00GB E11P 1.04
0 ° ‘ ° ‘ ° ‘ ° JT40-ER16-70H 40 28 70 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.07

JT40-ER16-100H 40 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.18

ER11 ER25 ER11 ER25 ER11 ER25 ER11 ER25 064000 s
ER16 ER32 ER16 ER32 ER16 ER32 ER16 ER32 JT40-ER16-160H 40 28 160 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.36
ER40 ER40 ER40 ER40

| | JT40-ER20-70H 40 34 70 Hi-Q/ER20 ER20-00A ER20-00UP | ER20-00DM | ER20-00GB E20P 1.07

JT40-ER20-100H 40 34 100 Hi-Q/ER20 ER20-000A ER20-00UP | ER20-00DM | ER20-000GB E20P 1.17

JT40-ER25-70H 40 42 70 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.15

JT40-ER25-100H 40 42 100 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.40

JT40-ER25-160H 40 42 160 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.65

JT40-ER32-70H 40 50 70 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.17

JT40-ER32-100H 40 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.43

JT40-ER32-160H 40 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.81

/=\ JT40-ER40-80H 40 63 80 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 1.41
——
?%%jj_ii : — g — JT40-ER40-100H 40 63 100 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 1.70
§f§ JT40-ER40-160H 40 63 160 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 2.55
! L

ER-AFIER-UP+&Bkzht iR
‘ a . * 71ELHiH Spe
FHEE (mm) RABEENE(Mm)

d LR e ERA | ERWP BTG BTG B+

1.0~1.6 6.0
16~3.0 10.0 0.015 0.010 0.005 P
3.0~6.0 16.0 : : :

6.0~10.0 25.0
10.0~18.0 40.0

180260 500 0.020 0.010 0.005
26.0~34.0 | 60.0 0.025 0.015 0.010
g . ER-AFMER-UP-F M8 X BEEN/NFDING499/1SO15488 ¥ HIF K

BRI {E!

THRAKEFBRERB X #EEZEMNwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI

JEE 23 TJ4R Collet chek arbore

W EERILITIMIT)

EAXR~(mm) tRERE B4

oD L T S Al K+

JT50-ER16-100H 50 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 3.18

JT50-ER16-160H 50 28 160 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 3.47

JT50-ER20-70H 50 34 70 Hi-Q/ER20 ER20-00A ER20-00UP | ER20-00DM | ER20-00GB E20P 3.30

JT50-ER20-100H 50 34 100 Hi-Q/ER20 ER20-000A ER20-00UP | ER20-00DM | ER20-00GB E20P 3.45

JT50-ER32-100H 50 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 3.36

JT50-ER32-160H 50 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 4.25

JT50-ER40-100H 50 63 100 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 3.62

JT50-ER40-160H 50 63 160 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 4.20

* 71EHi+ Spa

WFE&
i

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI TEZ% | TOOLSYSTEM

Collet chck arbore 38 J2sLT]HA

WS XKL TIWBT)

EARS(mm) #oERE IETABH
oD L 35 ﬂﬁgﬂ égﬁé W+
BT30-ER16-80H 30 28 80 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 0.57
BT30-ER16-100H 30 28 100 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 0.67
BT30-ER20-70H 30 34 70 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 0.57
BT30-ER20-100H 30 34 100 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 0.75
BT30-ER25-60H 30 42 62.5 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 0.57
BT30-ER25-100H 30 42 100 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 0.79
BT40-ER11-100H 40 19 100 Hi-Q/ER11 ER11-00A | ER11-00UP | ER11-00DM | ER11-00GB E11P 1.16
BT40-ER16-70H w0 | -28 70 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.12
BT40-ER16-100H 40 28 100 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.24
BT40-ER16-160H 40 28 160 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.33
BT40-ER20-70H 40 34 70 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 1.13
BT40-ER20-100H 40 34 100 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 1.22
BT40-ER20-160H 40 34 160 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 1.74
BT40-ER25-70H 40 42 70 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-000DM | ER25-00GB E25 1.20
BT40-ER25-100H 40 42 100 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 1.49
BT40-ER25-160H 40 42 160 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 1.54
BT40-ER32-70H 40 50 70 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 1.25
BT40-ER32-100H 40 50 100 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 1.53
BT40-ER32-160H 40 50 160 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 1.74
BT40-ER40-80H 40 63 80 Hi-Q/ER40 ER40-00A | ER40-00UP | ER40-00DM | ER40-00GB E40 1.46
BT40-ER40-100H 40 63 100 Hi-Q/ER40 ER40-0O0A | ER40-00UP | ER40-00DM | ER40-00GB E40 1.79
BT40-ER40-160H 40 63 160 Hi-Q/ER40 ER40-00A | ER40-00UP | ER40-00DM | ER40-00GB E40 2.66

* J1E M Spa

HERTE SRR E M ZE & WLEFE

et

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com



TEZ#% TOOL SYSTEM §AHI §AUI TEZR#% | TOOLSYSTEM

W EE XL TIM(BT) W 35 E KL TIHR(HSK)

EARS (mm) #RERE TR 4 HAR(mm) EERE T P
BERE S =
D) L L = e+ 2 e oty
7 e e wHk  TE TR o0 L g8 mEmgkx oeoh O WHR e

BT50-ER16-100H 50 28 100 Hi-Q/ER16 ER16-000A ER16-00UP | ER16-00DM | ER16-00GB E16P 3.50
HSK-A40-ER16-80H 28 80 Hi-Q/ER16 ER16-000A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.35

BT50-ER16-160H 50 28 160 Hi-Q/ER16 ER16-000A ER16-00UP | ER16-00DM | ER16-00GB E16P 4.35
HSK-A40-ER25-80H 42 80 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 0.51

BT50-ER20-70H 50 34 70 Hi-Q/ER20 ER20-O00A ER20-00UP | ER20-00DM | ER20-00GB E20P 3.60
HSK-A50-ER16-100H 28 100 Hi-Q/ER16 ER16-000A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.69

BT50-ER20-100H 50 34 100 Hi-Q/ER20 ER20-O00A ER20-00UP | ER20-00DM | ER20-00GB E20P 3.75
HSK-A50-ER25-80H 42 80 Hi-Q/ER25 ER25-000A ER25-00UP | ER25-00DM | ER25-00GB E25 068

BT50-ER32-100H 50 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 4.20
HSK-A50-ER32-100H 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 0.93

BT50-ER32-160H 50 50 160 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 495
HSK-A63-ER11-100H 19 100 Hi-Q/ER11 ER11-00A ER11-00UP | ER11-00DM | ER11-00GB E11P 0.88

BT50-ER40-100H 50 63 100 Hi-Q/ER40 ER40-0O00A | ER40-00UP | ER40-00ODM | ER40-00GB E40 4.34
HSK-A63-ER16-80H 28 80 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.87

BT50-ER40-160H 50 63 100 Hi-Q/ER40 ER40-000A ER40-00UP | ER40-00DM | ER40-00GB E40 5.15
HSK-A63-ER16-100H 28 100 Hi-Q/ER16 ER16-000A ER16-00UP | ER16-000DM | ER16-00GB E16P 0.96
HSK-A63-ER20-75H 34 75 Hi-Q/ER20 ER20-0O00A ER20-00UP | ER20-000DM | ER20-00GB E20P 0.80
HSK-A63-ER25-80H 42 80 Hi-Q/ER25 ER25-0000A ER25-00UP | ER25-000DM | ER25-00GB E25 0.93
HSK-A63-ER25-160H 42 160 Hi-Q/ER25 ER25-000A ER25-00UP | ER25-00DM | ER25-00GB E25 1.37

71ELH¥ Spare
* a Bﬁ# P HSK-A63-ER32-80H 50 80 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.04
F HSK-A63-ER32-100H 50 100 Hi- - - - - .

ﬁ@ﬁ'ﬁ% S 63 32-100 i-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.19
Bﬁ{#% = HSK-A63-ER32-160H 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.53
HSK-A63-ER40-120H 63 120 Hi-Q/ER40 ER40-0O00A ER40-00UP | ER40-00DM | ER40-00GB E40 1.80
HSK-A63-ER40-160H 63 160 Hi-Q-ER40 ER40-000A ER40-000UP | ER40-000DM | ER40-000GB E40 2.26

* 71ELHi4 Spare

RERRE BRERFE WX ZE &

Hi 2

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZA% | TOOL SYSTEM

W EKH

H = 7 A

D1
e
@D

L1 L

ERE SERAB 4
L e
G16-ER16-60H 28 16 36.5 60 M8x1 Hi-Q/ER16 E16P 0.18
G20-ER16-50H 28 20 30.5 50 M12x1 Hi-Q/ER16 E16P 0.18
G20-ER16-100H 28 20 30.5 100 M12x1 Hi-Q/ER16 E16P 0.26
G20-ER25-50H 42 20 47.0 50 M12x1 Hi-Q/ER25 E25 0.33
G20-ER25-100H 42 20 47.0 100 M12x1 Hi-Q/ER25 E25 0.42
G25-ER25-50H 42 25 47.0 50 M18x1 Hi-Q/ER25 E25 0.37
G25-ER25-100H 42 25 47.0 100 M18x1 Hi-Q/ER25 E25 0.47
G25-ER32-50H 50 25 54.0 50 M18x1.5 Hi-Q/ER32 E32 0.51

* 718Hi* Spare

BERTE RREERFE Gk T W&

=

ye=t

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

#H = 7 A

W 52 ABEELTIWIT)

TEZA% | TOOL SYSTEM

Power milling chuck arbors 381183k TR

EHZ RS (mm)
D
JT40-ZC20-110L 110
40
JT40-ZC20-160L 160
20 58 ZC20L- WZC20-L
JT50-ZC20-110L 50 110
JT50-ZC20-160L 160
JT40-ZC25-110L 20 110
JT40-ZC25-160L 160
25 65 ZC25L- WZC25-L
JT50-ZC25-110L 0 110
5
JT50-ZC25-160L 160
JT40-ZC32-110L 40 110
JT50-ZC32-110L 110
50 32 73 ZC32L- WzC32-L
JT50-ZC32-160L 160
JT60-ZC32-130L 60 130
JT50-ZC40-120L 120
50
JT50-ZC40-160L 40 88 160 ZC40L- WZC40-L
JT60-ZC40-130L 60 130
JT50-ZC50-140L 50 140
50 105 ZC50L- WZC50-L
JT60-ZC50-140L 60 140

* 718 M+ Spare
g @

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AUI TEZR#% | TOOLSYSTEM

3B HEEFLTIHE Power milling chuck arbors
W 32 hBER L TIHE(BT) W WERTIHJIT)

E A R~F(mm)
D
BT40-ZC20-110L 110
40
BT40-ZC20-160L 160
20 58 ZC20L- WZzC20-L
BT50-ZC20-110L 5 110
BT50-ZC20-160L 160
BT40-ZC25-110L 40 110
BT40-ZC25-160L 160
- 25 65 ZC25L- WZC25-L (GB77-85)
BT50-ZC25-110L 110
BT50-ZC25-160L 50 160 JT30-XP12-50 30 12 42 50 M12x16 WH60L A 0.60
BT40-2C32-110L 40 . . 110 I JT30-XP16-75 30 16 48 75 M14x16 WHBOL A 0.80
BT50-ZC32-110L 110 JT30-XP20-75 30 20 52 75 M16x16 WH80L A 0.98
50 32 73 ZC32L- WzC32-L
BT50-ZC32-160L 160 JT40-XP12-50 40 12 42 50 M12x16 WHB0L A 1.10
BT60-ZC32-130L 60 130 JT40-XP16-63 40 16 48 63 M14x16 WH60L A 1.30
BTS0-zC40-120L 50 120 JT40-XP20-63 40 20 52 63 M16x16 WH80L A 1.30
BT50-ZC40-160L 40 88 160 ZC40L- WZC40-L
JT40-XP25-100 40 25 65 100 M18(x2)x20 WH100L B 2.30
BT60-ZC40-130L 60 130
JT40-XP32-100 40 32 72 100 M20(x2)x20 WH100L B 2.50
BT50-ZC50-140L 50 140 | T SR St Ao o N
50 105 ZC50L- WzC50-L - .
BT60-2C50-140L 60 140 JT50-XP12-63 50 12 42 63 M12x16 WH60L A 3.00
JT50-XP16-63 50 16 48 63 M14x16 WH60L A 3.00
JT50-XP20-63 50 20 52 63 M16x16 WHS80L A 3.10
JT50-XP25-100 50 25 65 100 M18(x2)x20 WH100L B 4.20
* 71 B4 Spa
JT50-XP32-100 50 32 72 100 M20(x2)x20 WH100L B 4.50
JT50-XP40-100 50 40 80 100 M20(x2)x20 WH100L B 4.70
JT60-XP25-100 60 25 65 100 M18x(2)x16 WH100L B 12.76
Bt >
JT60-XP32-100 60 32 72 100 M20x(2)x20 WH100L B 12.96
JT60-XP40-115 60 40 80 115 M20x(2)x20 WH100L B 13.88
JT60-XP50-125 60 50 90 125 M24x(2)x20 WH120L B 14.61
JT60-XP63-150 60 63 120 150 M24x(2)x20 WH120L B 19.65

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AUI TEZR#% | TOOLSYSTEM

MIE X 7I#8 Side lock end mill chuck Side lock end mill chuck B T74%

W UE 7I#(BT)

B U E R JI#(HSK)

AW
AR AR ﬁ l : §T S
L
BA! BEY ﬂ JH_ §T 8
AR (mm)
42T
a0 ém_w EA R~ (mm) HARE
RF

BT30-XP12-50 30 12 42 50 M12x16 WH60L A 0.67 HSK-AdO-XP12-T0 12 4 70 WHAOL A 0.61
BT30-XP16-75 30 16 48 75 M14x16 WH60L A 0.92 HSK-A4OXP1675 e e - — N "~
BT30-XP20-75 30 20 52 75 M16x16 WH80L A 1.07 HSK-A50-XP12-80 12 4 80 WHSOL A 0.90
BT40-XP12-63 40 12 42 63 M12x16 WH60L A 1.30 - - ™ - — A 0_97
BT40-XP16-63 40 16 48 63 M14x16 WH60L A 140 | | H SKA50XP2080 """" x| 5 o | WHSOL A 168
BT40-XP20-63 40 20 52 63 M16x16 WH8OL A 1.40 - 12 4 80 WHB3L A 115
BT40-XP25-90 40 25 65 90 M18(x2)x20 WH100L B 2.20 HSK-AB3-XP16-80 16 48 80 WHG3L A 1929
BT40-XP32-100 40 32 72 100 M20(x2)x20 WH100L B 2.70 HSK-AG3-XP20-80 0 - - — A e
BT50-XP12-80 50 12 42 80 M12x16 WH60L A 4.00 HSK-AB3-XP25-110 25 65 10 WHB3L B 229
BTso'XTS'SO s | 16 48 _____,__80 M14x16 wHeoL A _________ 4.00 HSK-A63-XP32-110 32 72 110 WH63L B 2.58
BT50-XP20-80 50 20 52 80 M16x16 WH8OL A 4.10

BT50-XI;’;5-100 s | 25 65 ---"'-1-00 M18(x2)x20 " WH100L B ---------- 4.70

BT50-XP25-165 50 25 65 165 M18(x2)x20 WH100L B 4.95

BT50-XP32-105 50 32 72 105 M20(x2)x20 WH100L B 5.10

BT50-XP32-165 50 32 72 165 M20(x2)x20 WH100L B 6.08

BT50-XP40-125 50 40 80 125 M20(x2)x20 WH100L B 6.45

BT60-XP25-110 60 25 65 110 M18x(2)x16 WH100L B 16.32

BT60-XP32-125 60 32 72 125 M20x(2)x20 WH100L B 15.52

BT60-XP40-125 60 40 80 125 M20x(2)x20 WH100L B 17.44

BT60-XP50-150 60 50 90 150 M24x(2)x20 WH120L B 18.17

BT60-XP63-180 60 63 120 180 M24x(2)x20 WH120L B 23.21

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI

HEXBETIWMIT)

AZY

D1

AR

BE

I
odm

ERE
EA R (mm) 125TG2 125TG3
(GB70-85) (GB70-85)

JT30-XM22-45 30 22 45 45 - 10 LDZ22 - - WH80L CJ10 M4X12 A 1.20

JT30-XM27-60 30 27 60 60 - 12 LDZz27 Dz27 - WH80L CJ12 M4X12 A 1.25

JT40-XM22-75 40 22 45 75 - 10 LDZ22 - - WH80L CJ10 M4X12 A 1.49

JT40-XM27-75 40 27 60 75 - 12 LDZ27 Dz27 - WH100L CJ12 M4X12 A 1.86

JT40-XM32-75 40 32 70 75 - 14 LDZ32 DZz32 - WH100L CJ14 M5X15 A 2.22
WH100L

JT40-XM40-60 40 40 100 60 66.7 16 LDZ40 DZ40 MA12x40 |- CJ16 M5X16 B 2.40
WH170L

- JT50-XM22-75 50 | | 22 ------ 50 75 - 10 LDZ22 - - WH80L CJ10 M4X12 A 3.30

JT50-XM27-75 50 27 60 75 - 12 LDZz27 Dz27 - WH100L CJ12 M4X12 A 3.66

JT50-XM32-75 50 32 70 75 - 14 LDZ32 DZ32 - WH100L CJ14 M5X15 A 3.84
WH100L

JT50-XM40-75 50 40 100 75 66.7 16 LDZ40 DZ40 M12x40 CJ16 M5X16 B 5.90
WH170L

JT50-XM60-75 50 60 137 75 1016 | 254 - - M16x45 | WH140L | CJ25.4 M12X25 B 6.10

JT60-XM32-75 60 32 70 75 - 14 LDZ32 DZ32 - WH140L CJ14 M5x15 A 13.19

JT60-XM40-90 60 40 70 90 - 16 LDZ40 DZ40 - WH170L CJ16 M5x20 A 14.70

JT60-XM50-120 60 50 90 120 - 18 LDZ50 - - WH190L CJ18 M6x25 A 14.80
WH170L

JT60-XM40-75 60 40 90 75 66.7 16 LDZ40 Dz40 M12x45 CJ16 M5x15 B 21.80
WH100L

JT60-XM60-75 60 60 140 75 101.6 | 254 - - M16x45 | WH140L | CJ25.4 M12x25 B 21.50

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com

§AHI TEZ% | TOOLSYSTEM

H EXBTIMWMBT)

AZY S
N @,
tls| =HElGe
BE! z

IREBRE
12£TG2 12$7G3
(GB70-85) (GB70-85)
BT30-XM27-45 30 | 27 | 60 45 = 12 | LDZ27 DZ27 = WH100L | CJ12 | M4X12 | A | 1.40
BT40-XM22-75 40 | 22 | 50 75 - 10 | LDZ22 - - WH80L | CJ10 | M4X12 | A | 1.49
BT40-XM27-75 40 27 60 75 - 12 LDz27 Dz27 - WH100L CJ12 M4X12 A 1.86
BT40-XM32-75 40 32 70 75 - 14 LDZ32 Dz32 - WH100L CJ14 M5X15 A 2.22
WH100L
BT40-XM40-50 40 | 40 | 100 | 50 | 66.7 | 16 | LDZz40 DZ40 | M12x40 CJ16 | M5X16 | B | 2.00
WH170L
BT50-XM22-75 50 | 22 | 50 75 - 10 | LDZ22 - - WH80L | CJ10 | M4X12 | A | 3.30
BT50-XM27-75 50 | 27 | 60 75 = 12 | LDZ27 DZ27 = WH100L | CJ12 | M4X12 | A | 3.66
BT50-XM32-75 50 | 32 | 70 75 - 14 | LDZ32 DZ32 - WH100L | CJ14 | M5X15 | A | 3.84
WH100L
BT50-XM40-75 50 | 40 | 100 | 75 | 66.7 | 16 | LDz40 DZ40 | M12x40 CJ16 | M5X16 | B | 5.36
WH170L
BT50-XM60-75 50 | 60 | 137 | 75 |101.6| 25.4 - - M16x45 | WH140L | CJ25.4 | M12X25 | B | 8.60
BT60-XM32-75 60 | 32 | 70 75 - 14 | LDZ32 DZ32 = WH140L | CJ14 M5x15 | A | 16.75
BT60-XM40-90 60 | 40 | 70 90 - 16 | LDz40 DZ40 - WH170L | CJ16 M5x20 | A | 18.27
BT60-XM50-120 60 | 50 | 90 | 120 = 18 | LDZ50 = = WH190L | CJ18 M6x25 | A | 18.36
WH170L
BT60-XM40-75 60 40 90 75 66.7 16 LDz40 Dz40 M12x45 CJ16 M5x16 B 25.36
WH100L
BT60-XM60-75 60 60 140 75 101.6 | 25.4 - - M16x45 | WH140L | CJ25.4 | M12x25 B 25.06

THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §ANI §AHI TEZR#% | TOOLSYSTEM

ERETI# Shell end mill arbors Shell end mill arbors EXEt IR

B kB EXEDHRIT) B nikcBEXETIH(BT)

[0)

G3

Q

G3

~

\‘

D1

gdm EIL
D1

gdm

HRAERLE =
AR~ (mm) BT 1247G3 PRRLE
o1 RF g B R (mm) E 1257G3
(GB70-85)
JT40-XM22-120 40 22 45 120 10 LDZ22 WHS80L CJ10 M4X12 2.30
BT40-XM22-120 40 22 50 120 10 LDZz22 WH80L CJ10 M4X12 2.43
JT40-XM22-150 40 22 45 150 10 LDZ22 | WH8OL cJ10 M4x12 | 250
BT40-XM22-150 40 22 50 150 10 LDZ22 WH80L CJ10 M4X12 2.65
JT40-XM22-200 40 22 45 200 10 LDZ22 | WH8OL cJ10 M4X12 | 435
BT40-XM22-200 40 22 50 200 10 LDZ22 WH80L CJ10 M4X12 4.50
JT50-XM22-120 50 22 45 120 10 LDZ22 | WH8OL cJ10 M4x12 | 635
BT50-XM22-120 50 22 50 120 10 LDZ22 | WH8OL cJ10 M4X12 6.55
JT50-XM22-150 50 22 45 150 10 LDz22 WH80L CJ10 M4X12 6.80
BT50-XM22-150 50 22 50 150 10 LDZ22 | WH8OL cJ10 M4X12 6.90
JT50-XM22-200 50 22 45 200 10 LDz22 WH80L CJ10 M4X12 7.45
BT50-XM22-200 50 22 50 200 10 LDZ22 | WH8OL cJ10 M4X12 7.55
JT50-XM22-250 50 22 45 250 10 LDZ22 WHS80L CJ10 M4X12 7.80
BT50-XM22-250 50 22 50 250 10 LDZz22 WHB80L CJ10 M4X12 8.15
BT50-XM32-200 50 32 70 200 14 LDZ32 WH100L CJ14 M5X15 7.85

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AUI TEZR#% | TOOLSYSTEM

EX5ET)# Shell end mill arbors Morse taper with tang 75 E 2 K454

B 5 (S K B HRRERERUT)

AZY L
Am | & a
£
T
Q
J
gm M r|| el 5 BE. | L
N4 Jd I EIRS)
) BE - L= —E—-__g
£
e]
Q

ENEHE TR M 44
gdm RE IR R EAR R~ (mm)
$hLER
HSK-A40-XM22-50 22 40 50 FDS22 0.61
HSK-A50-XM22-50 22 40 50 FDS22 0.73 JT40-M1-50 40 MT1 3-14 25 12.065 50 A 0.90
HSK-A50-XM27-65 7 48 65 FDS27 103 JT40-M1-120 40 MT1 3-14 25 12.065 120 B 1.20
JT40-M2-50 40 MT2 14-23 32 17.78 50 A 0.90
HSK-A50-XM32-65 32 58 65 FDS32 1.22
JT40-M2-120 40 MT2 14-23 32 17.78 120 B 1.60
HSK-A63-XM22-60 22 40 60 FDS22 1.08 JT40-M3-70 40 MT3 23-32 40 23.825 70 A 1.10
HSK-A63-XM27-60 27 48 60 FDS27 1.28 JT40-M3-135 40 MT3 23-32 40 23.825 135 B 2.20
HSK-AB3-XM32-60 32 55 60 FDS32 150 JT40-M4-95 40 MT4 32-50 63 31.267 95 A 1.90
JT40-M4-165 40 MT4 32-50 63 31.267 165 B 2.80
HSK-A63-XM40-70 40 70 70 FDS40 2.15
JT50-M1-45 50 MT1 3-14 25 12.065 45 A 2.70
JT50-M1-120 50 MT1 3-14 25 12.065 120 B 4.50
JT50-M1-180 50 MT1 3-14 25 12.065 180 B 4.72
JT50-M2-60 50 MT2 14-23 32 17.78 60 A 2.70
JT50-M2-135 50 MT2 14-23 32 17.78 135 B 3.70
* 71EHH4 Spare JT50-M2-180 50 MT2 14-23 32 17.78 180 B 3.96
JT50-M3-65 50 MT3 23-32 40 23.825 65 A 2.80
JT50-M3-150 50 MT3 23-32 40 23.825 150 B 4.30
o . JT50-M3-180 50 MT3 23-32 40 23.825 180 B 4.56
o / JT50-M4-95 50 MT4 32-50 48 31.267 95 A 3.10
JT50-M4-180 50 MT4 32-50 48 31.267 180 B 5.40
JT50-M5-105 50 MT5 50-75 63 44.399 105 A 3.20
JT60-M3-190 60 MT3 23-32 190 10.10
40 23.825
JT60-M3-250 60 MT3 23-32 250 10.30
JT60-M4-210 60 MT4 32-50 210 10.60
50 31.267 B
JT60-M4-270 60 MT4 32-50 270 10.80
JT60-M5-240 60 MT5 50-75 240 12.40
----------------------------------------------------------------------------------------- 63 44399 |
JT60-M5-300 60 MT5 50-75 300 13.00
JT60-M6-170 60 MT6 77-100 170 A 12.50
) 63.348
JT60-M6-310 60 MT6 77-100 310 B 15.40

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AUI TEZR#% | TOOLSYSTEM

HEREZK#EMBT) HEREZRKEMIT)

L
" WW%
AR Ii e [ __8
[
e}
Q
L
BE! %
- Y2 g
\ B
€
e}
Q!
IREEE
— AR~ (mm)
POIVEZES RF
4R
POIVE S EAR R~ (mm) BIEE
=K S 4R (mm)
BT HEERE
(mm) (GB70-85) (GB77-85)
BT40-M1-50 40 MT1 3-14 25 12.065 50 A 1.10 JT40-MW1-50 40 MT1 6-12 25 12.065 50 M6x25 WH50L - 0.90
E0dial20 40 MT! 14 2 12.065 120 B 120 JT40-MW2-50 40 MT2 14-20 32 17.780 50 M10x25 WH70L s 1.00
BT40-M2-50 40 MT2 14-23 32 17.78 50 A 1.10
e 0 ys aos s 1778 120 5 160 JT40-MW3-70 40 MT3 22-36 40 23.825 70 M12x40 WH80L M6X8 1.10
BT40-M3-70 40 MT3 23-32 40 23.825 70 A 1.20 JT40-MW4-95 40 MT4 32-56 63 31.267 95 M16x45 WH120L M5x6 2.00
BT40-M3-135 40 MT3 23-32 40 23.825 135 B 2.20 JT50-MW1-45 50 MT1 6-12 25 12.065 45 M6x30 WH50L - 2.70
BT40-M4-95 o0 1 MT4 : 32-50 R - 31267 | % A 210 JT50-MW2-60 50 MT2 14-20 32 17.780 60 M10x45 WHSO0L - 2.80
BT40-M4-165 40 MT4 32-50 63 31.267 165 B 2.80
- - MT 22- 4 23.82 - .
BT50.M1.45 5 y 214 o 12,065 a5 A 360 JT50-MW3-65 50 3 36 0 3.825 65 M12x40 WH100L 2.90
BT50-M1-120 50 MT1 3-14 25 12.065 120 B 4.50 JT50-MW4-70 50 MT4 32-56 63 31.267 70 M16x40 WH120L 3.40
BT50-M1-180 50 MT1 3-14 25 12.065 180 B 4.72 JT50-MW5-100 50 MT5 40-63 78 44.399 100 M20x50 WH140L M6X10 4.20
BT50-M2-60 S0 MT2 14-23 32 1778 6o A 3.60 JT60-MW3-100 60 MT3 22-36 40 23.825 100 | M12x100 WH100L . 9.70
BT50-M2-135 50 MT2 14-23 32 17.78 135 B 3.70
. 5 ys 1423 s 1778 180 5 596 JT60-MW4-100 60 MT4 32-56 63 31.267 100 M16x85 WH140L 9.87
BT50-M3-65 50 MT3 23-32 40 23.825 65 A 3.60 JT60-MW5-100 60 MT5 40-63 78 44.399 100 M20x55 WH170L M5x12 9.92
BT50-M3-150 50 MT3 23-32 40 23.825 150 B 4.30 JT60-MW6-150 60 MT6 77-100 90 63.348 150 M24x60 WH170L M5x12 12.10
BT50-M3-180 50 MT3 23-32 40 23.825 180 B 456
BT50-M4-95 50 MT4 32-50 48 31.267 95 A 3.80
BT50-M4-180 50 MT4 32-50 48 31.267 180 B 5.40
BT50-M5-105 50 MT5 50-75 63 44.399 105 A 3.80
BT60-M3-190 60 MT3 23-32 190 13.66
40 23.825
BT60-M3-250 60 MT3 23-32 250 13.86
BT60-M4-210 60 MT4 32-50 210 14.16
50 KR L7 R S —— B
BT60-M4-270 60 MT4 32-50 270 14.36
BT60-M5-240 60 MT5 50-75 240 15.96
63 44.399
BT60-M5-300 60 MT5 50-75 300 16.56
BT60-M6-170 60 MT6 77-100 170 A 16.06
90 63.348
BT60-M6-310 60 MT6 77-100 310 B 18.96

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREGEFBERAERE] X #FEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AuI §AHI TEZR#% | TOOLSYSTEM

TREREKH#RE Morse taper without tang Tool shank for side milling cutter =E 7§k T]#%

B ftimEXK#EWBT) B =E7)8E7I#MJT)

L
12572
% _g 8 £
A
%/\ . ol [ E
S
92471
L1
L
POPVE-S
( HARSH(mm)
(GB70-85) (GB77-85) Ly

BT40-MW1-50 40 MT1 6-12 25 12.065 50 M6x25 WH50L - 0.90

JT40-XS27-75 40 40 27 75 130 7 M24X2 7x7x18 |3J1-310-27 2.01
BT40-MW2-50 40 MT2 14-20 32 17.780 50 M10x25 WH70L - 1.00

JT40-XS27-120 40 40 27 120 175 7 M24X2 7x7x18 |3J1-310-27 2.65
BT40-MW3-70 40 MT3 22-36 40 23.825 70 M12x40 WH80L M6X8 2.00

JT40-XS32-90 40 46 32 90 150 8 M30X2 8x7x20 |3J1-310-32 2.52
BT40-MW4-95 40 MT4 32-56 63 31.267 95 M16x45 WH120L M5x6 2.70

JT50-XS27-90 50 40 27 90 145 7 M24X2 7x7x18 |3J1-310-27 3.93
BT50-MW1-45 50 MT1 6-12 25 12.065 45 M6x30 WH50L - 2.80

JT50-XS27-135 50 40 27 135 190 7 M24X2 7x7x18 |3J1-310-27 4.46
BT50-MW2-60 50 MT2 14-20 32 17.780 60 M10x45 WHS80L - 2.90

JT50-XS32-90 50 46 32 90 150 8 M30X2 8x7x20 |3J1-310-32 &5
BT50-MW3-65 50 MT3 22-36 40 23.825 65 M12x40 WH100L - 3.40

JT50-XS32-135 50 46 32 135 195 8 M30X2 8x7x20 |3J1-310-32 5.57
BT50-MW4-70 50 MT4 32-56 63 31.267 70 M16x40 WH120L 4.20

JT50-XS40-90 50 55 40 90 156 10 M36X3 10x8x20 |3J1-310-40 5.34
BT50-MW5-100 50 MT5 40-63 78 44.399 100 M20x50 WH140L M6X10 9.70

JT50-XS40-135 50 55 40 135 201 10 M36X3 10x8x20 |3J1-310-40 5.66
BT60-MW3-100 60 MT3 22-36 40 23.825 100 M12x100 WH100L - 13.26

JT50-XS50-90 50 68 50 90 175 12 M42X3 12x8x32 |3J1-310-50 6.10
BT60-MW4-100 60 MT4 32-56 63 31.267 100 M16x85 WH140L 13.43

JT50-XS50-135 50 68 50 135 220 12 M42X3 12x8x32 |3J1-310-50 6.55
BT60-MW5-100 60 MT5 40-63 78 44.399 100 M20x55 WH170L M5x12 13.48

JT60-XS40-135 60 55) 40 135 201 10 M36X3 10x8%x20 |3J1-310-40 14.69
BT60-MW6-150 60 MT6 77-100 90 63.348 150 M24x60 WH170L M5x12 15.66

JT60-XS50-135 60 68 50 135 220 12 M42X3 12x8x32 |3J1-310-50 14.80

JT60-XS60-135 60 84 60 135 240 14 M56X3 14x9x40 |3J1-310-60 15.42

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AUI TEZR#% | TOOLSYSTEM

ZmYIEETI#® Tool shank for side milling cutte
B ERFH(FER

B =@ 7% 71#(BT)

ER11-0O00A ER16-0O00A ER20-O00A ER25-000A
F 35 Bl (mm) s FHHEE (mm) S F4HE Bl (mm) EilR= 3555 Bl (mm) ns
M 1.00-0.50 ER11-1A 1.00-0.50 ER16-1A 2.00-1.00 ER20-2A 2.00-1.00 ER25-2A
£
A
m = o 23 2.00-1.50 ER11-2A 2.00-1.00 ER16-2A 3.00-2.00 ER20-3A 3.00-2.00 ER25-3A
S
m z 3.00-2.50 ER11-3A 3.00-2.00 ER16-3A 4.00-3.00 ER20-4A 4.00-3.00 ER25-4A
. 4.00-3.50 ER11-4A 4.00-3.00 ER16-4A 5.00-4.00 ER20-5A 5.00-4.00 ER25-5A
1
L 5.00-4.50 ER11-5A 5.00-4.00 ER16-5A 6.00-5.00 ER20-6A 6.00-5.00 ER25-6A
6.00-5.50 ER11-6A 6.00-5.00 ER16-6A 7.00-6.00 ER20-7A 7.00-6.00 ER25-7A
EA R (mm) R E 7.00-6.50 ER11-7A 7.00-6.00 ER16-7A 8.00-7.00 ER20-8A 8.00-7.00 ER25-8A
Ly ] 8.00-7.00 ER16-8A 9.00-8.00 ER20-9A 9.00-8.00 ER25-9A
9.00-8.00 ER16-9A 10.00-9.00 ER20-10A 10.00-9.00 ER25-10A
BT40-XS27-75 40 40 27 75 130 7 M24X2 | 7x7x18 |3J1-310-27|  2.01
10.00-9.00 ER16-10A 11.00-10.00 ER20-11A 11.00-10.00 ER25-11A
5 . 4 4 27 12 17 7 M24X2 | 7x7x1 1-310-27| 2.
AL ) 0 0 0 s X7x18 |3J1-310 65 12.00-11.00 ER20-12A 12.00-11.00 ER25-12A
BT40-XS32-90 40 46 32 90 150 8 M30X2 | 8x7x20 |3J1-310-32| 2.52 e — T —
BT50-XS27-90 50 40 27 90 145 7 M24X2 7x7x18 3J1-310-27 3.93 14.00-13.00 ER25-14A
BT50-XS27-135 50 40 27 135 190 7 M24X2 | 7x7x18 |3J1-310-27| 4.46 15.00-14.00 ER25-15A
BT50-XS32-90 50 46 32 90 150 8 M30X2 | 8x7x20 |3J1-310-32| 5.51 16.00-15.00 ER25-16A
BT50-XS32-135 50 46 32 135 195 8 M30X2 | 8x7x20 |3J1-310-32| 557 ER32-00A
BT50-XS40-90 50 55 40 90 156 10 M36X3 | 10x8x20 |3J1-310-40| 5.34 KFFEE (mm) FFESEE (mm) k= R FEE (mm) FHTEE (mm)
BT50.XS40-135 5 . 20 135 201 10 M36X3 | 108x20 |3s1.31040| 566 3.00-2.00 ER32-3A 8.00-7.00 ER32-8A 13.00-12.00 ER32-13A 18.00-17.00 ER32-18A
4.00-3.00 ER32-4A 9.00-8.00 ER32-9A 14.00-13.00 ER32-14A 19.00-18.00 ER32-19A
BT50-XS50-90 50 68 50 90 175 12 M42X3 | 12x8x32 |3J1-310-50|  6.10
5.00-4.00 ER32-5A 10.00-9.00 ER32-10A 15.00-14.00 ER32-15A 20.00-19.00 ER32-20A
BT50-XS50-135 50 68 50 135 220 12 M42X3 | 12x8x32 |3J1-310-50  6.55
6.00-5.00 ER32-6A 11.00-10.00 ER32-11A 16.00-15.00 ER32-16A
BT60-XS40-135 60 55 40 135 201 10 M36X3 | 10x8x20 |3J1-310-40| 18.25
......... 7.00-6.00 ER32-7A 12.00-11.00 ER32-12A 17.00-16.00 ER32-17A
BT60-XS50-135 60 68 50 135 220 12 M42X3 | 12x8x32 |3J1-310-50| 18.36
ER40-0O00A
BT60-XS60-135 60 84 60 135 240 14 M56X3 | 14x9x40 |3J1-310-60| 18.98 Fef55H (mm) Fef575 8 (mm) me Fet575 8 (mm) 4535 (mm)
4.00-3.00 ER40-4A 10.00-9.00 ER40-10A 16.00-15.00 ER40-16A 22.00-21.00 ER40-22A
5.00-4.00 ER40-5A 11.00-10.00 ER40-11A 17.00-16.00 ER40-17A 23.00-22.00 ER40-23A
6.00-5.00 ER40-6A 12.00-11.00 ER40-12A 18.00-17.00 ER40-18A 24.00-23.00 ER40-24A
7.00-6.00 ER40-7A 13.00-12.00 ER40-13A 19.00-18.00 ER40-19A 25.00-24.00 ER40-25A
8.00-7.00 ER40-8A 14.00-13.00 ER40-14A 20.00-19.00 ER40-20A 26.00-25.00 ER40-26A
9.00-8.00 ER40-9A 15.00-14.00 ER40-15A 21.00-20.00 ER40-21A

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




B = 71 A B o= 71 A

TEZA% | TOOL SYSTEM

Spring collet &%

TEZA% | TOOL SYSTEM

&3 Spring collet

B ERFH(EFER B #l % K =R(ER-DM)

ERTRALTIR

ER11-00UP ER16-00UP ER20-00UP ER25-000UP
F 5B Bl (mm) s F 5B Bl (mm) iR F 5B El(mm) S F3FE Bl (mm) s
1.00-0.50 ER11-1UP 1.00-0.50 ER16-1UP 2.00-1.00 ER20-2UP 2.00-1.00 ER25-2UP
2.00-1.50 ER11-2UP 2.00-1.00 ER16-2UP 3.00-2.00 ER20-3UP 3.00-2.00 ER25-3UP ER16-00CIDM ER20-0ICIDM ER25-CI1C1DM ER32-CCIDM
3.00-2.50 ER11-3UP 3.00-2.00 ER16-3UP 4.00-3.00 ER20-4UP 4.00-3.00 ER25-4UP FeEEE (mm) A2 F3EIEE (mm) BE Je453E Bl (mm) B FHSEE (mm) BS
4.00-3.50 ER11-4UP 4.00-3.00 ER16-4UP 5.00-4.00 ER20-5UP 5.00-4.00 ER25-5UP 3.00 h9 ER16-3DM 3.00 h9 ER20-3DM 6.00 h9 ER25-6DM 6.00 h9 ER32-6DM
5.00-4.50 ER11-5UP 5.00-4.00 ER16-5UP 6.00-5.00 ER20-6UP 6.00-5.00 ER25-6UP 4.00 h9 ER16-4DM 4.00 h9 ER20-4DM 8.00-7.50 ER25-8DM 8.00-7.50 ER32-8DM
6.00-5.50 ER11-6UP 6.00-5.00 ER16-6UP 7.00-6.00 ER20-7UP 7.00-6.00 ER25-7UP 5.00-4.50 ER16-5DM 5.00 h9 ER20-5DM 10.00-9.50 ER25-10DM 10.00-9.50 ER32-10DM
7.00-6.50 ER11-7UP 7.00-6.00 ER16-7UP 8.00-7.00 ER20-8UP 8.00-7.00 ER25-8UP 6.00-5.50 ER16-6DM 6.00 h9 ER20-6DM 12.00-11.50 ER25-12DM 12.00-11.50 ER32-12DM
8.00-7.00 ER16-8UP 9.00-8.00 ER20-9UP 9.00-8.00 ER25-9UP 7.00-6.50 ER16-7DM 7.00-6.50 ER20-7DM 14.00-13.50 ER25-14DM 14.00-13.50 ER32-14DM
9.00-8.00 ER16-9UP 10.00-9.00 ER20-10UP 10.00-9.00 ER25-10UP 8.00-7.50 ER16-8DM 8.00-7.50 ER20-8DM 16.00-15.50 ER25-16DM 16.00-15.50 ER32-16DM
10.00-9.00 ER16-10UP 11.00-10.00 ER20-11UP 11.00-10.00 ER25-11UP 9.00-8.50 ER16-9DM 9.00-8.50 ER20-9DM 18.00-17.50 ER32-18DM
12.00-11.00 ER20-12UP 12.00-11.00 ER25-12UP 10.00-9.50 ER16-10DM 10.00-9.50 ER20-10DM 20.00-19.50 ER32-20DM
13.00-12.00 ER20-13UP 13.00-12.00 ER25-13UP 11.00-10.50 ER20-11DM
14.00-13.00 ER25-14UP 12.00-11.50 ER20-12DM
15.00-14.00 ER25-15UP 13.00-12.50 ER20-13DM
16.00-15.00 ER25-16UP
ER32-00UP
FHFEE (mm) BE FeHF3E Bl (mm) BE KFEE (mm) BS FFHEE (mm)
3.00-2.00 ER32-3UP 8.00-7.00 ER32-8UP 13.00-12.00 ER32-13UP 18.00-17.00 ER32-18UP
4.00-3.00 ER32-4UP 9.00-8.00 ER32-9UP 14.00-13.00 ER32-14UP 19.00-18.00 ER32-19UP
5.00-4.00 ER32-5UP 10.00-9.00 ER32-10UP 15.00-14.00 ER32-15UP 20.00-19.00 ER32-20UP
6.00-5.00 ER32-6UP 11.00-10.00 ER32-11UP 16.00-15.00 ER32-16UP
7.00-6.00 ER32-7UP 12.00-11.00 ER32-12UP 17.00-16.00 ER32-17UP
ER40-O00UP
FHFEE (mm) FHFEE (mm) BE Fe#E3E Bl (mm) FeH53E Bl (mm)
4.00-3.00 ER40-4UP 10.00-9.00 ER40-10UP 16.00-15.00 ER40-16UP 22.00-21.00 ER40-22UP
5.00-4.00 ER40-5UP 11.00-10.00 ER40-11UP 17.00-16.00 ER40-17UP 23.00-22.00 ER40-23UP
6.00-5.00 ER40-6UP 12.00-11.00 ER40-12UP 18.00-17.00 ER40-18UP 24.00-23.00 ER40-24UP
7.00-6.00 ER40-7UP 13.00-12.00 ER40-13UP 19.00-18.00 ER40-19UP 25.00-24.00 ER40-25UP
8.00-7.00 ER40-8UP 14.00-13.00 ER40-14UP 20.00-19.00 ER40-20UP 26.00-25.00 ER40-26UP
9.00-8.00 ER40-9UP 15.00-14.00 ER40-15UP 21.00-20.00 ER40-21UP

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §AuI

B N4 4k 3F(ER-GB)

ER16-00GB ER20-0000GB ER25-0000GB
L amme SRR Lo oswem -
s i mA R~ ERfRE pith= mE R~ ERfRE i 1& AR
(mm) (mm)
ER16-4GB 4.0 3.0 1SO,JIS ER20-4GB 4.0 3.15/3.2 ISO, JIS | ER25-4GB 4.0 3.0 1SO,JIS
ER16-5GB 5.0 4.0 1SO,JIS ER20-5GB 5.0 4.0 ISO, JIS | ER25-5GB 5.0 4.0 1SOJIS
ER16-6GB 6.0 4.9 DIN ER20-6GB 6.0 4.5/4.9 JIS/DIN ER25-6GB 6.0 4.9 DIN
ER16-7GB 7.0 5.5 DIN,JIS ER20-7GB 7.0 515} DIN, JIS | ER25-7GB 7.0 5.5 DIN,JIS
ER16-8GB 8.0 6.2/6.3 DIN,ISO | ER20-8GB 8.0 6.2/6.3 DIN, JIS | ER25-8GB 8.0 6.2/6.3 DIN,ISO
ER16-9GB 9.0 7.0/71 DIN,ISO | ER20-9GB 9.0 7.0/71 DIN, ISO | ER25-9GB 9.0 7.071 DIN,ISO
ER20-10GB 10 8.0 DIN, ISO | ER25-10GB 10.0 8.0 DIN,ISO
ER20-11GB 1" 9.0 DIN ER25-11GB 11.0 9.0 DIN
ER20-12GB 12 9.0 DIN ER25-12GB 12.0 9.0 DIN
ER25-14GB 14.0 11.0/12.0 |DIN,ISO,JIS
ER25-15GB 15.0 12.0 JIS
ER25-16GB 16.0 12.0 DIN
ER32-00GB ER40-00GB
é(iff)/é %;Fifﬁ(%mﬂm) BREE = é(ﬁ?){ - m%&ﬁi}ﬁ(ﬁm) ERmE
ER32-4GB 4.0 3.0 1SO,JIS ER40-6GB 6.0 4.9 DIN
ER32-5GB 5.0 4.0 1SO,JIS ER40-7GB 7.0 55 DIN,JIS
ER32-6GB 6.0 4.9 DIN ER40-8GB 8.0 6.2/6.3 DIN,ISO
ER32-7GB 7.0 55 DIN,JIS ER40-9GB 9.0 7.0/71 DIN,ISO
ER32-8GB 8.0 6.2/6.3 DIN,ISO ER40-10GB 10.0 8.0 DIN,ISO
ER32-9GB 9.0 7.0/71 DIN,ISO ER40-11GB 11.0 9.0 DIN
ER32-10GB 10.0 8.0 DIN,ISO ER40-12GB 12.0 9.0 DIN
ER32-11GB 11.0 9.0 DIN ER40-14GB 14.0 11.0/12.0 DIN,ISO,JIS
ER32-12GB 12.0 9.0 DIN ER40-15GB 15.0 12.0 JIS
ER32-14GB 14.0 11.0/11.2 DIN,ISO,JIS ER40-16GB 16.0 12.0 DIN
ER32-15GB 15.0 12.0 JIS ER40-17GB 17.0 13.0 JIS
ER32-16GB 16.0 12.0 DIN ER40-18GB 18.0 14.0/14.5 DIN,ISO
ER32-17GB 17.0 13.0 JIS ER40-20GB 20.0 16.0 DIN,ISO
ER32-18GB 18.0 14.0/14.5 DIN,ISO
ER32-20GB 20.0 16.0 DIN,ISO

iE: ER-GBRIIZLFZEUDINGRAEAE, JTERHEMIMABRMNLERIMAT R,

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§nuI TEZ% | TOOLSYSTEM

Spring collet &%

BENBXRIAERRE

EH 7R~ (mm) EH AR (mm)
D D
ZC20L-4 4 ZC32L-16 16
ZC20L-5 5 ZC32L-18 18
32 36 65
ZC20L-6 6 ZC32L-20 20
ZC20L-8 8 ZC32L-25 25
ZC20L-10 20 10 23 53 ZC40L-6 6
ZC20L-12 12 ZC40L-8 8
ZC20L-14 14 ZC40L-10 10
ZC20L-16 16 ZC40L-12 12
ZC20L-18 18 ZC40L-14 14
40 44 74
ZC25L-4 4 ZC40L-16 16
ZC25L-5 5 ZC40L-18 18
ZC25L-6 6 ZC40L-20 20
ZC25L-8 8 ZC40L-25 25
ZC25L-10 10 ZC40L-32 32
25 28 60
ZC25L-12 12 ZC50L-6 6
ZC25L-14 14 ZC50L-8 8
ZC25L-16 16 ZC50L-10 10
ZC25L-18 18 ZC50L-12 12
ZC25L-20 20 ZC50L-14 14
ZC32L-5 5 ZC50L-16 50 16 55 85
ZC32L-6 6 ZC50L-18 18
ZC32L-8 8 ZC50L-20 20
32 36 65
ZC32L-10 10 ZC50L-25 25
ZC32L-12 12 ZC50L-32 32
ZC32L-14 ZC50L-40 40

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §ANI §AHI TEZR#% | TOOLSYSTEM

B EERLTIBAIRF B #i%T DIN69872

SMYE ae S ) L

)fox L2 Ls

E11P 32 95

r E16P 44 145

i E20P 52 170

: P
<H

od
od1
od2
ods
ds
od4

[

T

E25, WER25-S 65 210

r E32, WER32-S 75 250
E40, WER40-S ) 290 JT40-A 54 26 20 7 23 19 14 M16 17 7 0.07

< JT50-A 74 34 25 10 36 28 21 M24 25 11.5 0.2
L

B HSKEX NI ARF -

Ls|
> )
X 7 RE R EEE I g3
FDS22 22 /v \
FDS27 27 S
FDS32 32
FDS40 40
BT40-45° 60 35 28 6 23 15 10 M16 17 45° 0.06
BT40-60° 60 35 28 6 23 15 10 M16 17 60° 0.06
. ;E jJ %i * gl 7] m m *ﬁ ¥ BT40-90° 60 35 28 6 23 15 10 M16 17 90° 0.06
'~
BT50-45° 85 45 35 10 38 23 17 M24 25 45° 0.26
BT50-60° 85 45 35 10 38 23 17 M24 25 60° 0.26
S E 42 L
M il BT50-90° 85 45 35 10 38 23 17 M24 25 90° 0.26
WzC20-L 55-62
WZC25.L BEHHIETRHERSTL.
68.72 ERENRN, TTHINEEMA. ROl BT40-45°W 114,
WZzC32-L Ht B AT RIBERES.
WzC40-L 78-85
WZC50-L 100-100

iE: ERRFREERMITE,

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZA% | TOOL SYSTEM

B ARISE Technical information

B HEfRiE

AN DIN69871-A

JT30
47.8 19.1
Lt 19__19
i mé
3 2
N
35min
JT40
68.4 35.4min
1191
o 1]
< q
© :rr\r 228 25
SRS !
~ ?;; r i ét\!%m RN
S - RN fan) S
[l ing o,
ISIESIESILS] Ky 0
<1724/ 32"
8.
JT50
101.75 35min_
N 124 355_ 377
@ A7
< 2 {
g 8 m VRN
777 LTS PP [ \
Ri== iy O
o Q2 «
%]{ Ké{ﬁ
=17:24, 3l 20

H = 7 A

H#mzX MAS403BT

BT30
48.4 13.6
o
s
g & | O
SR E §e
=724 220
60°
BT40
65.4
9 16.6
o I\
SRRy
~. 7
a |
S ===
<17:24,
2l
25
BT50
101.8
o 1232
@ 3
< g\
=
=
0] I T w8 ©
S 1 7 e
Q
<17:24
35

N

@56.144

35.4

Y,

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

#H = 7 A

B MR

HSKxE iz AEI(DIN698I3A)

<1:10

(]

(7
ol
de — 7|»
I

2d13
Le
= /
l
(R 5| =
IBREA R s I
I '|- I kel
IhS | Jr ®
L2 )
f3
f1
L1 f2

od12

TEZA% | TOOL SYSTEM

Technical information FAR{EE

HSK32

HSK40

HSK50

HSK63

HSK100

10.54

12.54

20.02

12

16

20

18

22

50

63

100

24

30

38

48

75

17

21

26

34

53

29

37

58

26

34

42

53

88

59.3

72.3

109.75

4 20
4 20
7 26
7 26
7 29

35

35

42

42

45

16

16

18

18

20

16

20

25

32

50

6.3

10

8.92

11.42

14.13

18.13

28.56

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZA% | TOOL SYSTEM

B WE IR

t

13

od4
ds

da(6H)

da(min)

e3(01

)

H = 7 A

e4 es3

e4(+0.5)

#H = 7 A

B ARERRKEHEMRE

TEZA% | TOOL SYSTEM

Technical information FAR{EE

O
o

T

@D

X RzEh sk
6 25 M6 8 18.0 3.5 8.5 15 wh
HEEE
8 28 M8 10 17 45 10 25 (mm)
10 35 M10 12 20 5.0 15 4.0 MT1 1/20.047 | 0.04988 1°25'43" 12.065 56 52 5.4 19 1 3.00-14.00
12 42 M12 14 20 6.0 20 5.0 MT2 1/20.047 | 0.04988 1°25'50” 17.780 67 62 6.6 22 1 14.00-23.00
14 44 M12 14 25 . 21 6.0 MT3 1/20.047 | 0.04988 1°26'16” 23.825 84 78 8.2 27 1 23.00-32.00
16 48 M14 16 MT4 1/20.047 | 0.04988 1°29'15” 31.267 107 98 12.2 32 15 32.00-50.00
18 50 M14 16 MT5 1/20.047 | 0.04988 1°30'26” 44.399 135 125 16.2 38 15 50.00-75.00
20 52 M16 18
25 65 M18x2 20
32 72 M20x2 22
S 7] ELAI B HREEREER
H NE7]ERT e =
I1 b
e1 e1
( \ z 3 ( 5 z S R c
)_ \ (S L B S v [~
1 ! S Q s
M s g
b1 b1 12 - r
by \/450 458 ] e 8%4/
& B Fd1=06-020 &M Fd1=020-063 l2
d1(hs) 11("3) b1("0%) (') e1(d) h1(h11)
6 36 42 - 18.0 5.1 . MRSk E
HES D D1 di d2 11 I2 b © e R Z35E (mm)
8 36 5.5 = 18.0 6.9
MT1 12.065 | 12.240 | 8.972 8.7 62.0 65.5 5.2 8.5 135 5 1.2 3.00-14.00
10 40 7.0 - 20.0 8.5
MT2 17.780 | 18.030 | 14.034 13.5 75.0 80.0 6.3 10.0 16.0 6 16 14.25-23.00
12 45 8.0 = 22.5 10.4
MT3 | 23825 | 24.076 | 19.107 18.5 94.0 99.0 7.9 13.0 20.0 7 2 23.25-31.75
14 45 8.0 - 225 12.7
MT4 31.267 | 31.605 | 25.164 245 175 124.0 1.9 16.0 24.0 8 25 32.00-50.50
16 48 10.0 = 24.0 14.2
MT5 | 44.399 | 44741 | 36.531 35.7 149.5 156.0 15.9 19.0 29.0 10 3 51.00-76.00
18 48 10.0 - 24.0 16.2
20 50 11.0 = 25.0 18.2
&»
= 25 56 12.0 17 32.0 23.0
—
| 32 60 14.0 19 35.0 30.0

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




B = 71 A B o= 71 A

TEZA% | TOOL SYSTEM

B ARISE Technical information

TEZ% | TOOL SYSTEM

Technical information FAR{EE

W TR

B 7R R X KEHH

L L
L1 L3 L
)Y‘ B A/5 L2 L3
k
8 g . AR BEE 1 g% BE g3§ i EEE
4 -5 g|8] 60°
t
I r
l2
= xRS T EESE R
HES D D1 d d h 2 t r d2 K (mm) : 44 24 19 5 17 12 8 M12 13 - 0.05
MT1 12.065 12.240 9.396 9 53.5 57 5 0.2 M6 16 6.00-12.00 54 26 20 7 23 19 14 M16 17 7.0 0.07
MT2 17.780 18.030 14.583 14 64 69 5 0.2 M10 24 14.00-20.00 74 34 25 10 36 28 21 M24 25 1.5 0.22
MT3 23.825 24.076 19.759 19 81 86 7 0.6 M12 28 22.00-36.00 27 11.8 8.1 5 17 13.3 9.3 M12 13 0.05
MT4 31.267 31.605 25.943 25 102.5 109 9 1.0 M16 32 32.00-56.00 445 16.40 1.15 7 225 18.95 12.95 M16 17 0.07
MT5 44.399 44.741 37.584 257 129.5 136 9 25 M20 40 40.00-71.00 655 2555 17.95 10 36.0 29.10 19.60 M24 25 15 0.22
fil T DIN69872
L
L
j’i\ L2 L3
EEE { EEE

THREKERFBEREHE] X ¥I151E % Miwww.hnsant.com

44

54

74

24

26

34

23

36

13

9

28

14

21

M12

M16

M24

13

17

25

THREAKEFERERBE] X #HEZEMMEkwww.hnsant.com




TEZ% | TOOL SYSTEM ;BNI

HAR{SE Technical information

29 11.80 8.15 2.75 16.5 13.55 9.30 M12 4.15 0.02
39 16.40 11.15 3.25 225 18.95 12.95 M16 7.35 0.07
60 25,55 17.95 5.25 37.0 29.10 19.60 M24 11.55 0.20

43 23 18 5 16.5 1 7 M12 125 45° 0.03
| 43 23 18 5 ‘ 16.5 1 ‘ 7 M12 12,5 60° ‘ 0.03
I 35 28 6 23 15 10 Mis | 17 45° 0.06
| 60 35 28 6 ‘ 23 15 ‘ 10 M16 17 60° ‘ 0.06
85 45 35 10 38 23 17 M24 25 45° 0.20
| 85 45 35 10 ‘ 38 23 ‘ 17 M24 25 60° ‘ 0.20

65 o
T 3652 6.
‘__3__ 293
] ]l '_'
] [ ]
N )= o
8 =k

-

* HE:2018-20195FRERFAEF R SHERY, EFESEENR, FHiLiHN!

THAEEGHRIEEE H F1%%EMMEwww hnsant.com

glFh. FHihi

(555

=1

k.

SANT HiliZix Ik RERAR

ZHUZHOU SANT CUTTING TOOLS CO. LTD



	00-封面-1
	01-简介
	02-目录
	03-目录+P1
	04-车刀1（02-37页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

	05-车刀2（38-95页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29

	06-P96
	07-铣削(97-162页)
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33

	08-铣削2（163-214页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26

	09-P215
	10-铣削3
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19




